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IDENTIFICATION
PRODUCT CODE: AC-81908-M(
PRODUCT NAME : CVKABBO LSI-11 EIS INST TEST
DATE CREATED: JULY, 1981
MAINTAINER: DIAGNOSTIC GROUP

COPYRIGHT (C) 1975,1981
DIGITAL EQUIPMENT CORPORATION, MAYNARD, MASS.

THIS SOFTWARE IS FURNISHED UNDER A LICENSE FOR USE ONLY

ON A SINGLE COMPUTER SYSTEM AND MAY BE COPIED ONLY WITH
THE INCLUSION OF THE ABOVE COPYRIGHT NOTICE. THIS
SOFTWARE, OR ANY OTHER COPIES THEREOF, MAY NOT BE PROVIDED
OR OTHERWISE MADE AVAILABLE TO ANY OTHER PERSON EXCEPT

FOR USE ON SUCH SYSTEM AND TO ONE WHO AGREES TO THESE
LICENSE TERMS. TITLE TO AND OWNERSHIP OF THE SOF TWARE
SHALL AT ALL TIMES REMAIN IN DEC.

THE INFORMATION IN THIS DOCUMENT IS SUBJECT TO CHANGE
WITHOUT NOTICE AND SHOULD NOT BE CONSTRUED AS A (OMM]T-
MENT BY DIGITAL EQUIPMENT CORPORTATION.

DEC ASSUMES NO RESPONSIBILITY FOR THE USE OR RELIABILITY
OECITS SOFTWARE ON EQUIPMENT WHICH IS NOT SUPPLIED BY
DEC.
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ABSTRA(CT

THIS PROGRAM TESTS THE LSI-11 EXTENDED INSTRUCTION SET
<ASH, ASHC, MUL, AND DIV> OPTION USING RCGISTERS 0-5 AT-
LEAST ONCE WITH EACH INSTRUCTION. IT IS ALSO CHECKED THAT
EXTENDED INSTRUCTIONS CAN BE INTERRUPTED (BY THE CONSOLE
TELETYPE) [HOWEVER THIS TEST WILL NOT BE EXECUTCD WHEN BIT
S OF $SENVM BYTE 1S HIGH 1. THE PROGRAM SHOULD BE RUN FOR
AT LEAST 2 PASSES WITH ALL SWITCHES LOW. THE PROGRAM IS
DESIGNED TO RUN UNDER APT. AND ACT. SYSTEMS. WHEN RUNNING
UNDER APT WITH BIT 5 OF SENVM LOW IT WILL BE REQUIRED TO
HAVE A SLU WITH TTY REGISTERS HAVING ADDRESSES OF 1706560-66
QT?Té:TERUPT VECTORS OF 70 FOR RECEIVER AND 74 FOR TRANS-

REQUIREMENTS

EQUIPMENT

LSI-11 STANDARD COMPUTER WITH EIS OPTION
AND 4K OF MEMORY

STORAGE
PROGRAM STORAGE - THE ROUTINES USE MEMORY 0 - 17500

PRELIMINARY PROGRAMS
NONE

LOADING PROCEDURE
USE STANDARD PROCEDURE FOR ABS TAPES.

STARTING PROCEDURE

CONTROL SWITCH SETTINGS
SEE 5.1 (ALL LOW FOR WORST CASE TESTING)
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6.2

4.3

6.3.2

5.

1

STARTING ADDRESS
AFTER LOADING THE PROGRAM IT SHOULD ALWAYS BE STARTED AT 200.
IF IT 1S DESIRED TO SAVE THE PASS (OUNTER THEN THE PROGRAM

SHOULD BE RESTARTED AT LOCATION RESTRT (I.E. 222] OTHERWISE THE
PROGRAM CAN BE RESTARTED AT 200

PROGRAM AND/OR OPERATOR ACTION

STAND ALONE
1) PLACE LTC SWITCH IN OFF POSITION (IF APPLICABLE).

2) LOAD PROGRAM INTO MEMORY USING ABS LOADER OR XXDP+ (.R VKAB??).

3) SET SWITCHES (SEE SEC 5.1) ALL LOW FOR WORST CASE.

&) TYPE 200G IF USING ABS LOADER.

§) THE PROGRAM WILL LOOP AND ‘‘END PASS'' WILL BE TYPED AFTER
COMPLETION OF FIRST PASS AND EVERY 4TH PASS. HOWEVER TYPE
OUT WILL BE SUPPRESSED IF BIT 5 OF LOCATION SENVM IS HIGH

6) A MINIMUM OF TWO PASSES SHOULD ALWAYS BE RUN.

UNDER APT

LOAD THE PROGRAM AND START AFTER SETTING THE DESIRED SWITCHES
(SEE SEC. 5.1). HOWEVER IF THE DIAGNOSTIC 1S RUN UNDER APT.
WITH BIT 5 OF SENVM LOW THEN IT WILL BE REQUIRED THAT A SLU
WITH TTY REGISTERS HAVING ADDRESSES OF 176560-66, AND INTERUPT
VECTORS OF 70 FOR RECEIVER AND 74 FOR TRANSMITTER BE PRESENT,
IT WILL ALSO BE REQUIRED TO CHANGE THE PASS TIME FROM 5 SEC.
TO 15 SECONDS AND THE TEST TIME FROM 3 TO 10 SECONDS

OPERATING PROCEDURE

SWITCH SETTINGS

A 16 BIT LOCATION CALLED $SWREG (I.E. LOCATION 422) HAS BEEN
USED TO GIVE THE FOLLOWING OPTIONS BY INSERTING A 1 IN THEIR
RESPECTIVE POSITIONS

BIT # OCTAL VALUE FUNCTION
15 100000............ HALT ON ERROR
13 020000............ INHIBIT PRINTOUT

AN 8 BIT BYTE SENVM [I1.E. LOCATION 421] HAS BEEN USED TO DEF INE
THE OPERATING MODE. ALL TYPEOUTS CAN BE SUPPRESSED BY MAKING
BéEA?Igz 2565 $ENVM HIGH, IN OTHER WORDS BY PLCING A 20000 IN

L

SEQ 0004
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5.2.2

6.2

SUBROUTINE ABSTRA(CTS

HALT ROUTINE

THIS ROUTINE CALLED VIA JSR INSTRUCTION IS USED EACH TIME
AN ERROR [S SEEN AND AN ERROR MESSAGE OF THE FORMAT GIVEN
IN SEC. 6.1 IS TYPED OUT UNLESS SUPRESSED BY THE SWITCHES
DEFINED IN SEC. 5.1

TRAP CATCHER

A ''.+2'" = "HALT'' SEQUENCE IS REPEATED FROM 0-776 TO CATCH
ANY UNEXPECTED TRAPS. THUS ANY UNEXPECTED TRAPS OR
INTERRUPTS WILL HALT AT THE VECTOR +2.

ERRORS

ERROR PRINTOUT

THE FORMAT IS AS FOLLOWS:
ADR ERRNM

WHERE :

ADR ADDRESS OF ERROR

ERRNM ERROR NUMBER

IN MOST CASES THE COMMENT BESIDE THE CALL FOR HALT SUBROUTINE
TELLS WHAT WAS BEING CHECKED AND WHAT WAS EXPECTED. ALL
PRINTOUTS WILL BE SUPPRESSED WHEN BIT 5 OF LOCATION

SENVM IS HIGH. WHILE RUNNING UNDER APT THE DIAGNOSTIC

WILL NOT SUPPORT SPOOLING OF CONSOLE OUTPUTS.

o

ERROR RECOVERY
RESTART AT 200 OR 222 (SEE SEC 4.2)

RESTRICTIONS
NONE

MISCELLANEOUS

EQ 0005
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8.2

8.3

8.4

8.5

.ENDR

EXECUTION TIME

DUE TO THE RANDOM CHARACTERISTIC OF THE INTERRUPT TESTS, THE
EXECUTION TIME CAN BE 5 SECONDS OR MORE PER PASS. HOWEVER,
NORMALLY FIRST "END PASS'' WILL BE TYPED WITHIN 5 SECONDS AND
WITHIN 50 SECONDS FOR EVERY CONSECUTIVE 10 PASSES

STACK POINTER
STACK IS INITIALLY SET TO 600

PASS COUNT

A 16 BIT LOCATION *'$PASS'' (I.E. LOCATION 406) IS USED TO KEEP
PASS COUNT. IT CAN BE CLEARED BY RESTARTING THE PROGRAM AT 200

TEST NUMBER

A 16 BIT LOCATION ‘‘$TESTN'' (I.E. LOCATION 404) IS USED TO KEEP TRALK
OF THE TEST NUMBER, UPPER BYTE OF THIS LOCATION GIVES THE ITERATION
NUMBER AND THE LOWER BYTE THE TEST THAT WAS BEING EXECUTED

POWER FAIL

THE DIAGNOSTIC CAN BE POWER FAILED WITH NO ERRORS. TO USE,
START THE TEST AS USUAL AND POWER DOWN THEN UP AT ANY TIME,
THE PROGRAM SHOULD RESTART FROM TEST O AFTER TYPING "POWER"’
WITH NO ERRORS. HOWEVER IF THE PROGRAM IS STORED IN A MOS
MEMORY THAT CAN NOT HOLD DATA WITH POWER DOWN THEN THE PROGRAM
WILL NOT RECOVER FROM A POWER FAIL

PROGRAM DESCRIPTION

THIS PROGRAM TESTS ALL THE EIS INSTRUCTIONS OF THE LSI-1
FOR ASH AND ASHC INSTRUCTIONS EVER?Y EVEN PASS IS EXECUTED
WITH DESTINATION MODE O FOR ALL REGISTERS AND EVERY 0DD PASS
WITH DESTINATION MODE OF 67. THE DIAGNOSTIC DOES NOT MAKE A
PASS WITH T BIT SET.

SEe C00¢
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.ABS
321 CNLIST MD M(C,CND
322 LLIST ME
325 .TITLE DVKABA
1) ;«COPYRIGHT (C) AUGUST 1975
(1) :*DIGITAL EQUIPMENT CORP.
(}) :*MAYNARD, MASS. 01754
(1) o
(1; :=PROGRAM BY PERVE? ZAKI
( b
(1) :«TH]S PROGRAM WAS ASSEMBLED USING THE PDP=~11 MAINDEC SYSMA(C
(}; : *PACKAGE (MAINDEC-11-DZQAC~CS), JAN, 1981,
( . *
(N 000001 STIN=1
g}é 160000 $SWR=160000 ::HALT ON ERROR, LOOP ON TEST, INHIBIT ERROR TYPOUI
327
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329
230 R R A Y]
33
%%% 000000 .=0 ;TRAP CATCHER 0 = 776
334 PR R e R Y
341
??g LSBTTL  ALT11 HOOKS
2) R e e A i L AR I T e
(1) ;HOOKS REQUIRED BY A(T1
1) 001000 $SVP(=, ;SAVE PC
(N 000046 .=46 :
(1) 000046 017032 $ENDAD ;21)SET LOC.46 TO ADDRESS OF SENCAD IN .$ECP
(N 000052 .=52
(1) 000052 000000 .WORD 0 :;2)SET LOC.52 TO ZERO
éZ% 001000 .=$SVP(C ;s RESTORE PC
344 000000 DUMMY- 0
345 000001 ERRNM= 1
346 000051 = 51
347 000176 N= 176
348 000007 PC- 17
349 000006 SP= X6
350 010701 SCOPE= 10701
351 010701 SCOPE1= 10701
352 010703 SCOPE3= 10703
353 001000 sw09= 1000
354 002000 SW10= 2000
355 004000 SWil= 4000
356 010000 SWi2z= 10000
357 000004 TYPE= 10T
358
359
60 -20

3 000020 .
361 000020 017300 $TYPE
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ACT11 HOOKS

.=400
.SBTTL APT MA]LBOX-ETABLE

;:ttt.t.tttttt!!.l.'.t..t.tt.!.....!!Qt.ﬂtt.!tt‘tttt----otnn.----
.EVEN

$MAIL: ;;APT MA]LBOX

$MSGTY: .WORD  AMSGTY ;;MESSAGE TYPE CODE
SFATAL: .WORD  AFATAL ;;FATAL ERROR NUMBER
$TESTN: .WORD  ATESTN ;TEST NUMBER

$PASS: .WORD  APASS  ;;PASS COUNT

$DEVCT: .WORD  ADEVCT ;;DEVICE COUNT

SUNIT: .WORD  AUNIT ;.1/0 UNIT NUMBER
$MSGAD: .WORD  AMSGAD ;. MESSAGE ADDRESS
$MSGLG: .WORD  AMSGLG ;. MESSAGE LENGTH
$ETASLE: ;. APT ENVIRONMENT TABLE
$ENV: .BYTE  AENV ; ENVIRONMENT BYTE
$ENVM: .BYTE  AENVM  ;.ENVIRONMENT MODE BITS
$SWREG: .WORD  ASWREG ;;APT SWITCH REGISTER
SUSWR: .WORD  AUSWR ;sUSER SWITCHES

$CPUOP: .WORD  ACPUOP ;;(PU TYPE,OPTIONS

M BITS 15-11=CPU TYPE

i 11/04=01,11/05=02,11/20=03,11/40=04,11/45=05
i 11/70=06,PDQ=07,0=10

M BIT 10=REAL TIME CLOCK

i* BIT 9=FLOATING POINT PROCESSOR

P BIT 8=MEMORY MANAGEMENT

SETEND:

MEXIT

.SBTTL APT PARAMETER BLOCK

2 5233232322322 2332223233R3%223238233032232883333 2380 RRRRRRRRR Rl RR)

;SET LOCATIONS 24 AND 44 AS REQUIRED FOR APT
L L LR D R Lt L LR T T TR
8X=, s 2SAVE CURRENT LOCATION
.=24 ;2SET POWER FAIL TO POINT TO START OF PROGRAM
200 ;:FOR APT START UP
.=hé ;2POINT TO APT INDJRECT ADDRESS PNTR.
SAPTHDR ::POINT TO APT HEADER BLOCK
=.8X  ;;RESET LOCATION COUNTER
P L L T T L T L L T T T T T R T PR PP
;SETUP APT PARAMETER BLOCK AS DEFINED IN THE APT-PDP11 DIAGNOSTIC
JINTERFACE SPEC.

$APTHD:

$HIBTS: .WORD O :TWO HIGH BITS OF 18 BIT MAILBOX ADDR.

$MBADR: .WORD  SMAIL ..ADDRESS OF APT MAILBOX (BITS 0-15)

$TSTM: .WORD 3 ;:RUN TIM OF LCNGEST TEST

$PASTM: _WORD 5

SUNITM: _WORD
.WORD  SETEND-SMAIL/Z ;;LENGTH MAILBOX-ETASLE (WORDS)

.=$APTHD
.~COUNT+2

COUNT:
PSWORD :

;;RUN TIME IN SECS. OF 1ST PASS ON 1 UNIT (QUICK VERIFY)
;:ADDITIONAL RUN TIME (SECS) OF A PASS FOR EACH ADD]ITIONAL UNIT

¢ 0009
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000436
000440
000442
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000456
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000462
000464
000466
000470
000472
000474
000476
000500
000502
000504
000506
000510
000516
000524

000434
000436
000440
000442

000444
000000
000000

000

000
000007
177771
000454
177772
177777
040000
000464
040000
177776
000002
000474
000002
000064
177566
177564
005015
006412
000122
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APT PARAMETER BLOCK

TEMP1:
TEMP?2:
TEMP3:
TEMP4:
TEMPS :

TEMP6:
TYPCNT:

$TPS:

020040 000040 S$CRLF:
047520 042527 POWER:

.=PSWORD+2
LTEMP1+?2
.=TEMPZ2+2
.=TEMP3+?2
.=TEMP4L+2
-WORD

.WORD
.BYTE

: .BYTE

9

4
77566
177564

S
2
6
1

JASCIZ  <15><12>/
JASCIZ <12><15>/POWER/

/

=@ 0010
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000200

000222

000600
000604
000610
200614
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130620

000650
000654
000662
000666
000674

000700
000702
000706
000714
000716

000722
000724
000726
000732
000732
000736
000744
000746
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017064 000024
000410

000400
000352

000404
000430
000001
000600

000001 000420

000510
176564
176566
000074
000001 000434
000436
000001 000440
000442

000434

000001 000406

000436

177504

000442 000432

016142
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: 3 STARTING OF

2s:

RESTRT:
.=600
BEGIN:

2$:

START:

MOV
Mov
CLR
(MP
BNE
JMP

Mov
CLR
MOV
MoV
MTPS
.WORD
BITB
BEQ
MoV
MOV
MOV
MoV
MOV
CLR
Mov
CLR

SCOPE1
Mov
BIT
BNE
MoV

ASH
BR
ASH
MFPS
.WORD
CMPB
BEGQ
JSR

THE PROGRAM

#SPWRDN ,a#24 ;PREPARE TC SERVICE POWER DOWN ROUTINE

0%28¥CT,R0 JPREPARE TO INITIALIZE THE STACK
#SMAIL RO

2%

BEGIN

H#STESTN,RS ;MAKE RS POINT TO THE LOCATION STESTN
a# COUNT ;CLEAR THE COUNTER

#1,(RS) JINITIALIZE TEST NUMBER
HBEGIN,SP ;*% STACK AT BEGIN »=

#0 ;PLACE #0 IN PSW

106400!..C

#1,aN8ENV JARE WE UNDER APT ?

2% ;IF NOT THEN GO TO 2%

#$TPS+2 RO ;JOTHERWISE SET FOR OTHER SLU

#176564 ,-(R0O)
#176566,-(R0)

#74,-(RO)

#1,a4TEMPT ;TEMP1=
INTEMP? s TEMP2=0
#1,94TEMP3 :TEMP3=1
AN TEMP4 ;TEMP4 O

:ittitttttttttttttttttttttt%tttt

ASH INSTRUCTION TESTS

4
:ttttttttttttttttttit‘ttttttttit

AR R AR RAR AR

PUTESTS 1-36

:titttttttttt

SHTEMPT, %0 ;LOAD RO WITH THE CONTENTS OF TEMP1

#1,aNBPASS :IS IT AN EVEN PASS ?

2% ;1F NOT THEN GO TO 2%

QATEMP2 ,R1 ;OTHERWISE EXECUTE THE INSTRUCTION
;IN MODE 0 USING R1

7

TEMPZ, 20 ;SHIFT RO BY THE NUMBER SPECIFIED BY TEMP?

a#PSWORD ;SAVE PS

1067(0!..C

BI{SMPk,BIPSUORD:IS THE PS ~ TEMPS4 ?

. 4

PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINF

;THE PS IS NOT EQUAL TO O

SEQ 00N
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001403
004767

000002
021537

072102
000402
072167

106737
123737
001403
004767

000003
005237
023701
001403

004767

000004
021537
001372
005215
010703
021527

002011
005237
006367
021527
001004
000167

000430
000440

016122

000430

000037

000436
107614
000020

000764
001006

000434
000001
000436
177342

000442
016000

000430
000440

015760

000430

000037

000436
177252
000020

060622

000406

000432
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ASH INCTRUCTION TESTS

6%:

8%:
REG1:

2%:

6%:

1
iNC
(MP
8EQ

JSR

2
Mp

BNE
INC
SCOPE1
(MP

BGE
INC
ASL
CMP
BNE
JMP
JSR
SCOPE3
MOV
BIT
BNE
MoV
ASH
BR
ASH
MFPS
.WORD
CMP8B
BEQ
JSR

3

INC
CMP
BEQ

JSR

cMP
BNE
INC
SCOPE3
cMpP

BGE
INC
ASL
(Mp
BNE
JMP

a#COUNT
S#TEMP3, 20
.+10

PC.SHLT

(RS) ,a#COUNT

6$
(R5)
(R5) ,#37

8$
INTEMP2
TEMP3
(R5) ,#20
REG1
NEGAT
PC,TST37

INTEMP X1
#1,348PASS

2%
QNTEMP2 ,R2
R2.R1

4%
TEMP2, %1
a#PSWORD
106700!..C

;INCREMENT THE COUNTER

;1S THE RESULT IN RO EQUAL TO TEMP3?

;SEEN AN ERROR, GC TO TH HALT ROUTINE
SEITHER INCORRECT RO OR INCORRECT SEQUENCE

;IS THE TEST NUMBER EQUAL TO THE
s COUNTER?
;IF NOT GO TO THE HLT ABOVE

JHAS THE CONTENTS OF REGISTERS BEEN SHIFTED LEFT
;BY 14. AND RIGHT BY 14.?

JSHIFT TEMP3 LEFT.
JHAS THE CONTENTS OF REGISTERS BEEN SHIFTED LEFT BY 14.7

;IF SO GO TO NEGAT AMND INITJATE RIGHT SHIFT
;IF SO GO AND CONTINUE THE REST OF THE PROGRAM

;LOAD R1 WITH THE CONTENTS Of TEMPI1

;IS IT AN EVEN PASS ?

;IF NOT THEN GO TO 28

;OTHERWISE EXECUTE ASH INSTRUCTION IN MODE 0
JUSING R1

;SHIFT R1 BY THE NUMBER SPECIFIED BY TEMP2
;SAVE PS

B#ISMP4,SIPSUORD:IS THE PS = TEMP4 ?
+

PC.SHLT

a#COUNT
S#TEMP3 %1
.+10

PC,SHLT

(R5) ,a#COUNT
6%

(R5)
(R5) ,#37

8%

SN TEMP2
TEMP3
(R5) ,#20
REG?
NEGAT

:SEEN AN ERROR, GC TO TH HALT ROUTINE
;THE PS IS NOT EQUAL TO 0

; INCREMENT THE COUNTER

;IS THE RESULT IN R1 EGUAL TO TEMP3?

EN AN ERROR, GO TO TH HALT ROUTINE

THER INCORRECT R1 OR INCORRECT SEQUENCE

E
I
S THE TEST NUMBER EQUAL TO THE COUNTER?
F NOT GO TO THE H.T ABOVE

)
;E
;1
;1

;HAS THE CONTENTS OF REGISTERS BEEN SHIFTED LEFT
;BY 14, AND RIGHT BY 14.?

JSHIFT TEMP3 LEFT
;HAS THE CONTENTS OF REGISTERS BEEN SHIFTED LEFT BY 14.?

;IF SO GO TO NEGAT AND INITIATE RIGHT SHIFT



DVKABA
( vKABB

0D ~ ~ ~~ (00000000 ~ ~ 00
PO N VAR N
NO s v N QD YOS N s e O

860

MACY 1 30(1046)

P

001200
001204

001252

001256
001260
001264
001270
001272
001272

001276
001300
001304
001306
001310
001312

001316
001320
001324
001330
001334
001336
001342
001346
001350
001354
001362
001364
001370
001372
001374
001400
001400
001404
001412
001414

001420
001422
001426
00732
001634
0014634
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004767

106737
123737
001403
004767

000007
005237
023703
001403

004767

000644

000434
000001

000436

177200

000442
015636

000430
000440

015616

000430

000037

000436
177110
000020

000460
000502

000434
000001
000436
177036

000442
015474

000430
000440

015454

000406

000432

000406

000432
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ASH INSTRUCTION TESTS

8s:
REG2:

2$:
48:

6%:

8%:
REG3:

2%:
4%:

6%:

JSR
SCOPE1
MOV
BIT
BNE
MOV
ASH
BR
ASH
MFPS
. WORD
CMPB
BEQ
JSR

5

INC
cmMP
BEQ

JSR

6

CMP
BNE
INC
SCOPE1
CMP

BGE
INC
ASL
CMp
BNE
JMP
JSR
SCOPE1
Mov
BIT
BNE
MOV
ASH
BR
ASH
£PS
.WORD
CMPB
BEQ
JSR

INC
CMP
BEQ

JSR

PC,TST37

SATEMP1 X2
ll.iﬁSPASS

2

ANTEMP2 ,R3
R3.R2

43

TEMP?2 , X2
a#PSWORD
106700!..C

SEQ 0013
;IF SO GO AND CONTINUE THE REST OF THE PROGRAM

;LOAD R2 WITH THE CONTENTS OF TEMP1

;IS IT AN EVEN PASS ?

;1F NOT THEN GO TO 2%

;OTHERWISE EXECUTE ASH INSTRUCTION IN MODE O
;USING R2

:SHIFT R2 BY THE NUMBER SPECIFIED BY TEMP?
;SAVE PS

S#TEMP4 ,a#PSWORD; IS THE PS = TEMPé4 ?

.+10
PC,SHLT

34 COUNT
SHTEMP3, X2
.+10

PC,SHLT

(RS) ,a#COUNT
6%

(R5)
(R5) ,437

8$

AN TEMP2
TEMP3
(RS) , 420
REG3
NEGAT
PC,TST37

INTEMP1 %3
#1,3H8PASS
2%

ANTEMP2 R4
R4 ,R3

43

TEMP2 X3
d#PSWORD
106700!..C

;SFEN AN ERROR, GO TO TH HALT ROUTINE
;THE PS I~ NOT EQUAL TO O

;IS THE RESULT IN R2 EQUAL TO TEMP3?

EN AN ERROR, GO TO TH HALT ROUTINE
THER INCORRECT R2 OR INCORRECT SEQUENCE

;SE
43!
;1S THE TEST NUMBER EQUAL TO THE COUNTER?
:1F NOT GO TO THE HLT ABOVE

:HAS THE CONTENTS OF REGISTERS BEEN SHIFTED
;LEFT BY 14, AND RIGHT BY 14.?

JSHIFTED TEMP3 LEFT
JHAS THE CONTENTS OF REGISTERS BEEN SHIFTED LEFT BY '4.?

;IF SO GO TO NEGAT AND INITIATE RIGHT SHIFT
;IF SO GO AND CONTINUE THE REST OF THE PROGRAM

;LOAD R3 WITH THE CONTENTS OF TEMP1

;IS IT AN EVEN PASS ?

:IF NOT THEN GO TO 2%

:OTHERWISE EXECUTE ASH INSTRUCTION IN MODE O
;USING R3

;SHIFT R3 BY THE NUMBER SPECIFIED BY TEMP?
;SAVE PS

a#{SHPL,alPSUORD;IS THE PS = TEMPS ?
+

PC,SHLT

a#COUNT
SNTEMPY,X3
.+10

PC,SHLT

;SEEM AN ERROR, GO TO TH HALT ROUTINE
;THE PS IS NOT EQUAL TO O.

;IS THE KESULT IN R3 EQUAL TO TEMP3?

;SEEN AN ERROR, GO TQ TH HALT ROUTINE
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A1 14~SEP-81 16:31 ASH INSTRUCTION TESTS SEQ 0014
;EITHER INCORRECT R3 OR INCORRECT SEQUENCE
001440 000010 10
001642 021537 000430 CMP (R5) ,a#COUN" ;1S THE TEST NUMBER EQUAL TO THE COUNTER?
001446 001372 BNE 63 2IF NOT GO TO THE HLT ABOVE
001450 005215 INC (RS)
001452 010701 SCOPE1
001456 021527 000037 CMP (RS) ,#37 JHAS THE CONTENTS Of REGISTERS BEEN SHIFTED
JLEFT BY 14, AND RIGHT BY 14.
001460 002010 BGE 8s
001462 005237 000436 INC SHTEMP?
001466 006367 176746 ASL TEMP3 ;SHIFT TEMP3 LEFT?
001472 021527 000020 CMP (R5),#20 ‘HAS THE CONTENTS OF REGISTEKS BEEN SHIFTED LEFT BY 14.°
001476 001003 BNE REG&
001500 000550 BR NEGAT ;IF SO GO TO NEGAT AND INITIATE RIGHT SHIFT
001502 004767 000342 8$: JSR PC,TST37 :IF SO GO AND CONTINUE THE REST OF THE PROGRAM
001506 010703 REGS: SCOPE3
001510 013704 000434 MoV INTEMPT X4 ;LOAD R4 WITH THE CONTENTS OF TEMPI
001514 010501 MoV R5,R1 ;SAVE RS
001516 032737 000001 000406 BIT #1,348PASS ;IS IT AN EVEN PASS ?
001524 001004 BNE 28 *1F NOT THEN GO TO 28
001526 013705 000436 MoV SN TEMP2 RS “OTHERWISE EXECUTE ASH INSTRUCTION IN MODE 0
001532 (72405 ASH RS.R4 :USING R&
001534 000402 BR 49
001536 072467 176674 2%: ASH TEMP2, %6 ;SHIFT R4 BY THE NUMBER SPECIFIED BY TEMP?
001542 4y MFPS a#PSWORD ;SAVE PS
001542 106737 .WORD  106700!..(
001546 123737 000442 0004632 CMPB M TEMPL ,I¥PSWORD; IS PS = TEMPS ?
001554 001403 BEQ .+10
001556 004767 015332 JSR PC.SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
;THE PS IS NOT EQUAL TO 0
001562 000011 1"
00156+ 005237 000430 INC a#COUNT
001570 023704 000440 CMP SNTEMP3, X4 ;IS THE RESULT IN R4 EQUAL TO TEMP3?
001574 001403 BEQ .+10
001576 6%:
001576 004767 015312 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT RCUTINE
*EITHER INCORRECT R4 OR INCORRECT SEQUENCE
001602 000012 12
001604 010105 MoV R1,RS ;RESTORE RS
001606 021537 000430 CMP (R5) ,a#COUNT ;1S THE TEST NUMBER EQUAL TO THE C(OUNTER?
001612 001371 BNE 63 ;IF NOT GO TO THE HLT ABOVE
001614 005215 INC (R5)
0015616 010701 SCOPE1
001620 021527 000037 CMP (R5) ,#37 ;HAS THE CONTENTS OF REGISTERS BEEN
SSHIFTED LEFT BY 14. AND RIGHT BY 14.?
001624 002010 BGE 8s
001626 005237 000436 INC ANTEMP2
001632 006367 176602 ASL TEMP3 ;SHIFT TEMP3 LEFT
001636 021527 000020 CMP (R5) ,#20 *HAS THE CONTENTS OF REGISTER BEEN SHIFTED BY 14.?
001642 001003 BNE REGS
001644 000466 BR NEGAT ;IF SO GO TO NEGAT AND INITIATE RIGHT SHIFT
001646 004767 000176 8$: JSR PC,TST37 ;IF SO GO AND CONTINUE THE REST OF THE PROGRAM
001652 010701 REGS:  SCOPE1
001654 01 MOV R5,R1 ;SAVE R5

0105
001656 013705 000434 MOV NTEMP1 X5 :LOAD RS WITH THE CONTENTS OF TEMP1
001662 032737 000001 000406 BIT #1,3¥SPASS ;IS IT AN EVEN PASS ?
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CVKABB.P11 14-SEP-81 16:31 ASH INSTRUCTION TESTS SEQ 0015

98 001670 001004 BNE 2 :1F NOT THEN GO TO 2%

94,9 001672 013700 000436 MOV NTEMP2 RO "OTHERWISE EXECUTE ASH INSTRUCTION IN MODE O
950 001676 072500 ASH RO,RS *USING RS

951 001700 000402 B8R 48

952 001702 072567 176530 28: ASH TEMP2, 15 ;SHIFT RS BY THE NUMBER SPECIFIED BY TEMP?
956 001706 L8 MFPS a#PSWORD ;SAVE PS

(1) 001706 106737 LWORD  106700...C

960 001712 123737 000442 000432 CMPB SN TEMPSL ,a#PSWORD ;IS PS = TEMPS ?

%61 001720 001403 BEQ 410

962 001722 004767 015166 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE

2) ;THE PS IS NOT EQUAL TO O.

(2) 001726 000013 13

963 001730 005237 000430 INC a#COUNT

964 001736 023705 000440 (MP INTEMP3,%S ;1S THE RESULT IN RS EQUAL TO TEMP3?

965 001740 001403 BEQ .+10

966 001742 6$:

(2) 001742 04767 015146 JSR PC.SHLT :SEEN AN ERROR, GG TO TH HALT ROUTINE

(2) "EITHER INCORRECT RS OR INCORRECT SEQUENCE
2) 001746 000014 14

967 001750 021137 000430 (MP (R1) ,a#COUNT  :IS THE TEST NUMBER EQUAL TO THE COUNTER?
968 001754 001372 BNE 6$ *IF NOT GO TO THE HLT ABOVE

969 001756 010105 MOV R1,RS *RESTORE RS

970 001760 005215 INC (RS)

971 001762 010701 SCOPE1

972 001764 021527 000037 CMP (RS) 437 :HAS THE CONTENTS OF REGISTERS BEEN SHIFTED
973 ‘LEFT BY 14. AND RIGHT BY 14.?

974 001770 002010 BGE 8s “IF SO GO AND CONTINUE THE REST OF THE PROGRAM
975 00177c 005237 000436 INC ANTEMP2

976 001776 006367 176436 ASL TEMP3 ;SHIFT TEMP3 LEFT

977 002002 021527 000020 cMP (RS) 420 :HAS THE ZONTENTS OF REGISTERS BEEN SHIFTED LEFT By 14.?
978 002006 001405 BEQ NEGAT :1F SO GO TO NEGAT AND INITIATE RIGHT SHIFT
979 002010 000402 B8R 108

980 002012 004767 000032 8s: JSR PC.TST37

981 002016 000167 176656 10%: JMP START :6G0 BACK TO START

982 002022 012737 040000 000434 NEGAT: MOV #40000,a#TEMP1  : TEMP1=40000

983 002030 012737 177762 000436 MOV #177762,30TEMP2 :TEMP2=177762

98% 002036 012737 000001 000440 MOV #1,3NTEMP3 STEMP3=1

985 002044 000767 176630 JMP START

986 002050 021527 000037 IST37: (MP (RS) ,#37 SIS IT TEST 372

987 002054 001013 BNE 15740 “IF NOT THEN TRY TEST 40

988 002056 005037 000434 CLR AFTEMP1 10

989 002062 012737 000020 000436 MOV #16. , QNTEMP2  :SHIFTED BY 16

990 002070 005037 000440 CLR NTEMP3 115=0

991 002074 012737 000004 000442 MOV 24, IRTEMPS “AND PS=4

992 002102 000207 RTS PC

993 002106 021527 000040 1ST40: (MP (RS) ,#40 SIS 1T TEST 402

994 002110 001003 BN 15741 “IF NOT THEN TRY TEST 41

995 002112 005037 000436 CLR AFTEMP2 10 SHIFTED BY 0=0 AND PS=4

996 002116 000207 RTS PC

997 002120 021527 000041 IST41: CMP (RS) ,#41 SIS IT TEST 412

398 002124 001004 BNE TsT4 “IF NOT THEN TRY TEST &2

999 002126 012737 177760 000436 MOV #-16. ,9#TEMP2 -0 SHIFTED BY -16.=0 AND PS=4
1000 002134 000207 RTS PC
1001 002136 021527 (00042 TST42: (MP (RS) , #42 2IS IT TEST 422
1002 002142 001013 BNE TST4 % *IF NOT THEN TRY TEST 43
1003 002144 012737 100000 000434 MOV #100000,3#TEMP1 100000
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1006 002152 005237 000436 INC ANFTEMP? :SHIFTED BY =15

1005 002156 005337 000440 DEC ANTEMP3 t1s=-1

1006 002162 012737 000010 000442 MGV #10, 34 TEMP4 ;AND PS=10

1007 002170 000207 RTS PC

1008 002172 021527 000943 TST43: CMP (RS) ,#43 SIS IT TEST 432

1009 002176 001012 BNE S “IF NOT THEN 1F NOT THEN TRY TE3T &&
1010 002200 012737 125252 000434 MOV #125252,a#TEMP1 125252

1011 002206 012737 177777 000436 MOV #-1,aNTEMP2 *SHIFTED BY =1

1012 002214 012737 152525 000440 MOV 4152525 ,a#TEMP3 152152525 AND PS=10

1013 002222 000207 RTS PC

101&4 002224 021527 000044 TST44: (MP (RS) , 444 SIS IT TEST 442

1015 002230 001012 BNE 15745 “IF NOT THEN TRY TEST 45

1016 002232 012737 000001 000436 MOV #1,INTEMP? 1125252 SHIFTED BY 1

1017 002240 012737 052524 000440 MOV #55524 .aNTEMP3  >15252524

1018 002246 012737 000003 000442 MOV #3, INTEMPS *AND PS=3

1019 002256 000207 RTS PC

1020 002256 021527 000045 TST4S: CMP (RS) , #45 IS IT TEST 45?

1021 002262 001012 BNE 1ST46 “IF NOT THEN TRY TEST 46

1022 002264 012737 177776 000436 MOV #-2,MTEMP2 1125252 SHIFTED BY -2

1023 002272 012737 165252 000440 MOV #165252,a#TEMP3 152165252

1024 002300 012737 000011 00044c MOV #11.NTEMPS TAND PS=1°

1025 002306 000207 RTS PC

1026 002310 021527 000046 TST46: CMP (R5) ,#46 SIS IT TEST 462

1027 002314 001014 BNE 1ST4? *IF NOT THEN TRY TEST 47

1028 002316 012737 177777 000434 MOV #-1,30TEMP1 1o

1029 002324 012737 000020 000436 MOV #16. ,a#TEMP2  :SHIFTED BY 15.

1030 002332 005037 000440 CLR INTEMP3 115=0

1031 002336 012737 000007 000442 MOV #7 .34 TEMPS *AND PS=7

1032 002344 000207 RTS PC

1033 002346 021527 000047 TST47: CMP (RS) ,#47 SIS IT TEST 472

1034 002352 001011 BNE 1ST50 “IF NOT THEN TRY TEST S0

1035 002354 005337 000436 DEC NTEMP2 -1 SHIFTED BY 15

1036 002360 012737 100000 000440 MOV #100000,3#TEMP3 - 15=100000

1037 002366 012737 000011 000442 MOV #11, aNTEMP4 *AND PS=11

1038 002374 000207 RTS PC

1039 002376 021527 000050 TSTS0: CMP (RS) ,#50 SIS IT TEST S0

1040 002402 001007 BNE ENTS1 “IF NOT THEN TRY TEST 51

1061 002404 012737 137777 000434 MOV #137777.9#TEMP1 137777 SHIFTED BY 15. 152100000

1062 002412 012737 000013 000642 MOV #13, aNTEMPL "AND PS=13

1043 002420 000207 RTS PC

1044 002422 021527 000051 ENTS1: CMP (RS) ,#51 ;1S IT ENTERING TEST 512

1065 002426 901405 BEQ .+10

1046 002430 004767 014460 JSR PC,SHLT SSEEN AN ERROR, GO TO TH HALT ROUTINE
(2) “TEST NUMBER GOOFED

155; 002434 000015 15

1048 002436 005726 ST (SP)+ :RESTORE STACK POINTER

1049 002440 012704 177771 MOV ¥-7.%4

1050 002444 012702 000454 MOV #S1.%2

1051 002450 012703 000456 MOV #S2.%3
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(VKABB.P11 14,-SEP=81 16:3] ASH INSTRUCTION TESTS

1052 .'tt.ttt'tttt..t..!.ttttt!!.‘.t.t.....t.t...t...t...ttt.t....'..."'
(1) TTEST:51  LSI=11  ASH 125252 SHIFTED BY #5 = 52500 PS = 3
(1) tt..ttt.t.t.tt.tt..ttttt'ttt'...t..tt.Atttttt.t.ttt..tt..'ttttt!ttt'
(h
(1) 002454 010701 1ST51: SCOPE1
(1) 002456 012701 125252 MOV #125252.%1 ;LOAD R1 WITH 125252
(1) 002462 072127 000005 ASH #5,%1 “SHIFT R1 BY #5
(1) 002466 MFPS a#PSWORD :SAVE PS
(2) 002466 106737 WORD  106700...C
(1) 002472 122737 000003 000432 C(MPB  #3,a#PSWORD ;1S THE PS 32
(1) 002500 001403 BEQ .+10
(3) 002502 004767 014406 JSR PC,SHLT :SEEN AN ERROR, GO TO TH WAL: ROUTINE
(&) :THE PS IS NOT EQUAL TO 3
(3) 002506 000016 16
(1) 002510 022701 052500 CMP #52500,%1 ;1S THE RESULT 525007
(1) 002514 001403 BEQ .+10
(1) 002516 1%:

(3) 002516 004767 0146372 JSR PC,SHLTY :SEEN AN ERROR, GO TO TH HALT RCUTINE

3) ‘R1 IS NOT EQUAL TO 52500 OR INCORRECT SEQUENCE
(3) 002522 000017 17

(1) 002524 021527 000051 CMP (RS),#51 SIS STESTN - #51

(1) 002530 001372 BNE 18 ;IF NOT THEN GO TO HLT ABOVE

(}) 002532 005215 INC (RS)

(1)

(})

@Pp)

1053 .'tttttttttttttt'ttt‘tttttt!tttttttttt.ttt.ttt.tttttt.ttttttt'.'ttt..'
(1N STEST:S2  LSI-11  ASH 125252 SHIFTED BY @S2 = 177525 PS = 10
(1) :.tttt.ttttttt'ttt.'.tttt.t'.l.t.tttttttttttt"ttt!tt'..ttttt"tt'ttt
1)

(1) 002534 010701 1STS2: SCOPE1T

(1) 002536 012700 125252 MOV #125252,%0 ;LOAD RO WITH 125252

(1) 002542 072077 175710 ASH as2., %0 SSHIFT RO BY as2

(1) 002546 MFPS anpsuono :SAVE PS

(2) 002546 106737 .WORD  106700".

(1) 002552 122737 000010 000432 CMPB 210 alPSUORD ;1S THE PS 10?

(1) 002560 001403 BEQ +10

(3) 002562 004767 014326 JSR PC SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) “THE PS IS NOT EQUAL TO 10

(3) 002566 000020 20

(1) 002570 022700 177525 (MP #177525,%0 ;1S THE RESULT 1775252

(1) 002574 001403 BEQ .+10

(1) 007576 1$:

(3) 0..576 004767 014312 JSR PC.SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ‘RO IS NOT EQUAL TO 177525 OR INCORRECT SEQUENCE
(3) 002602 000021 21

(1) 00260& 021527 000052 CMP (RS) . #52 ;1S STESTN = #52

(1) 002610 001372 BNE 1$ :1F NOT THEN GO TO HLT ABOVE

f}; 002612 005215 INC (RS)

(1)

(1)
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ASH INSTRUCTION TESTS

XTI 222222 RRi2 R iR iRt dRRRRtRRRRRRRR R RN

STEST:S3  LSI=11  ASH 125252 SHIFTED BY a#S1 = 177525 PS = 10

:"""'.'.'."".""""'"t'.""".."""""""..."""ttt'tt

TSTS3: SCOPE!
MOV
ASH
MFPS
.WORD
CMPB
BEQ
JSR

22
(MpP
BEQ

JSR

23

(Mp
BNE
INC

1%:

#125252,%0

a#51,%0

a#PSWORD

106700...C

#10,3#PSWORD
+10

PC,SHLT
#177525,%0
.+10
PCLSHLT

(R5),#53
1%
(RS)

;LOAD RO WITH 125252
JSHIFT RO BY a#s!1

. SAVE PS

;1S THE PS 10?

;SEEN AN ERROR, GO TO TH HAL: ROUTINE
;THE PS 1S NOT EQUAL TO 10

;15 THE RESULT 1775252
JSEEN AN ERROR, GO TO_TH HALT ROUTINE
;RO IS NOT EQUAL TO 177525 OR INCORRECT SEQUENCE

;1S STESIN = #53
;IF NOT THEN GO TO HLT ABOVE

X ZIX22222282222 8222222202220 RRRRRR220RRRRRRRRRRRRRRRRRRRRRtilRdll il

STEST:S4  LSI-11  ASH

:..t.'t"'ttt"t."."""""Qt't".'t"'"'t'""""'t""""'t"

TST54: SCOPE!
MOV
ASH
MFPS
. WORD
(MPB
BEQ
SR

24
(Mp
8EQ

JSR

25

CMP
BNE
INC

18:

#125252,%0
(2),%0
a#PSWORD
106700!.,.C
#10,3#PSWORD

.+10

PC.SHLY
#177525,%0
.+10
PC,SHLT

(RS) ,#54
1%
{RS)

125252 SHIFTED BY (2) = 177525 PS = 10

JLOAD RO WITH 125252
JSHIFT PO BY (2)
JSAVE PS

;1S THE PS 10?

JSEEN AN ERROR, GO TO TH HALT ROUTINE
;THE PS IS NOT EQUAL T0 10

;1S THE RESULT 177525?

v

JSEEN AN ERROR, GO TO_TH HALT ROUTINE
;RO IS NOT EQUAL TO 177525 OR INCORRECT SEQUENCE

;1S STESTN = #54
:1F NOT THEN GO TO HLT ABOVE

SEQ 0018
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CRABH.PT 14-SEP-8" 16: %1 ASH INSTRUCTION TESTS

1’\'55 '-ttiitttttttttttttttttttttttQtttttttttttttt..tttttQ-tnt---n-n---c----
" ;TEST:55  LSI-11  ASH 125252 SHIFTED BY (20 1ITE2E pe ot
1, :ttttttttttittttttttttttttttt.tttttttttttttttttttttntttttt-..cn--o-co
1,

1) 002752 010701 TSTS5: SCOPE!

') 002756 G12700 125252 MoV £125252,%0 JLOAD RO wITH 125252

(1) 002760 072022 ASH (2)+,%0 ;SHIFT RO BY (2)+

(1) 002762 MFPS a#PSWORD :SAVE PS

(2) 002762 106737 .WORD  106700!..C

(1) 002766 122737 000010 000432 (MPB #10,3#PSWORD ;1S THE PS 10°

(1) 002774 001403 BEQ . +10

(3) 002776 004767 014112 JSR PC,SHLY ;SEEN AN ERROR, GO TO TH HAL: ROUTINE
(3) ;THE PS IS NOT EQUAL TO 10

(3) 003002 000026 26
(1) 003006 022700 177525 (MP #177525,%0 ;1S THE RESULT 1775252
(1) 003010 001403 BEQ .+10
(1) 00301¢ '$:

(3) 003012 004767 014076 JSR PC.SHLY ;SEEN AN ERROR, GO TO_TH HALT ROUTINE
(3) ;RO IS NOT EQUAL TO 177525 OR INCORRECT SEQUENCE
(3) 003016 000027 27
(1) 003020 021527 000055 (MP (R5) ,#55 ;1S STESIN = #55
(1) 003026 001372 BNE 8 ;1F NOT THEN GO TO HLT ABOVE
(}) 003026 005215 INC (RS)

g p)

(})

(1)

1087 SN AN N AR NN AN AN AR N RN AR NN RN AR RN RN NN R EA RN RN ENE R RNNRNN RN RO N OENRTOROY
(1) TEST:56  LSI-11  ASH 125¢52 SHIFTED BY -(2) 177525 PS 10
(') PN A A N RN R R R AN N R N RN R TR RN AN AN AN RN RN RN AR RN RN N RN RENRR GO TR OO
(1)

(1) 003030 010701 TST56: SCOPE1
(1) 003032 012700 125252 MOV #125252,%0 ;LOAD RO WITH 125252
(1) 003036 072042 ASH -(2),%0 ;SHIFT RO BY -(2)

(1) 003040 MFPS a#PSWORD ;SAVE PS
(2) 003040 106737 .WORD  106700!..C
(1) 003044 122737 000010 000432 (MPB #10,3#PSWORD ;1S THE PS 10?

(1) 003052 001403 BEQ .+10
(3) 003056 004767 014036 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3 ;THE PS IS NOT EQUAL TO 10
(3) 003060 000030 30
(1) 003062 022700 177525 (MP #177525,%0 ;1S THE RESULT 177525?

(1) 003066 001403 BEQ .+10
(1) 003070 18:

(3) 003070 004767 014020 JSR PC,SHLT sSEEN AN ERROR, GO TO_TH HALT ROUTINE
(3) JRO IS NOT EQUAL TO 177525 OR INCORRECT SEQUENCE
(3) 003076 000031 31
(1) 003076 021527 000056 cmp (R5) ,#56 ;1S STESTN = #56
(1) 003102 001372 BNE 1% :1F NOT THEN GO TO HLT ABOVE
((11)) 003104 005215 INC (RS)

(1
Q)
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ASH INSTRUCTION TESTS

XY 2222223222222 RARZRZZ 2222222222 2220222 2 R222 23]

LSI=11  ASH 125252 SHIFTED BY 2(3) = 177252 PS = 11

:."'t...'.""".""."""t""'"Q'."'"""."......'..."'.".

STEST:S7

TSTS7:

1%:

SCOPE1
MOV
ASH
MFPS
. WORD
cMPB
BEQ
JSR

32
{Mp
BEQ

JSR

33

CMP
BNE
INC

#125252,%0
2(3),%0

a#P SWORD
106700!..C

#11,3#PSWORD
+10

PC.SHLT
#177252,%0
.+10
PC,SHLT

(R5), 457
1%
(RS)

:LOAD RO W]TH 125252
JSHIFT RO BY 2(3)
;SAVE PS

;IS THE PS 112

;SEEN AN ERROR, GO TO TH HAL: ROUTINE
JTHE PS IS NOT EQUAL TO 11

;1S THE RESULT 177252?
;SEEN AN ERROR, GO TO_TH HALT ROUTINE
;RO IS NOT EQUAL TO 177252 OR INCORRECT SEQUENCE

;IS STESIN = #57
;IF NOT THEN GO TO HLT ABOVE

[ E X X2 R XX X222 2222222222222 222222202t illd

STEST:60

LSI-n ASH

125252 SHIFTED BY @(3) - 177525 PS 10

;.....'.Q.t..'..'.'.t..Q.....t."."..t'ttt.'t...t'.t.'..'.t....'"'t

T1ST160:

1%:

SCOPE1
MoV
ASH
MFPS
. WORD
{MPB
BEQ
JSR

34
(Mp
BEQ

JSR

35

CMP
BNE
INC

#125252,%0

a(3),%0

a#PSWORD
106700 ..C

#10,3#PSWORD
+10

PCLSHLT
#177525,%0
.+10
PCLSHLT

(RS) ,#60
1%
(RS)

;LOAD RO WITH 125252
JSHIFT RO BY a(3)
;SAVE PS

;1S THE PS 10?

;SEEN AN ERROR, GO TO TH HALT ROUTINE
JTHE PS IS NOT EQUAL T0 10

;1S Thi RESULT 1775252
;SEEN AN ERROR, GO TO _TH HALT ROUTINE
;RO IS NOT EQUAL TO 177525 OR INCORRECT SEQUENCE

;1S STESIN = #60
;1F NOT THEN GO TO HLT ABOVE

StQ 0020
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VKABB .- ‘u-LfP-81 "4 Y ASH INSTRUCTION TESTS
1060 LR R L LR LR Y
(1) JTEST: 61 LSI-1 ASH 125252 SHIFTED BY a(3)+ = 177525 PS 1C

;."'....'."!'.'....t..".t'."...'.'............t....t.tt'.tt.'!.t!

') 003246 010701 TST61: SCOPE?
(1) 003250 012700 125252 MOV #125252,%0 :LOAD RO WITH 125252
1) 003254 072033 ASH a3, +.%0 ‘SHIFT RO BY a(3)+
1) 003256 MFPS #PSWORD :SAVE PS
(2) 003256 106737 LWORD 106700'..C
(') 003262 122737 000010 000432 CMPB  #10,a#P5WORD ;1S THE PS 10?
(') 003270 001403 BEQ .+10
(3) 003272 004767 013616 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HAL:+ ROUTINE
(3) STHE PS IS NOT EQUAL TO 10
(3, 003276 00003¢ 36
(1) 003300 022700 177525 cMP #177525,%0 ;1S THE RESULT 1775252
(1) 0033064 001403 BEQ .+10
(1) 003306 1$:
(3) 003306 004767 013602 JSR PC.SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
3) ‘RO IS NOT EQUAL TO 177525 OR INCORRECT SEQUENCE
(3) 003312 000037 37
(1) 003314 021527 000061 cMP (RS),#61 ;1S STESTN = #61
(1) 003320 001372 BNE 18 :1F NOT THEN GO TO HLT ABOVE
<}; 003322 005215 INC (RS)
(
(})
(1
1061 NN AR N R AN N AN R AN RN AR N AT RN RN RN AN TN RN R RANAN AR RE AR TR TR AN te
(1) TTEST:62  LSI-11  ASH 125252 SHIFTED BY @=(3) = '77525 PS = 10
(1) "tttt..ttt.ttt'.t'tttt.t!!..'t'.ttt.ttt'....tt"t"t.tt'.".."t!'.!t
(1)
(1) 003326 010701 1ST62: SCOPE1
(1) 003326 012700 125252 MOV #125252,%0 ;LOAD RO WITH 125252
(1) 003332 072053 ASH =316 SSHIFT RO BY a-(3)
(1) 003334 MFPS a#PSWORD :SAVE PS
(2> 00333¢ 106737 .WORD  106700"'..C
(1) 003340 122737 000010 000432 CMPB  #10,a#PSWORD ;1S THE PS 10?
(1) 003346 001403 8EQ .+10
(3) 003350 004767 013540 JSR PCLSHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) STHE PS IS NOT EQUAL TO 10
(3) J03354 000040 40
(1) 003356 022700 177525 cMP #177525.%0 ;1S THE RESULT 177525
(1) 003362 001403 BEQ .+10
(1) 003364 18
(3) 003364 004767 013524 JSR PC.SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
3) RO IS NOT EQUAL TO 177525 OR INCORRECT SEQUENCE
(3) 003370 000041 41
(1) 003372 021527 000062 CMP (RS),#62 ;1S STESTN = #62
(1) 003376 001372 BNE 18 :1F NOT THEN GO TO HLT ABOVE
f}; 003400 005215 INC (RS)
(1)
ap)
1065 JNETRNRACR RN RN AN RN CR AR CR NN AR
1066 ASHC INSTRUCTION TESTS
1067 TN AR NN AT AN RNR
1068
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(vKABB.P1* 14~SEP=-81 16: 11 ASHC INSTRUCTION TESTS €0 0022
1069
1070
107 JetRRRRNT AR NS
1072 STESTS 63-157
1073 JNERERRENR NSNS
1074
1075
1076
1077 0036402 012737 000062 000430 MOV #62 ,a#COUNT
1078 003410 005037 000434 (LR AN TEMPY ;TEMP1=0
1079 003414 012737 000001 000436 MOV #1,NTEMP2 s TEMP2=1
1080 003422 005037 0006440 CLR SN TEMP3 ;TEMP3=0
1081 003426 005037 000442 (LR SATEMPS I TEMP4=0
1082 003432 012737 000007 000444 MOV #1, N TEMPS CTEMPS=1
;823 003440 005037 000446 (LR INTEMPG :0 1 SHIFTED BY 0=0 1, PS=0
&L
1085 003444 010703 REGO1: SCOFE3
1086 003446 010502 MOV R5,R2 ;SAVE RS
1087 003450 013700 000434 MoV INTEMP1,20 sPLACE THE (ONTENTS OF TEMP1 [N REGISTER 0
1088 003454 013701 000436 MOV INTEMP?,%0.1 :PLACE THE CGNTENTS OF TEMP2 IN REGISTER 1
1089 003460 000241 CLe
1090 003462 032737 000001 000406 BIT #1,3¥48PASS ;1S 1T AN EVEN PASS ?
1091 003470 001004 BNE 2% ;1F NOT THEN GO TO 2%
1092 003472 013705 0004640 MOV ANTEMP3 RS JOTHERWISE EXECUTE ASHC INSTRUCTION IN MODE 0
1093 003476 073005 ASHC R5,RO JUSING RO
1094 003500 000402 BR 48
1095 003502 073067 174732 2%: ASH( TEMP3,20 JASHC REGISTER 0 BY THE CONTENTS OF TEMP3
1099 003506 4% MFPS a#PSWORD :SAVE PS
(1) 003506 106737 .WORD  106700!..C
1103 003512 123737 000446 000432 (MPB S#TEMPO ,a#PSWORD; COMPARE PS WITH THE CONTENTS OF TEMP6
1104 003520 001403 BEQ .+10
1105 003522 004767 013366 JSR PC.SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(2) ;WRONG PS
(2) 003526 000042 42
1106 003530 005237 000430 INC SNCOUNT
1107 003534 023700 000442 (Mp ANTEMPSL X0 ;IS THE RESULT IN RO SAME AS TEMP4?
1108 003540 001403 BEQ .+10
1109 003542 704767 013346 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(2) ;WRONG RESULT IN RO
(2) 003546 000043 43
1110 003550 J23701 000444 CMP SNTEMPS ., X1 ;IS THE RESULT IN R1 SAME AS TEMPS?
1111 003554 001403 BEQ .+10 ;TEMP1 TEMP2 SHIFTED BY TEMP3=TEMP4 TEMPS
1112 JAND PS=TEMP6
1113 003556 004767 013332 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(2) ;WRONG RESULT IN R1
(2) 003562 000044 44
1114 003564 010205 MoV R2 RS ;RESTORE RS
1175 003566 021537 000430 CmP (R5) . a#COUNT ;1S TEST NUMBER=COUNTER?
1116 003572 001403 BEQ .+10
11}; 003574 004767 013314 JSR PC,SHLT ;SSEN AN ERROR, GO TO TH HALT ROUTINE
( ;N
(2) 003600 000045 45
1118 003602 005215 INC (RS)
1119 003604 021527 000160 (MP (RS) ,#160 JHAVE THE FIRST 159 TEST BEEN EXECUTED?
1120 003610 002014 BGE 63 JYES
1121 003612 005237 000440 INC N TEMP3
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(VKABB.P11 14-SEP-81 16:31 ASHC INSTRUCTION TESTS SEQ 0023
1122 003616 000241 cLe
1123 003620 006137 000444 ROL SNTEMPS ;ROTATE TEMPS LEFT BY 1 PLACE
1126 003624 006137 000442 ROL AN TEMPL :INTRODUCE CARRY FROM TEMP4 IN TEMPS
1125 003630 021527 000121 CMP (RS) ,#121 Y1S IT TEST 1212
1126 003634 001004 BNE REG2S
1127 003635 004467 000410 JSR R4 ,RITSH :IF SO THEN GO AND INITIATE RIGHT SHIFTY
1128 003642 00477 000440 68: JSR €7.15T160
1129 003646 0107¢ REG23: SCOPE1 )
1130 003650 01370c 100434 MOV ANTEMPT, %2 *PLACE THE CONTENTS OF TEMP1 IN REGISTER 2
1131 003654 013703 00436 MOV ANTEMP2.%2 .1 :FLACE THE CONTENTS OF TEMP2 IN REGISTER 3
1132 003660 000241 cLC
1133 003662 032737 000001 000406 BIT #1,a#8PASS ;1S IT AN EVEN PASS ?
1134 003670 001004 BNE 2 “IF NOT TWEN GO TO 2%
1135 003672 013704 000440 MOV SHTEMP3, R4 “OTHERWISE EXECUTE ASHC INSTRUCTION IN MODE 0
1136 003676 073204 ASHC  R&4,R2 *USING R2
1137 003700 000402 BR 4$
1138 003702 073267 174532 2%: ASH( TEMP3, %2 :ASHC REGISTER 2 BY THE CONTETNS OF TEMP3
1142 003706 4% MFPS a#PSWORD :SAVE PS
(1) 003706 106737 LWORD  106700'..C
146 003712 123737 000446 000432 CMPB AN TEMPG ,a#PSWORD ; COMPARE PS WITH THE CONTENTS OF TEMP6
1147 003720 001403 BEQ .+10
1148 003722 004767 013166 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(2) JWRONG PS
(2) 003726 000046 46
1149 003730 005237 000430 INC Q#COUNT
1150 003734 023702 0006442 CMP ANTEMPS , %2 :IS THE RESULT IN R2 SAME AS TEMP4?
1151 003740 001403 BEQ .+10
1152 003742 004767 013146 JSR PC,EHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(2) *WRONG RESULT IN R2
(2) 003746 000047 47
1153 003750 023703 000444 CMP Q#TEMPS, %3 ;IS THE RESULT IN R3 SAME AS TEMPS?
1154 003754 001403 BEQ .+10 “TEMP1 TEMP2 SHIFTED BY TEMP3=TEMP4 TEMPS
1155 :AND PS=TEMP6
1156 003756 004767 013132 JSR PC,SHLT “SEEN AN ERROR, GO TO TH HALT ROUTINE
2" :WRONG RESULT IN R1
(2) 003762 000050 50
1157 003764 021537 000430 CMP (RS) ,a#COUNT ;1S TEST NUMBER=COUNTER?
1158 003770 001403 BEQ .+10
1}3? 003772 004767 013116 JSR PC,SHLT ‘ﬁSEN AN ERROR, GO TO TH HALT ROUTINE
(2) 003776 000051 51
1160 004000 005215 INC (RS)
1161 004002 021527 000160 CMP (R5) ,#160 :HAVE THE FIRST 159 TEST BEEN EXECUTED?
1162 004006 002014 BGE 63 TYES
1163 004010 005237 000440 INC INTEMP3
1164 004014 000241 cLe
1165 004016 006137 000444 ROL NTEMPS :RCTATE TEMPS LEFT BY 1 PLACE
1166 0064022 006137 000442 ROL INTEMPL, “INTRODUCE CARRY FROM TEMPS IN TEMP4
1167 004026 021527 000121 CMP (RS) ,#121 YIS IT TEST 1212
1168 004032 001004 BNE REG4S
1169 004034 004467 000212 JSR R4 ,RITSH S1F SO THEN GO AND INITIATE RIGHT SHIFT
1170 004040 004767 000242 6$: JSR $7.1ST160
1171 006046 010701 REG4S: SCOPE1
1172 004046 010501 MOV RS ,R1 ;SAVE RS
1173 004050 013704 000434 MOV aHTEMPT, %4 ‘PLACE THE CONTENTS OF TEMP1 IN REGISTER &
*174 004054 013705 0006436 MOV IMTEMP2 X411 "PLACE THE CONTENTS OF TEMP2 IN REGISTER S
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{vkABB.FP1N 14-SEP=-81 16:31 ASHC INSTRUCTION TESTS ~EQ 0024
1175 004060 000241 LoeLe
1176 0046062 032737 000001 000406 BIT #1.aNSPASS ;1S IT AN EVEN PASS ?
1177 004070 001004 BNE 2 *IF NOT THEN GO T0 2
1178 004072 013700 000440 MOV aNTEMP3,RO *OTHERWISE EXECUTE ASHC INSTRUCTION IN MODE 0
1179 004076 073400 ASHC  RO,R4 *USING R&
1180 004100 600402 BR 43
1181 004102 073467 174332 28: ASHC TEMP3, %4 ;ASHC REGISTER & BY THE CONTENTS OF TEMP3
1185 004106 4% MFPS a#PSWORD ;SAVE PS
(1) 004106 106737 .WORD  106700!..C
1189 0064112 123737 000446 000432 CMPB  S#TEMPG.3#PSWORD; COMPARE PS WITH THE CONTENTS OF TEMP6
1190 004120 001403 BEQ .+10
1191 004122 004767 012766 JSR PC.SHLT :SEEN AN ERROR, GO TO TH HAL: ROUTINE
2) ;WRONG FS
(2) 006126 000052 52
1192 004130 005237 000430 INC A#COUNT
1193 004134 023704 000442 CMP ANTEMPL , %4 ;1S THE RESULT IN R4 SAME AS TEMPL?
1194 006140 007403 BEQ .+10
1195 004142 004767 012746 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
2) ;WRONG RESULT IN R4
(2) 006146 000053 53
1196 004150 023705 000444 CMP X TEMPS , %S ;1S THE RESULT IN RS SAME AS TEMPS?
1197 004154 001403 BEOQ .+10 “TEMP1 TEMP2 SHIFTED BY TEMP3=TEMP4L TEMPS
1198 ;AND PS=TEMP6
1199 004156 004767 012732 JSR PC.SHLT “SEEN AN ERROR, GO TO TH HALT ROUTINE
) *WRONG RESULT IN RS
(2) 006162 000054 54
1200 004164 021137 000430 CMP (R1),3#COUNT ;1S TEST NUMBER=COUNTER?
1201 004170 001403 8EQ .+10
1€g§ 004172 004767 012716 JSR PC,SHLT ;3gs~ AN ERROR, GO TO TH HALT ROUTINE
(2) 004176 000055 55
1203 004200 010105 MOV R1,RS :RESTORE RS
1206 004202 005215 INC (R$)
1205 004204 021527 000160 CMP (RS) ,#160 :HAVE THE FIRST 159 TEST BEEN EXECUTED?
1206 004210 002014 8GE 63 YES
1207 004212 005237 000440 _ INC ANTEMP3
1208 004216 000241 cLC
1209 004220 006137 000444 ROL a#TEMPS ;ROTATE TEMPS LEFT BY 1 PLACE
1210 004224 006137 000442 ROL aXTEMPS :INTRODUCE CARRY FROM TEMPS [N TEMP4
1211 004230 021527 000121 CMP (RS) ,#121 YIS IT TEST 1212
1212 004234 001004 BNE 8s
213 006236 004467 000010 JSR R4 ,RITSH ;IF SO THEN GO AND INITIATE RIGHT SHIFT
1214 006262 004767 000040 6$: JSR 17.15T160
1215 004266 000167 177172 8$: JMP REGO1
1216 004252 022424 RITSH: CMP (RG)+, (RG) + ;MAKE R4 POINT TO THE NEXT RZG TAG
1217 004254 012737 040000 000434 MOV 240000 @#TEMPT  :TEMP1=4000
1218 004262 005037 000436 CLR ANTEMPS STEMP2=0
1219 006266 012737 177742 000440 MOV #-30. ,3#TEMP3  :TEMP3=-30
1220 004275 005037 000442 CLR INTEMPS S TEMPL=0
1221 004300 005237 000444 INC ANTEMPS  TEMPS=1
1222 0043064 000204 RTS R4
1223 004306 021527 000160 TST160: (MP (RS) ,#160 ;IS 1T TEST 160
1226 004312 001010 BNE 1sT161 “17 NOT THEN TRY TEST 161
1225 004314 005037 000434 CLR SNTEMPI ‘0 0 SHIFTED BY 0
1226 004320 005037 000442 CLR AFTEMPS ©15 EQUAL TO 0 0
1227 004324 012737 000006 000446 MOV #4 _ AATEMPG *AND PS=4
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PN 14-SEP-B1 16:31 ASHC INSTRUCTION TESTS SEQ 2025
004332 000207 RTS 17

004334 021527 000161 TST161: CMP (RS) ,#161 ;IS IT TEST 161

004340 001004 BNE 157162

004342 012737 177746 000440 MOV #~32 ,QNTEMP3 :0 0 SHIFTED BY =-32=0 0, PS=¢4
004350 000207 RTS 17

004352 021527 000162 TST162: CMP (RS) ,#162 SIS IT TEST 162

004356 001004 BNE 1ST163 YIF NOT THEN TRY TEST 163
004360 012737 000032 000440 MOV #32,aNTEMP3 ‘0 0 SHIFTED BY 32=0 0, PS=4
004366 000207 RTS 17

006370 021527 000163 TST163: (MP (RS) . #163 SIS 1T TEST 1632

004374 001016 BNE TST164 :IF NOT THEN TRY TEST 164
004376 012737 052525 000434 MOV #52525.3#TEMPT 252525 0

004404 012737 177760 000440 MOV #-16. alTEHPS ;SHIFTED BY =16.

004412 005037 000442 CLR INTEMPS

006416 012737 052525 000444 MOV #52525,a#TEMPS ;1S EQUAL TO 0 52525

004426 005037 000446 CLR IATEMP CAND PS = 0

004430 000207 RTS 17

004432 021527 000164 TST164: CMP (RS) #164 SIS 1T TEST 1642

004436 001014 BNE TST1 “IF NOT THEN TRY TEST 165
004440 012737 125252 000434 MOV 0125252 ANTEMP1 125252 O SHIFTED BY =-16.
004446 005337 000442 DEC INTEMPS

0064452 012737 125252 000444 MOV #125252 ., a#TEMPS :1S EQUAL TO -1 125252
004460 012737 000010 000446 MOV #10,3#TEMP6 “AND PS$S=10

004466 000207 RTS 17

006470 021527 000165 5T165: CMP (RS) ,#165 ;IS IT TEST 1652

004474 001007 BNE TST166 ;IF NOT THEN TRY TEST 166
006476 012737 177777 000434 MOV #=1,a0TEMP1 ‘=1 0 SHIFTED BY -16

004504 012737 177777 000444 MOV #-1,a¥#TEMPS ;1S EQUAL TO =1 -1, AND PS=10
004512 000207 RTS 17

004516 021527 000166 1ST166: CHP (RS) . #166 ;IS IT TEST 1662

004520 001011 BNE TST167 :IF NOT THEN TRY TEST 167
004522 012737 100000 000434 MOV #100000,3#TEMP1 100000 0

004530 012737 177740 000440 MOV #-32. QHTEMP3  ISHIFTED BY -32 IS EQUAL TO -1 -
004536 005237 000446 INC NTEMPS CAND PS=11

004542 000207 RTS 17

004544 021527 000167 TST167: CMP (RS) ,#167 ;IS IT TEST 1672

004550 001014 BNE 1ST170 “IF NOT THEN TRY TEST 170
004552 005037 000434 CLR ANTEMP

004556 005337 000436 DEC BNTEMP2 ;0 =1

004562 012737 000020 000440 MOV #16. ,a#TEMP3  :SHIFTED BY 16.

004570 005037 000444 CLR ANTEMPS ;IS EQUAL T0 =1 0

004574 005237 000446 INC INTEMPG “AND PS=12

004600 000207 RTS 17

004602 021527 000170 IST170: CMP (RS) ,#170 ;IS IT TEST 1702

004606 001007 BNE 1sT171 *1F NOT THEN TRY TEST 171
004610 012737 125252 000436 MOV 4125252 ArTEMP2 -0 125252 SHIFTED BY 16
004616 012737 125252 000442 MOV #125252 3#TEMP4 1S EQUAL TO 125252 0, AND PS=12
004624 000207 RTS 17

004626 021527 000171 IST171: CMP (RS) #4171 SIS IT TEST 1712

004632 001010 BNE 1ST172 *IF NOT THEN TRY TEST 172
004634 005337 000440 DEC ANTEMP3 10 125252 SHIFTED BY 15
004640 012737 052525 000442 MOV #52525.a#TEMPG > 1S EQUAL TO 52525 0

004646 005037 000446 CLR NTEMPS *AND PS=0

004652 000207 RTS 17

004654 021527 000172 1ST172: (10 (RS) ,#172 SIS IT TEST 1722

004660 001006 BNt 1ST173 “1F NOT THEN TRY TEST 173
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CVKABB.P11 14-SEP-B1 16:31 ASHC INSTRUCTION TESTS
1284 004662 012737 052525 (00436 MoV #52525,34TEMP2 ;0 52525
1285 004670 005237 000440 INC HTEMPS *SHIFTED BY 16. IS EQUAL TO 52525 0, AND PS-0
1286 004674 000207 RTS 17
1287 004676 021527 000173 TST173: CMP (RS) ,#173 SIS IT TEST 1732
1288 004702 001014 BNE TsT174 *IF NOT THEN TRY TEST 174
1289 004704 012737 177777 000436 MOV #-1,38TEMP2 20 -1
1290 004712 005337 000440 DEC ANTEMP3 “SHIFTED BY 15.
1291 004716 012737 077777 000442 MOV 877777, 38 TEMPS
1292 004724 012737 100000 000444 MOV #100000,3#TEMPS : 1S EQUAL TO 77777 100000, AND PS=0
1293 004732 000207 RTS 17
1294 0064736 021527 000174 TST174: CMP (RS) , #174 ;1S 1T TEST 1742
1295 004740 001013 BNE TST175 “IF NOT THEN TRY TEST 175
1296 004742 012737 100000 000434 MOV #100000,3#TEMP1
1297 004750 005337 000436 DEC NTEMP? :100000 -2 SHIFTED BY 15.
1298 004754 005037 000444 CLR ANTEMPS *1S EQUAL TO 77777 0
1299 004760 012737 000002 000446 MOV #2.MTEMPE CAND PS=2
1300 004766 000207 RTS 17
1301 004770 021527 000175 IST175: CMP (RS) ,#175 :IS IT TEST 1752
1302 004774 001015 BNE ENT176 ‘IF NOT THEN TRY TEST 176
1303 004776 012737 177777 000434 MOV #-1,30TEMPI
1306 005006 005037 000436 CLR ANTEMP? =1 0
1705 005010 005237 000440 INC ANTEMP3 “SHIFTED BY 16.
1306 005014 005037 000442 CLR ANTEMPL *1S EQUAL TO 0 0
1307 005020 012737 000007 000446 MOV #7 .38 TEMP6 *AND PS=7
1308 005026 000207 RTS %
1309 005030 021527 000176 ENT176- CMP (RS) ,#176 :1S THE PROGRM ENTERING TEST 1767
1310 005034 001403 BEQ .+10
1311 005036 004767 012052 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUT INE
(2) ‘TEST NUMBER GOOFED
1§¥5 005042 000056 56
%%}2 005044 005726 TST (SP) + :RESTORE STACK POINTER
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1319 RN AR A AN R AR R AR AR R AR AR AN AR AR TR AN C O R C T RN Ca R a R o Rt annRee
(1) ;TEST:176 1 SHIFTED BY 8. = 400 PS = 0
(hH ,-tttttttttttltttttttttttttttttttttttttttttttttttttttnt.tttttttntttttt
1)
1) 005046 010701 TST176: SCOPE1
(1) 005050 012701 000000 MOV #DUMMY , 31 ;LOAD R1 WITH DUMMY
(1) 005054 012701 000001 MOV AN 2R3 JLOAD R1!1 WITH 1
(1) 005060 000241 (LC
(1) 005062 073127 000010 ASHC #8. .01 ;SHIFT R1,R1!1 BY 8.
(1) 005066 MFPS a#PSWORD ;SAVE PS
(2) 005066 106737 .WORD  106700!..C
(1) 005072 122737 000000 000432 (MPB #0,a#PSWORD ;1S THE PS 07?
(1) 005100 001403 BEQ .+10
(3) 005102 004767 012006 JSR PC,SHLT ;SEEN AN ERRCR, GO TO TH HALT ROUTINE
(3) ;THE PS IS NOT EQUAL TO O
(3) 005106 000057 57
(1) 005110 022701 000400 (MP #400,%1 ;IS THE RESULT 4007
(1) 005114 001403 BEQ .+10
(3) 005116 004767 011772 JSR S5C,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ;R1 IS NOT EQUAL TO 400
(3) 005122 000060 60
(1) 005126 021527 000176 CMP (R5) , 4176 ;1S STESIN = #1762
(1) 005130 001403 BEQ .+10 ;IF NOT THEN GO TO HLT
(3) 005132 004767 011756 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3 JTEST IS IN WRONG SEQUENCE
(3) 005136 000061 61
(1) 005140 005215 INC (RS)
(})
(1)
1316 IR R AR R P A AN A AN RN NP AR AR RN R AN AR N R AR AR ARARRRARNARAR O ENS
ap ;TEST:177 -1 SHIFTED BY 15. = 100000 PS = 1
(1) AR R N R R R R R R AN R RN A A RN N AR AR AR AR AR R R R AR RN A AN RN R AN RNS
(1)
(1) 005142 010701 TST177: SCOPE1
(1Y 005144 012703 000000 MOV #DUMMY X3 ;LOAD R3 WITH DUMMY
(1) 005150 012703 177777 Mov #-1,%311 ;LOAD R3!1 WITH -1
(1) 005156 000241 CLC
(1) 005156 073327 000017 ASHC #15.,23 ;SHIFT R3,R3!1 BY 15.
(1) 005162 MFPS a#PSWORD . SAVE PS
(2) 005162 106737 .WORD  106700!..(
(1) 005166 122737 000011 000432 (MPB #11,a#PSWORD ;1S THE PS 117
(1) 005174 001403 BEQ .+10
(3) 005176 004767 011712 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) :THE PS IS NOT EQUAL TO 11
(3) 005202 000062 62
(1) 005206 022703 100000 CMP #100000,%3 ;IS THE RESULT 1000007
(1) 005210 001403 BEQ .+10
(3) 005212 004767 011676 JSR PC,.SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(%) ;R3 IS NOT EQUAL TO 100000
(3) 005216 000063 63
(1) 005220 021527 000177 (mMP (RS) ., #177 ;1S STESTN = #1772
(1) 005224 001403 BEQ .10 JIF NOT THEN GO TO HLT
(3) 005226 004767 011662 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) JTEST IS IN WRONG SEQUENCE
(3) 005232 000064 64
(1) 005234 005215 INC (RS)
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(vkABB.P1 14~SEP-81 16:31 ASHC INSTRUCTION TESTS SEQ 0029
13 ttttttttttttttttttttttttttttttttttttttttttttttt-tt.tﬁtt-tn-tttttttnt

B = NANAN = =2 N NN~ =N b b et d ok b b b e es

P P P U I T o T P N S S — -
b d e ks = md et D\ g AN
— e e N N Yt S e N M e M e N e e e e e v v o e e DD N M N e e e e N o e e N M e v e N e e e e N e e e o

AN b =S NN =3 S A 4 =) — = —a 2

005236
005240
005242
005246
005252
005254
005260
005260
005264
205272
005274

005300
005302
005306
005310

005314
005316
005320
005324
005326

005332
005334

005336
005340
005344
005350
005352
005356
005356
005362
005370
005372

005376
005400
005404
005406

005412
005414
005420
005422

000065
022705
001403
004767

000066
010105
021527
001403
004767

000067
005215

000000
052525

000000

000000
011614

052525
011600

000200
011562

000000
020010

177763

000000
011516

000101
011502

000201
011466

000432

000432

ITEST:200

52525 SHIFTED BY 0 =

52525 PS O

;t.'.'.'."t'..""'."'tt....t...t.t'.".tttt.'t.t!"""""!.'."'

TS7200: SCOPE1
Mov

MoV
MOV
CLC

ASH(
MFPS
. WORD
CMPB

BEQ
JSR

65

cMp
BEQ
JSR

66

MOV
CMP
BEQ
JSR

67
INC

RS .R1
» UHH X5
#52525.%5'1
#0,%5
aA#PSWORD
106700!..C
#0.,34#PSWORD
+10

PC,SHLT

052325 %5
PC,SHLT
R1,RS
(R56 .#200
PC,SHLT

(RS)

;SAVE RS
:LOAD RS WITH DUMMY
:LOAD RS!1 WITH 52525

sSHIFT R5,R5!1 BY O
;SAVE PS

;1S THE PS 0?

JSEEN AN ERROR, GO TO TH HALT ROUTINE
;THE PS IS NOT EQUAL TO O

;1S THE RESULT 525252

;SEEN AN ERROR, GO TO_TH HALT ROUTINE
JR5 IS NOT EQUAL TO 52525

;JRESTORE RS

:1S STESTN = #200?

sIF NOT THEN GO TO HLT
JSEEN AN ERROR, GO TO TH HALT ROUTINE
JTEST IS IN WRONG SEQUENCE

2323222322232 23232342232223382322222322328220222242222023222222R2R0RR8RRRRR0R2]

TTEST:201

20010 SHIFTED BY -13.

- 101 PS -0

:"t"'"."t"ﬂ"t"t"t“'"Wﬂt"t"t"t"t"t"t"t"t"t"t"t"

TST201:

MoV
CLC

ASH(
MFPS
. WORD
(MPB

BEQ
JSR

70

cMP
BEQ
JSR

71

cMp
BEQ
JSR

SCOPE1
MOV

#DUMMY , 21
#20010,%1.1

#-13.,%1
axpsuono
106700 .

#0, gdPSUORD

PC $SHLT

0101 %1
+10°
PC $HLT

(RSé .#201
PC,SHLT

:LOAD R1 WITH DUMMY
;LOAD R1!1 WITH 20010

;SHIFT R1,R1.1 BY -13.
JSAVE PS

;1S THE PS 0?

;SEEN AN ERROR, GO TO TH HALT ROUTINE
;THE PS IS NOT EQUAL TO 0

;1S THE RESULT 1012

;SEEN AN ERROR, GO TO TH HALT ROUTINE
;RT IS NOT EQUAL TO 101

;1S STESTN = #2012

;IF NOT THEN GO TO HLT
;SEEN AN ERROR, GO TO TH HALT ROUTINE
JTEST IS IN WRONG SEQUENCE
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(3) 005626 000072
H ; 005430 005215
(H

16:32 PAGE 4-25

ASHC INSTRUCTION TESTS

72
INC

(R5)

»&a 0030
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(VKABB.P11 14-SEP=-81 16: 31 ASHC INSTRUCTION TESTS SEQ 0031

1319 IR AR RN R A R R N AR RN A RN AN R R A RN T TR AR E RN TRt I R vesavenas
(1) JTEST:202 ~1 SHIFTED BY 16. = 0 PS = N
(1) AR AARA LR ARttt sttt sl Rl ERRRR
M)
(1) 005432 010701 TST202: SCOPE1
(1) 005436 012703 000000 MOV #DUMMY %3 ;LOAD R3 WITH DUMMY
(1) 005440 012703 177777 MoV #-1,23.1 JLOAD R3!1 WITH -1
(1) 005444 000241 cLC
(1) 005446 073327 000020 ASH( #16.,%3 ;SHIFT R3,R3.1 BY 16.
(1) 005452 MFPS a#PSWORD s SAVE PS
(2) 005652 106737 .WORD  106700!..C
(') 005456 122737 000011 000432 (MPB #11_3#PSWORD ;1S THE PS 112
(1) 005664 001403 BEQ +10
(3) 005466 004767 011422 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ;THE PS IS NOT EQUAL TO 11
(3) 005472 000073 73
(1) 005676 022703 000000 (MP #0,%3 ;IS THE RESULT 0?
(1) 005500 001403 BEQ .+10
(3) 005502 004767 011406 JSR OC,$HLT ;SEEN AN ERROR, GO TQ TH HALT ROUTINE
(3) ;R3 IS NOT EQUAL TO O
(3) 005506 000074 74
(1) 005510 021527 000202 CMP (R5) , 4202 ;IS STESTN - #202?
(1) 005514 001403 BEQ .+10 ;IF NOT THEN GO TO HLT
(3) 005516 004767 011372 JSR PC,SHLT ;SEEN AN ERROR, GO TGO TH HALT ROUTINE
(3) ;TEST IS IN WRONG SEQUENCE
(3) 005522 000075 75
(1) 005524 005215 INC (RS)
(1)
(1)
1320 RN R AN RN RN AN AN R AR R A AN R AN AN R N AN R R AN R RN R RN RN RN AR RN RO TR RN
(1) ;TEST: 203 1 SHIFTED BY -1 = 100000 PS -1
(1) MAASAAAASAASESSEASAt SRl Al Rt Attt Rttt Rl dl ittt tltlln il l sl
N
(1) 005526 010701 TST203: SCOPE1
(1 005530 G10501 MoV R5,R1 :SAVE RS
(1) 005532 012705 000000 MoV #DUMMY X5 JLOAD RS WITH DuMMY
(1) 005536 012705 000001 MOV 1,351 JLOAD RS!1 WITH 1
(1) 005542 000241 CLC
‘1) 005544 073527 177777 ASH( #-1,%5 JSHIFT R5,RS!1 BY -1
(1) 005550 MFPS S#PSWORD ; SAVE PS
(2) 005550 106737 .WORD  106700!..C
(1) 005556 122737 000001 0060632 (MPB #1,a#PSWORD ;IS THE PS 1?
(1) 005562 001403 BEQ .+10
(3) 005564 004767 011324 JSR PC,SHLT ;JSEEN AN ERROR, GO TO TH HALT ROUTINE
(3 JTHE PS IS NOT EQUAL T0 1
(3) 005570 000076 76
(1) 005572 022705 100000 CMP #100000,%5 ;1S THE RESULT 100000?
(1) 005576 001403 BEQ .+10
(3) 005600 004767 011310 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ) ;RS IS NOT EQUAL TO 100000
(%) 005604 000077 77
(1) 005606 010105 MOV R1_R5 JRESTORE RS
(1) 005610 021527 000203 (MP (R5),#203 ;IS STESTN = #2032
(1) 005614 001403 BEQ .+10 21F NOT THEN GO TO HLT
31 005616 004767 011272 JSR PC,SHLT JSEEN AN ERROR, GO TO TH HALT ROUTINE
(3 ;TEST IS IN WRONG SEQUENCE
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"vKABB.P11 14=-SEP=-81 16:31 ASHC INSTRUCTION TESTS
005622 000100 100
INC (RS)

(3
H; 005624 005215
(*)
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<L ABB. P 14-SEP=-B1 16: 37 ASHC INSTRUCTJON TESTS EQ 0033
1T NN AN AN AR A AN NN NN NAN AR AR AR RO AN NANANRAC ORI Rraarnrenenee
1 STEST:204 125252 SHIFTED BY =16. = 125252 PS = 11
1 AL R A R A A A Al R A A A R AR A A ARl
J
¢ty 005626 010701 TST204: SCOPE!
‘1) 005630 012701 000000 MOV #DUMMY 21 ;LOAD R1 WITH DUMMY
1) 005634 012701 125252 MOV #125252,%1.1 JLOAD R1.1 WITH 125252
') 005660 000241 (LC
V) 005642 073127 177760 ASH( #-16.,%1 JSHIFT R1,R1.1 BY -16.
1) 005646 MFFS a#PSWORD s SAVE PS
t2) 005646 106757 .WORD  106700!..C
1) 005652 122737 000011 000432 (MPB #11,34PSWORD ;15 THE PS 112
‘1) 005660 001403 BEQ .+10
(§) 005662 004767 011226 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
r3) ;THE PS IS NOT EQUAL TO 1
(3) 005666 000°01 101
(1) 005670 022701 125252 (MP #125252. %01 ;IS THE RESULT 125252?
1) 005674 001403 BEQ .+10
(3) 005676 004767 011212 JSR °C,$HLT ;SEEN AN ERROR, GO TO_TH HALT ROUTINE
(3) ;R1 1S NOT EQUAL TO 125252
(3) 005702 000102 102
(1) 005706 021527 000206 (MP (R5),#206 ;IS STESIN = #2047
(1) 005710 001403 BEQ .+10 .JF NOT THEN GO TO HLT
(3) 005712 004767 011176 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) JTEST IS IN WRONG SEQUENCE
(3) 005716 000103 103
(1) 005720 005215 INC (RS)
(1
(1)
1322 AL AL S S AR AR ARttt lintillldtlllllal
(1 s TEST: 205 125252 125252 SHIFTED BY 21. = 52500 000000 PSs 3
1) NN AR AN A A A A A AN N AN A AN N TR A AN RN AR RN AR NN R AR AN AN NAR AN NN NN,
N
1 005722 010701 TST205: SCOPE1T
(1) 005726 012702 125252 MoV #125252,%2 ;LOAD R2 WITH 125252
(1) 005730 012703 125252 Mov #125252,%2'1 ;LOAD R2!1 WITH 125252
(1) 005734 000241 (LC
(1) 005736 073227 000025 ASH( #21..,%2 JSHIFT R2,R2!1 BY 21.
(1) 005742 MFPS a#PSWORD ;SAVE PS
2) 005742 106737 .WORD  106700!..(C
(1) 005746 122737 000003 000432 (MPB #3,34PSWORD ;1S THE PS 3?
(1) 005756 001403 BEQ .+10
(3) 005756 004767 011132 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ;THE PS IS NOT EQUAL TO 3
(3) 005762 000104 104
(1) 005766 022702 052500 (MP #52500,%2 ;1S THE RESULT 52500?
t1) 005770 001403 BEQ .+10
(3) 005772 004767 011116 JSR PC,SHLT ;SEEN AN ERROR, GO TO_TH HALT ROUTINE
(3) ;R2 IS NOT EQUAL TO 52500
(3) 005776 000105 105
(1) 006000 022703 000000 (MP #000000,%2.1 ;IS THE RESULT 000000?
1) 006004 001403 BEQ .+10
(3) 006006 004767 011102 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3 ;R2!1 IS NOT EQUAL TO 000000
3) 006012 000106 106

006C14 021527 000205 (MP (R5),#205 ;1S STESTN = #2052

—



LARA MATY 1 30(1046) 14-SEP-81 16:32 PAGE 4-29

AABB.PYY  14-SEP-81 16:31 ASHC INSTRUCTJON TESTS SEQ 0034
(13 006020 001403 BEQ .+10 J1F NOT THEN GO TO MLT
'3, 006022 004767 011066 JSR PCSHLT :SEEN AN ERROR, GO T0 TH WALT ROUTINE
3) TEST IS IN WRONG SEQUENCE
3, 006026 000107 107
() 006030 005215 INC (RS)
(1)

1323

1326 006032 012702 177771 mov  #-7.%2

1325 006036 012703 000454 mov  #51.13

1326 006042 012704 000436 MOV #52.%%
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R ABE. P11 1,=5EP=-81 16:31 ASHC INSTRUCTION TESTS SEQ 0035

1 3(8 ;..t..'...'.....'."'..tt.t..'.....tttt.....'......'.t."....t't...!'

1 ' STEST: 206 125252 125252 SHIFTED BY S1 = 177525 52525 PS = 10

1 ) ".t.....'Q't...t....Qt.'..'t"""tt..'.t'.tt...'.'...'."..t..t.tttt
(1) 006046 010701 151206: SCOPE1
1) 006050 012700 125252 MOV #125252.,%0 LOAD RO WITH 125252

(1) 006056 012701 125252 MOV #125252.%0.1 :LOAD no'1 WITH 125252

1) 006060 000241 ° [{s
(1) 006062 073067 172366 ASHC  §1.%0 :SHIFT RO.RO'1 BY §1

(1) 006066 MFPS aﬁpsuono *SAVE PS
(2) 006066 106737 .WORD  106700'.
(1) 006072 122737 000010 000432 CMPB #10 aopsuoao ;1S THE PS 107
(1) 006100 001403 BEQ .+10
(3) 006102 004767 011006 JSR PC,SHLT ;SEEN AN ERROR., GO TO TH HAI T ROUTINE
(3) *THE PS 1S NOT EQUAL TO 10
(3) 006106 000110 110
(1) 006110 022700 177525 CMP #177525,%0 ;1S THE RESULT 1775252
(1) 006114 001403 BEQ .+10
(3) 006116 004767 010772 JSR oC,$HL T :SEEN AN ERROR, GO TO TH HALT ROUTINE
3) ‘RO IS NOT EQUAL TO 177525
(3) 006122 000111 m
(1) 006124 022701 052525 CMP #52525,%0'1 ;1S THE RESULT 525252
(1) 006130 001403 BEQ L+10
(1) 006132 1$:
(3) 006132 004767 010756 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) *RO'1 1S NOT EQUAL TO 52525 OR INCORRECT SEQUENCE
(3) 006136 000112 112
(1) 006140 021527 000206 CMP (RS) ,#206 ;IS THE STESTN = #206?
(1) 006144 001372 BNE 13 ;IF NOT THEN GO TO HLT ABOVE
(1) 006146 005215 INC (KS)
(1)
(1)

1329 NN AR AN AN R RN AN AN AR R R AN AR RN A AN ANAN RO R R R ARARRRRNN G Gy
(1 TTEST:207 125252 125252 SHIFTED BY @S2 = 177525 52525 PS - 10
(] ) .'...ttt.tttttt't'tQt'tt..t.'tt'tt""tttt't'tttttt.t"tttt"t'ttttttt
(1)

(1) 006150 010701 1ST207: SCOPE1

(1) 006152 012700 125252 MOV #125252.%0 :LOAD RO WITH 125252

(1) 006156 012701 125252 MOV #125252.%0!1 ;LOAD RO'1 WITH 125252

(1) 006162 000241 cLC

(1) 006164 073077 172266 ASHC  @52.%0 ;SHIFT RO,RO'1 BY @S2

(1) 006170 MFPS  aA#PSWORD *SAVE PS

(2) 006170 106737 .WORD  106700'..C

(1) 006174 122737 000010 000432 CtPB #10,a#PSWORD ;IS THE PS 10?

(1) 006202 001403 BEQ +10

(3) 006204 004767 010704 JSR PC SHLT ;SEEN AN ERROR, GO TO TH hALT ROUTINE
3) *THE PS 1S NOT EQUAL TO 10

(3) 006210 000113 113

(1) 006212 022700 177525 CMP #177525,%0 ;1S THE RESULT 1775257

(1) 006216 001403 BEQ +10

(3) 006220 004767 010670 JSR PC,SHLT :SEEN AN ERROR. GO TO TH HALT ROUTINE
(3) ‘RO IS NOT EQUAL TO 177525

(3) 006224 000114 114

(1) 006226 022701 052525 CMP #52525,%0 1 ;1S THE RESULT 52525?

(1) 006232 001403 BEQ L+10

(1) 006234 1$:
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"VKABB.P11 14-SEP=-81 16:31 ASHC INSTRUCTION TESTS SEQ 0036
(%) 006236 004767 J10654 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3 JRO'T IS NOT EQUAL TO 52525 OR INCORRECT SEQUENCE
(3) 006240 000115 118
(1) 006242 021527 000207 (MP (R5) ,#207 ;1S THE STESTN = #207?
(1) 006246 001372 BNE 13 ;IF NOT THEN GO TO HLT ABOVE
{;)) 006250 005215 INC (R5)
(1)
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(VKABB.P11 14-SEP-81 16:31 ASHC INSTRUCTION TESTS SEQ 0037

1330 "tttttttttttttttttttttttttttttt.ttttttt.tttttttttttttttt-t't.tttttt.t
(1 STEST:210 125252 125252 SHIFTED BY a#S1 = 177525 52525 PS = 10
(1 ;ttt.tttttttt..tt"ltttttt.ttttt.ttttttt'"tttt.ttttttttt.tttttttt't'
(1

(1) 006252 010701 1ST210: SCOPE!

(1) 006256 012700 125252 MOY #125252,%0 LOAD RO WITH 125252

(17 006260 012701 125252 MOV #125252.%0"1 :LOAD RO'1 WITH 125252

(1) 006264 000241 cLe

(1) 006266 073037 000454 ASHC  a#S1,%0 ;SHIFT RO,RO'1 BY a#S1

1) 006272 MFPS acpsuoao :SAVE PS

2) 006272 106737 LWORD  106700'.

1) 006276 122737 00001C 000432 CMPB #10 alpsuoao ;IS THE PS 10?

1) 006304 001403 BEQ +10

3) 006306 004767 010602 JSR pc SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE

3 “THE PS 1S NOT EQUAL TO 10

3) 006312 000116 116

1) 006314 022700 177525 CMP #177525,%0 ;1S THE RESULT 1775252

1) 006320 001403 BEQ +10

3) 006322 004767 010566 JSR oC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE

3 ‘RO IS NOT EQUAL TO 177525

3) 006326 000117 117

1) 006330 022701 052525 CMP #52525.%0.1 ;IS THE RESULT 525257

1) 00633¢ 001403 BEQ .+10

1 006336 1%:

3) 006336 004767 010552 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE

3 *RO'T IS NOT EQUAL TO 52525 OR INCORRECT SEQUENCE

3) 006362 000120 120

1) 006344 021527 000210 CMP (RS) ,#210 ;IS THE STESTN = #210?

1) 006350 001372 BNE 18 ;1F NOT THEN GO TO HLT ABOVE

1) 006352 005215 INC (RS)

~. ~— ~— ——t
- N N N N S W N N [N S N N e e N e o N N o N e e N e e e e M M M e e s e e N e - e

s iy ¥ B s T Sy

1
1 3 tt.tttttt'ttt...tt'tt'tt't.t'ttttttttt't....ttttt't"'tt.ttttttttttt
1 STEST: 211 125252 125252 SHIFTED BY (3) = 177525 52525 PS = 10
1 ;t"'.'tt"t't"t..l'tttt't"t."tt"tt't'tt'ttttttt'tt't'tttttttttt'
1
1) 006354 010701 TST211: SCOPE1
1) 006356 012700 125252 MOV #125252.,%0 :LOAD RO WITH 125252
1) 006362 012701 125252 MOV #125252.%0'1  :LOAD RO'1 WITH 125252
1) 006366 000241 cLC
1) 006370 073013 ASHC  (3),%0 ;SHIFT RO.RO'1 BY (3)
1) 006372 - MFPS aapsuono ‘SAVE PS
2) 006372 106737 .WORD  106700°.
1) 006376 122737 000010 000432 cMPB #10 appsuono ;1S THE PS 10?
1) 0064064 001403 BEQ +10
3) 0C J6 004767 010502 JSR pc $HLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
3 “THE PS IS NOT EQUAL TO 10
3) 006412 000121 121
1) 006616 022700 177525 CMP #177525,%0 ;1S THE RESULT 1775257
1) 006420 001403 BEQ +10
3) 006422 004767 010466 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
3 RO IS NOT EQUAL TO 177525
3) 006426 000122 122
1) 006430 022701 052525 CMP #52525.%0'1 ;1S THE RESULT 525252
1) 006434 001403 BEQ 410
1Y 006436 1$:
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(3) 006436 0064767 010452 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(35 ;RO!T IS NOT EQUAL TO 52525 OR INCORRELT SEQUENCE
(3) 006442 000123 123
(1) 006444 021527 000211 CMP (RS) 4211 ;1S THE STESTN = #2112
(1) 006450 001372 8NE 18 IF NOT THEN GO TO HLT ABOVE
((113 006452 005215 INC (RS)
(N
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CVKABB.P11 14-SEP-81 16:31 ASHC INSTRUCTION TESTS SEQ 0039

1332 R A AR R LR L R AL L LA LLL LA LA
(m ;TEST: 212 125252 125252 SHIFTED BY (3)¢+ = 177525 52525 PS = 10
1) AR AN R R AN AR R R R RN NN N AR R RN R AR R R RN AL AR RANN TR
1)

(1) 006454 010701 TST212: SCOPE1

(1) 006456 012700 125252 MoV 125252.%0 LOAD RO WITH 125252
(1) 006462 012701 125252 Mov #125252 X011 ;LOAD R0'1 WITH 125252

(1) 006466 000241 CLC

(1) 006470 073023 ASHC (3)+,%0 ;SHIFT RO,RO!1 BY (3)+

(') 006472 MFPS a#PSWORD :SAVE PS

(2) 006472 106737 .WORD  106700!.

(1) 006476 122737 000010 000432 CMPB #10 alPSUORD ;IS THE PS 10?

(1) 006504 001403 BEQ .+10

(3) 006506 004767 010402 JSR PCLSHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ;THE PS IS NOT EQUAL TO 10
(3) 006512 000124 124

(1) 006514 022700 177525 CMP #177525.%0 ;1S THE RESULT 177525?

(1) 006520 001403 BEQ .+10

(3) 006522 004767 010366 JSR PC,$HLT sSEEN AN ERROR, GO TO_TH HALT ROUTINE
(%) ‘RO IS NOT EQUAL TO 177525
(3v 006526 000125 125
(1) 006530 022701 052525 CMP #52525,%0.1 ;1S THE RESULT 52525?

(1) 006534 001403 BEQ .10

(1) 006536 18:

(3) 006536 004767 010352 JSR PC,SHLT JSEEN AN ERROR, GO TO TH HALT ROUTINE
(3) *ROT1 IS NOT EQUAL TO 52525 OR INCORRECT SEQUENCE
(3) 006542 000126 ) 126
(1) 006544 021527 000212 cMP (R5) ,#212 ;IS THE STESTN = #212?

(1) 006550 001372 8NE 1% ;IF NOT THEN GO TO HLT ABOVE
(1) 006552 005215 INC (R5)

(})

(1)

1333 t'.tttttttttttttttttttttttttttttttttttttttttltttttttttttttttttttttttt
(1) STEST:213 125252 125252 SHIFTED BY -(3) = 177525 52525 PS = 10
N .'ttttttttttttttttttttttttttttttttttttt*ttitttttttt*tt*ttttttt.ttttttt
Q)

(1) 00655 010701 TST213: SCOPE1T

(1) 006556 012700 125252 Mov #125252.%0 LOAD RO WITH 125252

(1) 006562 012701 125252 MoV #125252,%0!1 ;LOAD RO'1 WITH 125252

(1) 006566 000241 CLC

(1) 006570 073043 ASH( -(3).,%0 ;SHIFT RO,RO!1 BY ~(3)

(1) 006572 MFPS axpsuono ;SAVE PS

(2) 006572 106737 .WORD  106700!.

(1) 006576 122737 000010 000432 CMPB #10 alPSUORD ;1S THE PS 10?

(1) 006604 001403 BEQ .+10

(3) 006606 004767 010302 JSR PC SHLT sSEEN AN ERROR, GO TO TH HALT ROUTINE
t3) ;THE PS IS NOT EQUAL TO 10

(3) 006612 000127 127

(1) 006614 022700 177525 CMP #177525.%0 ;1S THE RESULT 177525?

(1) 006620 001403 BEQ +10

(3) 006622 004767 010266 JSR PCLSHLT ;SEEN AN ERROR, GO TO_TH HALT ROUTINE
(3) RO IS NOT EQUAL TO 177525

(3) 006626 000130 130

(1) 006630 022701 052525 CMP #52525,%0!1 ;IS THE RESULT 52525?

(1) 006634 001403 BEQ .+10

(1) 006636 18:
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(3) 006536 004767 010252 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) sRO.1 IS NOT EQUAL TO 52525 OR INCORRECT SEQUENCE
(3) 006642 000131 13
(1) 006644 021527 000213 CMP (RS) ,#213% ;1S THE STESTN = #2132
(1) 006650 001372 BNE 1 :1F NOT THEN GO TO HLT ABOVE
((” 006652 005215 INC (RS)
(1)
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{VKABB.P11 14=SEP-81 16:31 ASHC INSTRUCTION TESTS

1334 tttt"ttttttttt't‘tttttttttttttttt'ttttttttttttttttt.ttl.ttttttttttt
(1) LTEST:214 125252 125252 SHIFTED BY 2(4) = 177252 125252 PS = 11
f1) '-t'tttt"tttt'tt"'tttt't't't'i't'tttt'tttttttttt'ttttttt"'t'ttttttt
(1)
(1) 006654 010701 TST214: SCOPE1
(1) 006656 012700 125252 MOV #125252.%0 LOAD RO WITH 125252
(1) 006662 012701 125252 MoV #125252.%0!1 LOAD R0'1 WITH 125?52
(1) 006666 000241 CcLC
(1) 006670 073064 000002 ASHC  2(4),%0 :SHIFT RO,R0!1 BY 2(4)
(1> 006674 MFPS  a#PSWORD *SAVE PS
(2) 006674 106737 .WORD  106700!..C
(1) 006700 122737 000011 000432 CMPB  #11.3#PSWORD ;IS THE PS 112
(1) 006706 001403 BEQ 410

(3) 006710 004767 010200 JSR PC,SHLT ;SEEN AN ERROR, G0 TD TH HALT ROUTINE
(3) ;THE PS IS NOT EQUAL TO 11
(3) 006714 000132 132

(1) 006716 022700 177252 CMP 4177252 20 ;1S THE RESULT 1772522
(1) 006722 001403 BEQ +10

(3) 006724 004767 010164 JSR Dc SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ‘RO IS NOT EQUAL TO 177252
(3) 006730 000133 133

(1) 006732 022701 125252 CMP #125252,%0'1 ;1S THE RESULT 1252527
(1) 006736 001403 BEQ .+10

(1) 006740 18:

(3) 006740 004767 010150 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUIINE
(3) ‘ROT1 IS NOT EQUAL TO 125252 OR INCORRECT SEQUENCE
(3) 006744 000134 134

(1) 006746 021527 000214 CMP (RS) ,#214 ;1S THE STESTN = #2142
(1) 006752 001372 BNE 1 :1F NOT THEN GO TO HLT ABOVE
(1) 006754 005215 INC (R5)

g

1335 "tt'tt'ttt'ttt't"'ttttt'ttttQttttt'tttt'tttttt'ttttt.tttttt'ttttttt'
‘1) TTEST:215 125252 125252 SHIFTED BY @{4) = 177525 52525 PS = 10
(1‘ ;'ttt'tttttttt*tttttttttttt'ttttttttttttttt'tt't't'tttttttttt!'ttt't'
1)
(1) 006756 010701 TST215: SCOPE?
(1) 006760 012700 125252 MOV #125252.%0 LOAD RO WITH 125252
(1) 006764 012701 125252 MOV #125252.%0"1 ;LOAD RO'1 WITH 125252
(1) 006770 000241 cLC

(1) 006772 073074 000000 ASHC a(4),%0 :SHIFT RO,RO'1 BY a(4)
(1Y 006776 MFPS alPSUORD :SAVE PS
(2) 006776 106737 .WORD  106700'.
(1) 007002 *22737 000010 000432 ¢MPB #10 acpsuono ;IS THE PS 102
(1Y 007010 001403 BEQ +10

(3) 007012 004767 010076 JSR PC SHLT ~SEEN AN ERROR. GO TO TH HALT ROUTINE
(3) “THE PS 1S NOT EQUAL TO 10
(3) 007016 000135 135
(1) 007020 022700 177525 CMP #177525,%0 ;1S THE RESULT 1775257
(1) 007024 001403 BEQ .+10
(3) 007028 004767 010062 JSR PCLSHLT -SEEN AN ERROR. GO TO TH HALT ROUTINE
(3 RO 1S NOT EOUAL TO 177525
(3) 007032 000136 136
(1) 007036 022701 052525 CMP #52525,%0.1 ;1S THE RESULT 525252
(1) 007040 001403 BEQ .+10
(1) 007042 1%:
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007042 004767 010066 JSR PC.SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
“RO'1 IS NOT EQUAL TO 52525 OR INCORRECT SEQUENCE

007046 000137 137
007050 021527 000215 (MP (RS) 4215 ;1S THE STESTN = #2152
007054 001372 BNE 18 :I1F NOT THEN GO TO HLT ABOVE
007056 065215 INC (R5)

L N N e e
— B ok 2 NN

et o e e s



DvKABA MA(Y"1 30(1046) 14=SEP-81 16:32 PAGE 4-38

(vKABB.P11 14=-SEP=-81 16:31 ASHC INSTRUCTION TESTS 5€Q 0043

1336 ttttttttttttttttttttttttttttttttttttttttttttttttttttttt-t'tttttttttt
1) LTEST:216 125252 125252 SHIFTED BY @(4)+ = 177525 52525 PS = 10
11) ‘-tttttt'.tttttlttttttttttttttttttttttttt'.tttttttttttttttttt.t.tt-tt!
oy
(1) 007060 010701 TST216: SCOPET
(1) 007062 012700 125252 MOV #125252.%0 LOAD RO WITH 125252
(1) 007066 012701 125252 MOV #125252.%0'1 ;LOAD R0‘1 WITH 125252
(1) 007072 000241 cLe
(1) 007074 073034 ASH(C a(4)+,%0 JSHIFT RO,RO!'1 BY @(4)+
(1) 007076 MFPS aﬁPSUORD :SAVE PS
(2) 00707€ 106737 .WORD  106700!.

(1) 002102 122737 000010 000432 C(MPB  #10 acpsuono ;1S THE PS 10?

(1) 007110 001403 BEQ .+10

(3) 007112 004767 007776 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) “THE PS IS NOT EQUAL TO 10

(3) 007116 000140 140

(1) 007120 022700 177525 CMP #177525,%0 ;1S THE RESULT 1775252

(1) 007124 001403 BEQ +10

(3) 007126 004767 007762 JSR °C SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ‘RO IS NOT EQUAL TO 177525

(3) 007132 000141 141

(1) 007134 022701 052525 CMP #52525,%0.1 ;1S THE RESULT 525252

(1) 007140 001403 BEQ .+10

(1) 007142 1%:

(3) 007142 004767 007746 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ‘RO'1 IS NOT EQUAL TO 52525 OR INCORRECT SEQUENCE
(3) 007146 000142 142

(1) 007150 021527 000216 (mp (RS) ,#216 ;1S THE STESTN = #216?

(1) 007154 001372 BNE 1 :1F NOT THEN GO TO HLT ABOVE

(1) 007156 005215 INC (RS)

()

(

1537 "ttttttttttttt'tttttttttt'ttt'tttiQttttt!tttt'tttttttttttttttttttlttt
(1) STEST:217 125252 125252 SHIFTED BY @-(4) = 177525 52525 PS - 10
(1\ :Q't"tttt'ttt'"t'tt"ttttt"t't"ttttt'tttt'tt't'tt'ttttt"tttttttt
1)

(1) 007160 010701 1ST217: SCOPE1

(1) 007162 012700 125252 MOV #125252.%0 LOAD RO WITH 125252

(1) 007166 012701 125252 MoV #125252.%0!1 LOAD no'1 WITH 125252

(1) 007172 000241 cLC

(1) 007174 073054 ASHC  a-(4),%0 sSHIFT RO,RO'1 BY @-(4)

(1) 007176 MFPS QIPSUORD :SAVE PS

(2) 007176 106737 .WORD  106700'.

(1) 007202 122737 000010 000432 (MPB 410 a#Psuono ;1S THE PS 10?

(1) 007210 001403 BEQ .+10

(3) 007212 004767 007676 JSR PC SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) :THE PS 1S NOT EQUAL T0 10

(3) 007216 000143 143

(1) 007220 022700 177525 CMP c177szs 20 ;1S THE RESULT 1775257

(1) 007224 001403 BEQ +10

(3) 007226 004767 007662 JSR Pc SHLT ~SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ‘RO IS NOT EQUAL TO 177525

(3) 007232 000144 144

(1) 007234 022701 052525 CMP #52525,%0!1 ;1S THE RESULT 525252

\1; 007240 001403 BEQ .+10

(1

007242 1%:
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MACY 1 30(1046)
PN

007262

007246
007250
007254
007256

007260
007262
007266
007272
007272
007276
007304
007306

007312
007314
007320
007322

007326
007330
007334
007336
007336

007342
007344
007350
007352

007354
007356

14-SEP-81 16:32 PAGE 4-39
ASHC INSTRUCTION TESTS

14-SEP-81 16:31

004767

000145

021527
001372
005215

004767

000146
022700
001403
004767

000147
022701
001403

004767

000150
021527
001372
005215

007646

000217

000001
000000

000004
007602

000000
007566

000000

007552

000220

177777

JSR

145
CMP
BNE
INC

PCLSHLT § ?N ERROR, GO TO TH HALT ROUTINE

;SE
‘RO'T IS NOT EQUAL TO 52525 OR INCORRECT SEQUENCE

(RS) , 4217 ;1S THE STESTN = #2172
}:5) ;IF NOT THEN GO TO HLT ABOVE

:tttt.'..ti....*.tttwtt.t.tttttt

; MUL INSTRUCTION TESTS

;ttl.............t.tt....tt.t.tt

ittttttttttttt-ttttttttttttttttttt..tttttttt.tt.tt..-tttttt-.nnttttt

TTEST: 220

MUL 1«40 =00 PS =

;.Q.Qt.l.ttt.tttttt.ttttttt...ttttt.ttttt..tt....ttt...t‘t.tt.‘t‘...t

TST220: SCOPE
MoV

MUL
MFPS
.WORD
000432 (MPB
BEQ
JSR

146
(MP
BEQ
JSR

147
CMP
BEQ

JSR

150
(MP
BNE
INC

1%:

#1,%0 JLOAD MULTIPLICAND WITH 1

#0,%0 JMULTIPLY 1 « %0

a#PSWORD ;SAVE PS

106700!..C

léiglPSUORD ;IS PS =

.+

PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
;PS IS WRONG

noigo ;1S HIGH ORDER - 0

4

PC,S$HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
;HIGH ORDER [S WRONG

#0,%01 ;1S LOW ORDER - 0

.+10

PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
;LOW ORDER 1S WRONG OR WRONG SEQUENCE

(RS) ,#220

}§5) ;IF IN WRONG SEQUENCE GO TO THE HLT ABOVE

R 2323223222322 22222223232 3232022322823 2223222223223 2002 RRRRRRRRl

TTEST: 221

MUL -1« =-1-1 PS = 10

:.ttttt...ttttttt.tttttt!t.tttttttttttttttttittttttt'ii"ittt'ttt.ti'

TST221: SCOPE
MOV

#-1,%0 ;LOAD MULTIPLICAND WITH =1

SEQ 0044
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fvKABB.P1 14-SEP=81 16:31 MUL INSTRUCTIOIN TESTS SEQ VD65

1) 007362 070027 000001 MUL #1,%0 SMULTIPLY =1 + #1
1 007366 MFPS a#PSWORD . SAVE PS
2) 007366 106737 WORD  106700°'..C
1) 007372 122737 000010 000432 CMP8  #10,3#PSWORD ;1S PS = 10
1) 067400 001403 BEQ L+10
3) 007402 004767 007506 JSR PC.SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
3 *PS IS WRONG
3) 007406 000151 151
1) 007610 022700 177777 CMP #-1,%0 ;1S HIGH ORDER = =1
1 007414 001403 BEQ .+10
3 007416 004767 007472 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
3 "HIGH ORDER IS WRONG
3) 0076422 000152 152
1) 007424 022701 177777 CMP #-1,20'1 ;1S LOW ORDER = -1
1) 007430 001403 BEQ 410
1) 007432 18:
3 007432 004767 007456 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
3 *LOW ORDER IS WRONG OR WRONG SEQUENCE
3) 007436 000153 153
1) 007440 021527 000221 CMP (RS) ,#221
1 007444 001372 BNE 1% :1F IN WRONG SEQUENCE GO TO THE HLT ABOVE
1) 007446 005215 INC (RS)

] 4 ;tttt'llttttttttttttt'tttttltitttitttttt'tttttttttt"tt.tttt'tt'tt!tt
! STEST:222 MUL 2«42 =06 PS - 0

;tttttttttttttttttttittttttttttttQttttttt.tt'ttttttttttttttt.t.'ttllt

S o e e e T o e I T T T N S NS
v et e QD N N N e e M N e M i e N e N N e e e e e N S e e S e N N N e e S e N i e N N e e N e N e

1
1 007450 010701 vST222: SCOPE
1) 0076452 012702 000002 MOV #2,%2 ;LOAD MULTIPLICAND WITH 2
1) 007456 070227 000002 MUL #2,%2 JMULTIPLY 2 « #2
1 007462 MFPS a#PSWORD ;SAVE PS
2) 007462 106737 .WORD  106700!..C
1) 007466 122737 000000 000432 (MPB #0,34#PSWORD JISPS =0
1 007474 001403 BEQ .+10
3) 007476 004767 007412 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
3 ;PS 1S WRONG
3) 007502 000154 154
1) 007504 022702 000000 (MP #0,22 ;1S HIGH ORDER = 0
1) 007510 001403 BEQ .+10
3) 007512 004767 007376 JSR PC.SHLY JSEEN AN ERROR, GO TO TH HALT ROUTINE
3 JHIGH ORDER IS WRONG
3) 007516 000155 155
1) 007520 022703 000004 (MP #e, %321 ;1S LOW ORDER - &
1) 007526 001403 BEQ .+10
1) 007526 1%:
3) 007526 004767 007362 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
3 ;LOW ORDER IS WRONG OR WRONG SEQUENCE
3) 007532 000156 156
1) 007534 021527 000222 CMP (RS) ,#222
1 007540 001372 BNE 18 ;IF IN WRONG SEQUENCE GO TO THE HLT ABOVE
1) 007542 005215 INC (RS)
1 4 :tttttttttttttttttttltl'ttttttttt!ttttttttttttttttttltttttttt-ttttttt
1 ;TEST: 223 MUL 1000 ~ #4200 10 PS 1
1 ;ttttttttttttttttttttttttttttttttttttttttttnttt!ntnt!ttn.tttttttntt'-
1
1) 007544 010701 TS1223: SCOPE
1 007546 010501 Mov R5,R1 ; SAVE RS
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(1) 007550 012704 001000 MOV #1000, %4 sLOAD MULTIPLICAND WITH 1000
(1) 007554 0706427 000200 MUL #200, %4 TMULTIPLY 1000 » #200
(1) 007560 MFPS a#PSWORD :SAVE PS
(2) 007560 106737 LMORD  106700!..C
(1) 007564 122737 000901 000432 CMPB #1,3#PSWORD ;IS PS =1
(1) 007572 001403 BEQ .+10
(3) 007576 004767 (07314 JSR PC,SHLT ;SEEN AN ERROR. GO TO TH HALT ROUTINE
(3) *PS 1S WRONG
(3) 007600 000157 157
(7) 007602 022704 000001 CMP 21, %6 ;IS HIGH ORDER = 1
(1) 007606 001403 BEQ .+10
(3) 007610 004767 007300 JSR PC.BHLT ;SEEN AN ERROR, GO TO TH HAL: ROUTINE
(3) “HIGH ORDER IS’ WRONG
(3) 007614 000160 160
(1) 007616 022705 000000 CMP #0,%6 1 ;1S LOW ORDER = 0
(1) 007622 001403 BEQ .+10
(1) 007624 1%:
(3) 007624 004767 007264 JSR PC,$HLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) :LOW ORDER IS WRONG OR WRONG SEQUENCE
(3) 007630 000161 161
(1) 007632 021127 000223 (MP (R1),#223 :CHECK THE TEST NUMBER
(1) 007636 001372 BNE 1% ;IF IN WRONG SEQUENCE GO TO THE HLT ABOVE
(1) 007640 010105 MOV R1,RS ;RESTORE RS
(1) 007642 005215 INC (RS)
11,‘9 ,'!tttttttttttttttttttttttttttttttktlttttttttttttttttttttttttttttttttt
(1) TTEST:224 MUL 2« H77777 - 0 177776 PS 1
(]) 'tttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttt
(")
(1) 007644 010701 1ST224: SCOPE
(1) 007646 012700 000002 MOV #2,%0 :LOAD MULTIPLICAND WITH 2
(1) 007652 070027 077777 MUL R77777.%0 SMULTIPLY 2 ~ 477777
(1) 007656 MFPS a#PSWORD ;SAVE PS
(2) 007656 106737 .WORD  106700'..C
(1) 007662 122737 000001 (00432 CMPB #1,34P3SWORD ;1S PS = 1
(1" 007670 001403 BEQ .+10
(3) 007672 004767 007216 JSR PC.SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) *PS 1S WRONG
(3) 007676 000162 162
(1) 007700 022700 000000 cMP #0,%0 ;1S HIGH ORDER = 0
(1) 007706 071403 BEQ L+10
(3) 007706 004767 007202 JSR PC.SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ;HIGH ORDER 1S WRONG
(3) 007712 000163 163
(1) 007714 022701 177776 CMP #177776.%0'1 ;1S LOW ORDER = 177776
(1) 007720 001403 BEQ .+10
(1) 007722 1%:
(3) 007722 004767 007166 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ;LOW ORDER IS WRONG OR WRONG SEQUENCE
(3) 007726 000164 164 )
(1) 007730 021527 000224 CMP (R5),#224
(1) 007734 001372 BNE 18 :IF IN WRONG SEQUENCE GO TO THE HLT ABOVE
(1) 007736 005215 INC (RS)
T‘SO "ttttttttttt.tttttttttttttttttttttttttttttttttttttttttttt!ttttt!ttttt
(1 STEST: 225 MUL 7777 « 810 = 0 77770 PS = 0
(1) "itttttttttttttttttttt!ttttttt!"tttttt!ttttkt!ttttl'.tt.tll!ttitlltt
(1)
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B AZ2E 22222 RR X222 RS2 RRRRRRRRARRRRRRRRRRRARRARRRRRRR RN

LTEST:227 MUL -1 « #77777 -1 100001 PS = 10

—a

JUARBB P 14-SEP-81 16: 31 MUL INSTRUCTION TESTS £Q 0047
*y 007740 010701 TST225: SCOPE
15 007742 012702 007777 MOV 7?2777 . .%2 ;LOAD MULTIPLICAND WITH 7777
1) 007746 070227 000010 MUL #10,%2 TMULTIPLY 7777 « 210
<y 007752 MFPRS a#PSWORD ;SAVE PS
(2) 007752 106737 _WORD 106700 ..¢
(1) 007756 122737 000000 000432 CMPB #0,a#PSWORD ;IS PS = 0
(1) 007764 001403 BEQ .+10
(3) Q07766 004767 007122 JSR PC,$HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(%) :PS 1S WRONG
(3) 007772 000165 165
(1) 007776 022702 000000 CMP #0,%2 ;1S HIGH ORDER - 0
(1> 010000 001403 B8EQ .+10
(3) 010002 004767 007106 JSR PC,$HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3 ;HIGH ORDER IS WRONG
(3) 010006 000166 166
(1) 010010 022703 077770 CMP #77770,%2.1 ;1S LOW ORDER = 77770
(1) 010014 001403 BEQ .+10
(1) 010016 1%:
(3) 010016 004767 007072 JSR S5C,$HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
3 :LOW ORDER [S WRONG OR WRONG SEQUENCE
(3) 010022 000167 167
(1) 010024 021527 000225 CMP (RS) ,#225
(1) 010030 001372 BNE 18 ;IF IN WRONG SEQUENCE GO TO THE HLT ABOVE
(1) 010032 005215 INC (RS)
]LS] ;tttttttttttttttttlt'tttttt'tttt'ttttttttttt'ttt'tttt""ttttttt"ttt
(1) ;TEST: 226 MUL 77777 « #77777 = 37777 1 PS = 1
(}) ;tttttttittttttttttttttttttttttttttt'tttttttttttttttttttttttttttltttt
(1
(1Y 010034 010701 ~ST226: SCOPE
(1) 010036 010501 MOV RS, R1 ;SAVE RS
(1) 010040 012704 077777 MOV l77777.14 :LOAD MULTIPLICAND WITH 77777
(1) 010044 070427 077777 MUL 87777724 MULTIPLY 77777 = 477777
(1> 010050 MFPS a#PSWORD :SAVE PS
(2) 010050 106737 .WORD  106700°..C
(1% 010056 122737 000001 000432 (MPB 41, a#PSWORD SIS PS = i
(1) 010062 001403 BEQ .+10
(3) 010064 004767 007024 JSR PC,.SHLT ;SEEN AN ERROR, GO TO TH HAL:1 °oNUIT .WC
3 :PS IS WRONG
(3) 010070 000170 170
(1) 010072 022704 037777 (MP #37777.% :1S HIGH ORDER = 37777
(1) 010076 001403 BEQ .+10
(3) 010100 004767 007010 JSR PC,8HLTY :SEEN AN ERROR, GO TO TH HALT ROUTINE
(%) :HIGH ORDER IS WRONG
(3) 010104 000171 171
(1) 010106 022705 000001 (MP 21,3411 1S LOW ORDER = 1
(1) 010112 001403 BEQ .+10
(1) 010114 1%:
(3) 010114 004767 006774 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HWALT ROUTINE
(3) :LOW ORDER IS WRONG OR WRONG SEQUENCE
(3) 010120 000172 172
(1) 010122 021127 000226 CMP (R1) ,#226 ;CHECK THE TEST NUMBER
(1) 010126 001372 BNE 18 ;IF IN WRONG SEQUENCE GO TO THE HLT ABOVE
(1) 010130 010105 MOV R1,RS :RESTORE RS
(1) 010132 005215 INC (RS)
%
)



MACY™1 30(1046)
14=SEP=-B1 16:31

14-SEP-81

16:32 PAGE 4-43

MUL INSTRUCTION TESTS

(1) RN EA AR R R AR AN N AN AN R AN T AR AR AR TR TR R R C NGO Ra Rttt enrttrttonates
(1)

(1) 010136 010701 TST227: SCOPE

(1) 010136 012702 177777 MOV =132 ;LOAD MULTIPLICAND WITH =1

(1) 010142 070227 077777 MUL n77077.,%2 CMULTIPLY =1 « #77777

(1) 010146 MFPS NPSWORD :SAVE PS

(2) 010146 106737 .WORD  106700'..C

(1) 010152 122737 000010 000432 (MPB #10,3#PSWORD ;IS PS = 10

(1) 010160 001403 BEQ .+10

(3) 010162 004767 006726 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) :PS IS WRONG

(3) 010166 000173 173

(1) 010170 022702 177777 (MP ”-1,%2 ;1S HIGH ORDER = =1

(1) 310174 001403 BEQ .+10

(3) 010176 004767 006712 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) SHIGH ORDER IS WRONG

'3) 010202 000174 174 )

(1) 010204 022703 100001 (MP #100001,%21 ;IS LOW ORDER = 100001

(1) 010210 001403 BEQ .+10

(1) 010212 1$:

(3) 010212 004767 006676 JSR PC,SHLT sSEEN AN ERROR, GO TO TH HALT ROUTINE
(3) :LOW ORDER IS WRONG OR WRONG SEQUENCE
(3) 010216 000175 175

(1) 010220 021527 000227 (MP (RS) ,#227

(1) 010224 001372 BNE 18 :IF IN WRONG SEQUENCE GO TO THE HLT ABOVE
(1) 010226 005215 INC (RS)
1453 JENERARRARE AR NEA R AR RN AN RN AR AN A RARA AR AN R AR RN AR R RRRR RN AR RR RN
(1 :TEST:230 MUL 2« N77777 = -1 2 PS = 11

(1 ) ;ttttttttttttttttttttttttttt'ttttttittt'tttttttttttttttttttttntttttt'
(1)

(1) 010230 010701 TST230: SCOPE

(1) 010232 012700 177776 MOV #-2.%0 ;LOAD MULTIPLICAND WITH -2

(1) 010236 070027 077777 MUL #77077.,%0 TMULTIPLY =2 « 477777

(1) 010242 MFPS aNPSWORD :SAVE PS

(2) 010242 106737 .WORD  106700'..C

(1) 010246 122737 000011 000432 CMPB #11,3#PSWORD IS PS = 11

(1) 010256 001403 BEQ .+10

(3) 010256 004767 006632 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) :PS IS WRONG

(3) 010262 000176 176

(1) 010264 022700 177777 CMP #-1,%0 :1S HIGH ORDER - -1

(1) 010270 001403 BEQ .+10

(3) 010272 004767 006615 JSR PC,SHLT :SEEN AN ERROR., GO TO TH HALT ROUTINE
(3) :HIGH ORDER IS WRONG

(3) 010276 000177 177

(1) 010300 022701 000002 (MP #2,%0M1 ;IS LOW ORDER = 2

(1) 01030¢ 001403 8EQ .+10

(1) 010306 1%:

(3) 010306 €04767 006602 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
%) SLOW ORDER IS WRONG OR WRONG SEQUENCE
(3) 010312 000200 200

(1) 010314 021527 000230 CMP (R5) ,#230

(1) 010320 001372 8NE 18 :IF IN WRONG SEQUENCE GO TO THE HLT ABOVE
(1) 010322 005215 INC (RS)
1(,54 '-ttttttttttttttltttttttt'tttlVttttttttttttttttttttttttttttttttttttttt
(1) STEST:231 MuL 125252 « #2 = -1 52524 pS = 11
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{vkABB.P11 14-SEP-81 16: 31 MUL INSTRUCTION TESTS SEQ 0049

(]) "ttttﬁtttttttttttttt.tttt'tt'lttt't'tttttttttttttttttttt'tttttttttttt
(1)

(1) 010324 010701 1ST231: SCOPE

(1) 010326 012702 125252 MOV #125252.%2 ;LOAD MULTIPLICAND WITH 125252

(1) 010332 070227 000002 MUL #2,%2 CMULTIPLY 125252 = #2

(1) 010336 MFPS  @#PSWORD *SAVE PS

(2) 010336 106737 .WORD  106700'..C

(1) 010342 122737 000011 000432 CMPB  #11,3#4PSWORD ;IS PS = 11

(1) 010350 001403 BEQ .+10

(3) 010352 004767 006536 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) *PS IS WRONG

(3) 010356 000201 201

(1) 010360 022702 177777 CMP #-1,%2 ;1S HIGH ORDER = -1

(1) 010364 001403 BEQ .+10

(3) 010366 004767 006522 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) *HIGH ORDER IS WRONG

(3) 010372 000202 202

(1) 010374 022703 052524 CMP #52524 %21 ;1S LOW ORDER = 52524

(1) 010400 001403 BEQ .+10

(1) 010602 1$:

(3) 010402 004767 006506 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) *LOW ORDER IS WRONG OR WRONG SEQUENCE
(3) 010406 000203 203

(1) 010410 021527 000231 CMP (RS) ,#231

(1) 010414 001372 BNE 18 ;IF IN WRONG SEQUENCE GO TO THE HLT ABOVE
(1) 0106416 005215 INC (RS)

1455 AR AN AR AR AR R AR AR AR RN AN AR A AR A A AR AN AN AN I NI NN AN AN R AN RN AN NI NN NN AN RN
(N LTEST:232 MUL 125252 + #40000 = 165252 100000 PS 11
(1) .'tttttttttttttttttttttt't'tttttttttttttt'tttttttt"tttt'!t'tt't'tt'tt
1)

(1) 010620 010701 157232: SCOPE

(1) 010422 (10501 MOV RS ,R1 :SAVE RS

(1) 010424 012704 125252 MOV #125252,% *LOAD MULTIPLICAND 1ru 125252

(1) 0106430 070427 040000 MUL #40000, ¥4 TMULTIPLY 125252 = #40000

(1Y 010434 MFPS aapsuoao *SAVE PS

(2) 010434 106737 .WORD  106700!.

(1) 010440 122737 000011 000432 CMPB 411 axpsuono ;IS PS = 11

(1) 010646 001403 BEQ .+10

(3) 010450 004767 006440 JSR PCLSHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) :PS 1S WRONG

(3) 010454 000204 204

(1) 010456 022704 165252 CMP #165252.%4 ;1S HIGH ORDER = 165252

(1) 010462 001403 BEQ .+10

(3) 010464 004767 006424 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) *HIGH ORDER IS WRONG

(3) 010470 000205 205

(1) 010472 022705 100000 CMP #100000,%4'1 ;1S LOW ORDER = 100000

(1) 010476 001403 BEQ .+10

(1) 010500 1$:

(3) 010500 004767 006410 JSR PC.SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ‘LOW ORDER IS WRONG OR WRONG SEQUENCE
(3) 010504 000206 206

(1) 010506 021127 000232 CMP (R1),#232 :CHECK THE TEST NUMBER

(') 010512 001372 BNE 18 :IF IN WRONG SEQUENCE GO TO THE HLT ABOVE
(1) 010514 010105 MOV R1,RS *RESTORE RS

(1) 010516 005215 INC (RS)
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“vKABB.P11  14-SEP-81 16:31 MUL INSTRUCTION TESTS SEQ 0050
1456 R I e A A L L A AR AR SR L
M ;TEST:233 MUL 107070 « #107070 = 31222 26100 PS = 1
(1) R e L R e R e L e
(1)
(1) 010520 010701 TST233: SCOPE ~
(1> 010522 012700 107070 MOV #107070,%0 ;LOAD MULTIPLICAND UITH 107070
(1) 010526 070027 107070 MUL #107070,%0 ;MULTIPLY 107070 « #107070
(1) 010532 MFPS I#PSWORD :SAVE PS
(2) 010532 106737 .WORD  106700!.
(1) 010536 122737 000001 000432 (MPB #, SJPSUORD ;IS PS =1
(1) 010544 001403 BEQ +10
(3) 010546 004767 006342 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH MAL:1 ROUTINE
(3 :PS IS WRONG
(3) 010552 000207 207
(1) 010554 022700 031222 CMP 431222 %0 ;1S HIGH ORDER = 31222
(1) 010560 001403 BEQ +10
(3) 010562 004767 006326 JSR PC SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3 JHIGH ORDER IS WRONG
(3) 010566 000210 210
(1) 010570 022701 026100 cMP #26100,%0!1 ;1S LOW ORDER = 26100
(1) 010576 001403 BEQ .+10
(1) 010576 1%:
(3) 010576 004767 006312 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3 ;LOW ORDER IS WRONG OR WRONG SEQUENCE
(3) 010602 000211 21
(1) 010604 021527 000233 CMP (RS),#233
(1) 010610 001372 BNE 18 ;IF IN WRONG SEQUENCE GO TO THE HLT ABOVE
(1) 010612 005215 INC (R5)
1457 AR AR AR R AN R AN AR A AN R R R AR R R RN AN AR R AN AR N AN NN A AR AN TR RN RN RN
M STEST:234 MUL -1« #1 = =1 =1 PS = 10
(1) IR AR AR RN AR AR R AR AN R AN R A AR AR AR R AR AR AR AR AT ARAN AR AR R AN RNRNNT R AR
(1)
(1) 010614 010701 TST234: SCOPE
(1) 010616 012701 177777 Mov #-1,1%1 ;LOAD MULTIPLICAND WITH -1
(1Y 010622 070127 000001 MUL #1,21 JMULTIPLY -1 « 41
(1) 010626 MFPS a#PSWORD :SAVE PS
(2) 010626 106737 .WORD  106700!.
(1) 010632 122737 000010 000432 (MPB M0, alPSHORD JIS PS =10
(1) 010640 001403 BEQ +10
(3) 010642 004767 006246 JSR PC SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) :PS IS WRONG
(3) 010646 000212 212
(1) 0°0650 022701 177777 CMP -1, 21 ;IS HIGH ORDER = -1
(1) 010654 001403 BEQ .+10
(3) 010656 004767 006232 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3 JHIGH ORDER IS WRONG
(3) 010662 000213 213
(1) 010664 022701 177777 (MP #-1,%1.1 ;1S LOW ORDER = -1
(1) 010670 001403 BEQ .+10
(1) 010672 1%:
(3) 010672 004767 006216 JSR PC.SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3. ;LOW ORDER IS WRONG OR WRONG SEQUENCE
(3) 010676 000214 214
(1) 010700 021527 000234 CMP (R5) , #4234
‘1) 010706 001372 BNE 1% ;IF IN WRONG SEQUENCE GO TO THE HLT ABOVE
'Y 010706 005215 INC (RS



DVKABA MACY 1 30(1046) 14~SEP~B1 16:32 PAGE &4-46
(VKABB.P11 14~SEP-81 16:31 MUL INSTRUCTION TESTS SEQ 0051

1458 IR R RN R R AN R R R PR AR R R E RN E R oot tee

N STEST: 235 MUL -1 «#0 =00 PS = &

1) A AR R R R R R R R R N R AR NN AN AN AR NN AR R AR RN RN AR ANY

1)

(1) 010710 010701 TST235: SCOPE

(1) 010712 012703 177777 MoV #-1,%3 ;LOAD MULTIPLICAND WITH =1

(1) 010716 070327 000000 MUL #0,23 ;MULTIPLY =1 « #0

(1) 010722 MFPS 4P SWORD s SAVE PS

(2) 010722 106737 .WORD  106700!..(

(1) 010726 122737 000004 000432 (MPB #4 ,#PSWORD ;IS PS - 4

(1) 010734 001403 BEQ .+10

(3) 010736 004767 006152 JSR PC,SHLT sSEEN AN ERROR, GO TO TH HAL: ROUTINE

(3) JPS 1S WRONG

(3) 010742 000215 215

(1) 010744 022703 000000 (MP #0,%3 ;1S HIGH ORDER = 0

(1) 010750 001403 BEQ .+10

(3) 010752 004767 006136 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE -
(3) JHIGH ORDER IS WRONG "
(3) 010756 000216 216

(1) 010760 022703 000000 (MP #0,23.1 ;1S LOW ORDER = 0

(1) 0107646 001403 BEQ .+10

(1) 010766 1%:

(3) 010766 004767 006122 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE

(3) ;LOW ORDER IS WRONG OR WRONG SEQUENCE

(3) 010772 000217 217

(1) 010774 021527 000235 (MP (RS) ,#235

(1) 011000 001372 BNE 18 ;IfF IN WRONG SEQUENCE GO TO THE HLT ABOVE
(1) 011002 005215 INC (RS)

1459 IR AR R N R AN R AR RN R AR R AN RN AN RN RN AR AN TR N AR R AR RO RTY
1 JTEST:236 MUL 77777 « #100000 = 100000 100000 PS = N
&P AR R AN R AR R N AR R AN AP R R R AN AR AN AR RN RN AR AN R RIS
(v
(1) 011006 010701 TST236: SCOPE
(1) 011006 010501 MoV R3 R1 ;SAVE RS
(1Y 011010 012705 077777 MOV 870777 ,%5 ;LOAD MULTIPLICAND WITH 77777
(1) 011014 070527 100000 MUL #100000,%5 ;MULTIPLY 77777 « #100000
(1) 011020 MFPS a#PSWORD ;SAVE PS
(2) 011020 106737 .WORD  106700!..C
(1) 011024 122737 000011 000432 (MPB #11,3#PSWORD JISPS = 11
(1) 011032 001403 BEQ .10
(3) 011034 004767 006054 JSR PC.SHLT ;SEEN AN ERRCR, GO TO TH HALT ROUTINE
(3) :PS IS WRONG
(3) 011040 000220 220
(1) 011042 022705 100000 (MP #100000,%5 ;1S HIGH ORDER = 100000
(1) 011046 001403 BEQ .*+10
(3) 011050 004767 006040 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ;HIGH ORDER IS WRONG
(3) 011056 000221 221
(1) 011056 022705 100000 (MP #100000,%5.1 ;1S LOW ORDER - 100000
(1) 011062 001403 BEQ .+10
(1) 011064 1%:

(3) 011064 004767 006024 JSR PC.SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE

(3) :LOW ORDER IS WRONG OR WRONG SEQUENCE

(3) 011070 000222 222

(1) 011072 021127 000236 cMP (R1),#23¢ ;CHECK THE TEST NUMBER

(1) 011076 001372 BNE 1% ;IF IN WRONG SEQUENCE GN TO THE HLT ABOVE
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CVKABB.P11 14-SEP-81 16:31 MUL INSTRUCTION TESTS SEQ 0052
(1) 011100 010105 MOV R1,RS :RESTORE RS
(1) 011102 005215 INC (RS)

1‘60 "ttttttt.ttttttttttttttttttttttttttttttttttttttttttttttttttttttt' [ X 3]
1 LTEST:237 MUL -1 « 477777 = 100001 100001 PS = 10
('l) "ttttttttttttttt.ttt.ttttt.tttttttttttt.ttttttttttttttttttttttttttttt
N
(1) 0111064 010701 1S7237: SCOPE
(1) 011106 012701 177777 MOV #~1,%1 :LOAD MULTIPLICAND WITH -1
(1) 011112 070127 077777 MUL #77077.% CMULTIPLY =1 = #77777
(1) 011116 MFPS  @#PSWORD *SAVE PS
(2) 011116 106737 .WORD  106700'..C
(1) 011122 122737 000010 000432 CMPB  #10,a#PSWORD ;IS PS = 10
(1) 011130 001403 BEQ .+10
(3) 011132 004767 005756 JSR PC.SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
3 *PS IS WRONG
(3) 011136 000223 223
(1) 011140 022701 100001 CMP #100001,%1 ;1S HIGH ORDER = 100001
(1) 011144 001403 BEQ .+10
(3) 011146 004767 005742 JSR PC,SHLT :SEEN AN ERROR, GO TC TH HALT ROUTINE
(3) *HIGH ORDER IS WRONG
(3) 011152 000224 224
(1) 011°54 022701 100001 CMP #100001.%1.1 ;1S LOW ORDER = 100001
(1) 011160 001403 BEQ .+10
(1) 011162 1%:

(3) 011162 004767 005726 JSR PC,SHLT :SEEN AN ERROR, GO TO TH MALT ROUTINE

(3 *LOW ORDER IS WRONG OR WRONG SEQUENCE

(3) 011166 000225 225

(1) 011170 021527 000237 CMP (RS) ,#237

(1) 011174 001372 BNE 1% ;IF IN WRONG SEQUENCE GO TO THE HLT ABOVE
(1) 011176 005215 INC (RS)

11,61 '-tttt.ttt.ttt.ttt..tt"ttttttt.ttttttttt.tttttttttttttttttttttttttttt
(1) STEST:240 MUL 77777 « 477777 = 11 PS = 1
(1) "tttttn.ttttttttttt.ttttttttttttttttttt.ttttttttttttttttttttttttntttt
(1)

(1Y 011200 010701 TST240: SCOPE

(1) 011202 012703 077777 MOV #77777.%3 :LOAD MULTIPLICAND WITH 77777

(1) 011206 070327 077777 MUL #77777.43 ‘MULTIPLY 77777 » 77777

(1) 011212 MFPS  @#PSWORD *SAVE PS

(2) 011212 106737 .WORD  106700!..C

(1) 011216 122737 000001 000432 CMPB  #1,a#PSWORD ;IS PS = 1

(1) 01122« 001403 BEQ .+10

(3) 011226 004767 005662 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) *PS IS WRONG

(3) 011232 000226 226

(1) 011234 022703 000001 cMP #1,%3 ;1S HIGH ORDER = 1

(1) 011240 001403 BEQ .+10

(3) 011242 004767 005646 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) "HIGH ORDER IS WRONG

(3) 011246 000227 227

(1) 011250 022703 000001 CMP 41,3301 ;1S LOW ORDER = 1

(1) 011254 001403 BEQ .+10

(1) 01125 18:

(3) 011256 004767 005632 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
3 *LOW ORDER 1S WRONG OR WRONG SEQUENCE
(3) 011262 000230 230

(1) 011264 021527 000240 CMP (RS) ,#240
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(VKABB.P11 14-SEP-81 16:3] MUL INSTRUCTION TESTS SEQ 0053
(1) 011270 001372 BNE 1$ SIF IN WRONG SEQUENCE GO TO THE HLT ABOVE
(1) 011272 005215 INC (RS)

1[,62 ‘-ttttttttttttttttttttttttttt'tttttttttttttttttttt'tttttt't'tttttttttt
(1) STEST:241 MUL 2 N =44 PSs = 0
(1) :t'tttttt'tttttttttt'ttttttttttttttt'ttttttttt'ttttt't'tttttttt'ttttt
(1)
(1) 0112724 010701 TST241: SCOPE
(1) 011276 010501 MOV RS,R1 :SAVE RS
(1) 011300 012705 000002 MOV #2.45 “LOAD MULTIPLICAND WITH 2
(1) 011304 070527 000002 MUL #2.%5 "MULTIPLY 2 + #2
(1) 011310 MFPS aA#PSWORD ;SAVE PS
(2) 011310 106737 .WORD  106700'..C
(1) 011314 122737 (000000 000432 CMPBR #0,3#PSWORD ;IS PS =0
(1) 911322 001403 BEQ .+10
(3) 011324 004767 005564 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) *PS IS WRONG
(3) 011330 000231 231
(1) 011332 022705 000004 CMP #4,%5 :1S HIGH ORDER = &
(1) 011336 001403 BEQ .+10
(3) 011340 004767 005550 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) “HIGH ORDER IS WRONG
(3) 011344 000232 232
(1) 011346 022705 000004 CMP #4,%511 ;1S LOW ORDER = &
(1) 011352 001403 BEQ .+10
(1) 011354 18:
(3) 011354 004767 005534 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) "LOW ORDER IS WRONG OR WRONG SEQUENCE
(3) 011360 000233 233
(1) 011362 021127 000241 CMP (R1),#241 :CHECK THE TEST NUMBER
(1) 011366 001372 BNE 1s SIF IN WRONG SEQUENCE GO TO THE HLT ABOVE
(1) 011370 010105 MOV R1,RS *RESTORE RS
(1) 011372 005215 INC (RS)
1463 011374 012702 040000 MOV #40000, %2
1464 011400 012703 000464 MOV #55,13
}222 011404 012704 000466 MOV #56.%4
1467 '-ttttttttttttttttttttttttttttttttttttttttttttttttt\ttttttttttttt'ttt'
(1) TTEST:242 MUL 125252 » $5 = 165252 100000 PS - 11
(1) "ttttttttttttttttttttt'tttt'tttttttttttttttttttttttttttttttttttttt"t
(1
(1) 011410 010701 TST242: SCOPE
(1) 011412 012700 125252 MOV £125252,%0 :LOAD MULTIPLICAND WITH 125252
(1) 011416 070067 167042 MUL 55 ,%0 CMULTIPLY 125252 = S5
(1) 011622 MFPS  a#PSWORD *SAVE PS
(2) 011422 106737 .WORD  106700!..C
(1) 011426 122737 000011 000432 CMFB  #11,a#PSWORD ;IS PS = 1M
(1) 01143¢ 001403 BEQ .+10
(3) 011436 004767 005452 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) :PS IS WRONG
(3) 011442 000234 234
(1) 011446 022700 165252 CMP #165252.%0 ;1S HIGH ORDER = 165252
(1) 011450 001403 BEQ .+10
(3) 011452 004767 005436 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) *HIGH ORDER IS WRONG
(3) 011456 000235 235
(1) 011460 022701 100000 CMP #100000,%0"1 ;1S LOW ORDER = 100000
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(vKABB.P11 14-SEP=-81 16:31 MUL INSTRUCTION TESTS SEQ 0054
(1) 011464 001403 BEQ .+10
(1) 011466 1%:
(3) 011466 004767 005622 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
3) ‘LOW ORDER IS WRONG OR WRONG SEQUENCE
(3) 011472 000236 236
(1) 011476 021527 000242 CMP (RS) , #242
(1) 011500 001372 BNE 1 :IF IN WRONG SEQUENCE GO TO THE HLT ABOVE
(1) 011502 005215 INC (RS)

1468 ttttttttttttttttttttﬁtttttttttttttttttttttttttttittttttttttttttttttt
M) CTEST: 243 MUL 125252 * @$é = 165252 100000 PS = 11
(1) t'tt'tttttttttttttttttttttttttttttttttiiitttttttittttttttttttttt'ttt
(1)

(1) 011504 010701 TST243: SCOPE

(1) 011506 012700 125252 MOV #125252.%0 ;LOAD MULTIPLICAND uxru 125252

(1) 011512 070077 166750 MUL 3s6, %0 TMULTIPLY 125252 =

(1) 011516 MFPS a#PSWORD :SAVE PS

(2) 011516 106737 _WORD  106700!..C

(1> 011522 12273 000011 000432 CMPB #1171 ,a#PSWORD IS PS = 1

(1) 011530 001403 BEQ .+10

(3) 011532 004767 005356 JSR PC,SHLT -SEEN AN ERROR, GO TO TH HALT RCUTINE
(3) *PS IS WRONG

(3) 011536 000237 237

(1) 011540 022700 165252 CMP #165252 20 ;1S HIGH ORDER = 165252

(1) 011544 001403 BEO +10

(3) 011546 004767 005342 JSR PC $SHLT :5EEN AN ERROR, GO TO TH HALT ROUTINE
(3) *HIGH ORDER IS WRONG

(3) 011552 000240 240

(1) 01155¢ 022701 100000 CMP #100000,%0'1 :1S LOW ORDER = 100000

(1) 011560 001403 BEO .+10

(1) 011562 1$:

(3) 011562 004767 005326 . JSR PC,SHLT :SEEN AN ERROR, GN TO TH HALT ROUTINE
(3) "LOW ORDER IS WRONG OR WRONG SEQUENCE
(3) 011566 000241 261

(1) 011570 021527 000243 CMP (RS) ,#243

(1Y 011524 001372 BNE 18 :IF IN WPONG SEQUENCE GO TO THE HLT ABOVE
(1) 011576 005215 INC (RS)

]469 "l'tttttttttttttttttttttttt"tttttttitttttttttttttttttt't'tt'tttttt‘t'
(1) CTEST:244 MUL 125252 ~ a#SS = 165252 100000 PS - 11
(1) "tttttttttttttttttttl'tttitttttl'ttttttttttttttittttttt'tttttttttt"ttl'
1)

(1) 011600 10701 TST244: SCOPE

(1) 011602 012700 125252 MOV #125252.%0 :LOAD MULTIPLICAND WITH 125252

(1) 011606 070037 000464 MUL axs5,%0 TMULTIPLY 125252 * a#SS

(1) 011612 MFPS alPSUORD :SAVE PS

(2) 011612 106737 .WORD  106700'.

(1) 011616 122737 000011 000432 tMPB #11 a:psuono ;IS PS = 11

(1) 01162¢ 001403 BEQ .+10

(3) 011626 004767 005262 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
3 ;PS IS WRONG

(3) 011632 000242 242

(1) 011636 022700 165252 CMP 0165252 20 ©1S HIGH ORDER = 165252

(1) 011640 001403 BEQ +10

(3) 011642 004767 005246 JSR pc SHLT :SEEN AN ERROR. GO TO TH HALT ROUTINE
(3) "HIGH ORDER IS WRONG

(3 011646 000243 243

(1° 011650 022701 100000 CMP #100000,%0'1 ©1S LOW GCRDER = 100000
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[vKaBB.P11 14-SES-81 16:31 MUL INSTRUCTION TESTS 360 0055
1) 011654 001403 B8EQ .+10
(1) 011656 X 18:
(3) 011656 004767 00523¢ JSR PC,SHLT :SEEN AN FRROR, GO T0O TH HALT ROUTINE
(3) ;LOW ORDER !S WRONG OR WRONG SEQUENCE
(3) 011662 000244 244
(1) 011664 021527 000244 (MP (RS) #2644
(1) 011670 001372 BNE 1% :IF IN WRONG SEQUENCE GO TU THE HLT ABOVE
(1) 011672 005215 INC (R5)

1470 NN NN RN AN AN AN RN PN AN AN R AN AR R AN A KRR RN AR RN R AR AR C AT Nt ow
") LTEST:245 MUL 125252 + %2 = 165252 100000 PS = 11
(1) "tttttttttttt.tttttttttttttttttttttttt.ttttttttttt'ttttttttttt'tttttt
(1)

(1) 0116724 010701 TS1245: SCOPE

(1) 011676 012700 125252 MOV #125252,%0 ;LOAD MULTIPLICAND WITH 125252

(1) 011702 070002 MUL 12.%0 'MULTIPLY 125252 + %2

(1) 011704 MFPS S#PSUORD ; SAVE PS

(2) 0117064 106737 _WORD  106700. .

(1) 011710 122737 000011 0006432 CMPB 411,aopsuono SIS PS = 1

(1) 011716 001403 BEQ .+10

(3) 011720 004767 005170 JSR PC,8$HLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) :PS IS WRONG

(3) 0117264 000245 245

(1) 011726 022700 165252 (MP #165252,%0 ;1S HIGH ORDER = 165252

(1) 011732 001403 BEQ +10

(3) 011734 004767 005154 JSR PC $HLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3 :HIGH ORDER [S WRONG

(3) 0117240 000246 246

(1) 011742 022701 100000 CMP #100000,%0'1 ;1S LOW ORDER = 100000

(1) 011746 001403 BEQ .+10

(1) 011750 1%:

(3) 011750 004767 005140 JSR PC,SHLTY SSEEN AN ERROR, GO TO TH HALT ROUTINE
(&) ;LOW ORDER IS WRONG OR WRONG SEQUENCE
(3) 011754 000247 247

(1) 011756 021527 000245 CMP (RS’ , #8245

(1> 011762 001372 BNE 1 :IF IN WRONG SEQUENCE GO TO THE HLT ABOVE
(1) 011764 005215 INC (RS)

1471 'ttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttt'ttt
1) TEST 246 MUL 125252 « (3)+ = 165252 100000 PS = 1N
(1) _-tttttttttttttttttttttttttttttttttttttttttttttttttttttttttttittttttt'
(N
(1) 011766 010701 TST246: SCOPE
(1) 011770 012700 125252 MOV #125252.%0 :LOAD MULTIPLICAND WITH 125252
(1) 011774 070023 MUL (3)+,%0 TMULTIPLY 125252 * (3)+
(1) 011776 MFPS a#PSWORD ;SAVE PS
(2) 011776 106737 .WORD  106700".

(1) 012002 122737 000011 000432 CMPB #1171 axpsuono ;IS PS = 11

(1) 012010 001403 BEQ 410

(3) 012012 004767 005076 JSR pC SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) :PS IS WRONG

(3) 012016 000250 250

(1) 012020 022700 165252 CMP #165252.%0 ;1S HIGH ORDER = 165252 .
(1) 012024 001403 BEQ .+10

(3) 012026 004767 005062 JSR PC,8HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ;HIGH ORDER IS WRONG

(3) 012032 000251 251

(1) 012034 022701 100000 CMP #100000,%0'1  :IS LOW ORDER = 100000
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¢ yKABB.P11 14-SEP-81 16:3 MUL INSTRUCTION TESTS SEQ 0056
(1) 012040 001403 BEQ .+10
(1) 012042 18:
(3) 012062 004757 005046 JSR PCLSHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) *LOW ORDER IS WRONG OR WRONG SEQUENCE
(3) 012046 000252 252
(1) 012050 021527 000246 CMP (RS) ,#246
(1) 012054 G01372 BNE 18 ;1F IN WRONG SEQUENCE GO TO THE HLT ABOVE
(1) 012056 005215 INC (RS)

1472 IRANAA R AR AR R R AR RN R R R AR R AR AR RN R AR RN R AR AR R AR R AR AN R AN RN R RN AR T RN RN R
(1) TTEST:247 MUL 125252 « =(3) = 165252 100000 PS = 11
(1) "ttttttttttttttQttttttttttttl’ttttttttl’ttttttiiitttttttttttttttttttttt
(1)

(1) 012060 010701 1ST247: SCOPE

(1) 012062 012700 125252 MOV #125252,%0 ;LOAD MULTIPLICAND WITH 125252

(1) 012066 070043 MUL -(3),%0 TMULTIPLY 125252 = -(3)

{1y 012070 MFPS a#PSWORD ; SAVE PS

2y 012070 106737 .WORD  106700'..cC

(1) 012074 122737 000011 0006432 (MPB~  #11,3#PSWORD ;IS PS = 11

(1) 012102 001403 BEQ .+10

(3) 012104 004767 005004 JSR PC,$HLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) *PS IS WRONG

(3) 012110 000253 253

(1) 012112 022700 165252 CMP #165252.%0 ;1S HIGH ORDER = 165252

(1) 012116 001403 BEQ .+10

(3) 012120 004767 004770 JSR PC,$HLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) *HIGH ORDER IS WRONG

(3) 012124 000254 254

(1) 012126 022701 100000 CMP #100000,%0"' 1 ;1S LOW ORDER = 100000

(1) 012132 001403 BEQ .+10

(1) 012134 1$:

(3) 012134 004767 004754 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) *LOW ORDER IS WRONG OR WRONG SEGUENCE
(3) 012140 000255 255

(1) 012142 021527 000247 CMP (RS) , #4247

(1Y 012146 001372 BNE 18 ;IF IN WRONG SEQUENCE GO TO THE HLT ABOVE
(1) 012150 005215 INC (R5)

1473 ;tttttttttttttttttttttttttittttttttf'tttttttttitttttttttttttttttttttt
(1) LTEST:250 MUL 125252 « 2(4) = 165252 100000 PS 11
(1 ) "ttttttttittttttiititttttttttttttittttttttttttttttttttttttttttttttttt
(N
(1) 012152 010701 TST250: SCOPE
(1) 012154 012700 125252 MOV #125252.,%0 ;LOAD MULTIPLICAND WITH 125252
(1) 012160 070064 000002 MUL 2(4).%0 TMULTIPLY 125252 * 2(4)

(1) 012164 MFPS a#PSWORD :SAVE PS

(2) 012164 106737 .MORD  106700'..C

(1) 012170 122737 000011 000432 CMPB #11_,3#PSWORD IS PS = 1N

(1) 012176 001403 BEQ .+10

(3) 012200 004767 004710 JSR PC,S$HLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) *PS IS WRONG

(3) 012204 00025% 256

(1) 012206 022700 165252 CMP #165252,%0 ;IS HIGH ORDER = 165252

(1) 012212 001403 BEQ .+10

(3) 012214 004767 006674 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
3) "HIGH ORDER IS WRONG

(3) 012220 000257 257

(1) 012222 022701 100000 CMP 4100000, %01 ;1S LOW ORDER = 100000
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" ,KABB.P11 14-SEP-81 16:37 MUL INSTRUCTION TESTS “€Q 0057
(1) 0122§6 001403 BEQ .+10
(1) 012230 18:
(3) 012230 004767 006660 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3, *LOW ORDER IS WRONG OR WRONG SEQUENCE
(3) 012236 000260 260
(1) 012236 021527 000250 (MP (RS),#250
(1) 012242 001372 BNE 1% ;15 IN WRONG SEQUENCE GO TO THE HLT ABOVE
(1) 012246 005215 INC (RS)

YL,7L '-ttttttt'tttttttt'tttttt't"t't.'Qt't"'t"t'.t"'t"""""."""'
(13 TTEST: 251 MUL 125252 « a(4) = 165252 100000 PS = 11
{ 1 ) "ttt"ttttt""t.ttt'ttttttt't"'Q'ttttt".""""""""'tt"'t'tt
1)

1) 012246 010701 1ST251: SCOPE

(1) 012250 012700 125252 MOV #125252.,%0 ;LOAD MULTIPL ICAND H 125252

(1) 012254 070074 000000 MUL ac4),%0 TMULTIPLY 125252

1) 012260 MEPS  a#PSWORD SSAVE PS

(01 012260 106737 .wORD  106700!.

(1) 012264 122737 000011 000432 CMPB 411 a#PSUORD ;Isps = 1

(1) 012272 001403 BEQ .+10

(3) 012274 004767 004614 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) :PS IS WRONG

(3) 012300 000261 261

(1) 012302 022700 165252 CMP 4165252 20 ;1S HIGH ORDER = 165252

(1) 012306 001403 BEQ 10

(3) 012310 004767 004600 JSR pc SHLT :3EEN AN ERROR, GO TO TH HALT ROUTINE
(3) ‘HIGH ORDER [S WRONG

(3) 012314 000262 262

(1Y 012316 022701 100000 CMP #100000,%0! 1 ;1S LOW ORDER = 100000

(1) 012322 001403 BEQ .+10

(1Y 012324 1%:

(3) 012324 004767 004564 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) :LOW ORDER ]S WRONG OR WRONG SEQUENCE
(3) 012330 000263 263

(1) 012332 021527 000251 (MP (RS) ,#251

(1v  01233¢ 001372 BNE 18 :IF IN WRONG SEQUENCE GO TO THE HLT ABOVE
(1) 01230 005215 INC (RS)

11.75 "'..'"""""""""t"'tQ"tt"""""""'Q'.""".tt".tttt
(1) STEST:252 MUL 125252 * a(4)+ = 165252 100000 P = 11
(1) ,'ttt'ttttt'tttt"tt.tttttttttttttttt.'tttttt.tttttt.."."..t.t.ttttt
(@D
() 012342 010201 1ST252: SCOPE
(1) 012344 012700 125252 MOV #125252,%0 ; LOAD HULTIPLICAND TH 125252
(1) 012350 070034 MUL (4)+. %0 TMULTIPLY 125252 * a(4)+
(1) 012352 MFPS  NPSWORD *SAVE PS
(2) 012352 106737 LWORD 106700,

(1) 012356 122737 000011 000432 CMPB  #11 aapsuono ;IS PS = 11
(1) 012364 001403 BEQ +10
(1) 012366 004767 004522 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
.3 *PS IS WRONG
(%) 012372 000264 264
(1) 012374 (227G0 165252 CMP #165252,%0 ;1S HIGH ORDER = 165252
(1) 012400 001403 BEQ +10
(3) 012602 004767 (004506 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
3) HIGH ORDER IS WRONG
3 012606 000265 265
L) 0126410 022701 100000 CMP #100000,%0'1 ;1S LOW ORDER = 100000
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TvKABB.P11 14-SEP~-81 16:31 MUL INSTRUCTION TESTS

(1) 012414 001403 8tQ .+10

(1) 0124616 1$:

(3) 012616 004767 0046472 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE

(3) ;LOW ORDER IS WRCNG OR WwRONG SEQUENCE

(3) 012422 000266 266

(1) 012626 021527 000252 (MP (RS) ,#252

(1Y 012430 001372 BNE 1% ;1F IN WRONG SEQUENCE GO TO THE HLT ABOVE
(1) 0126432 005215 INC (R5)

1476 R L L L D bbb bbbl bt bbbt bbb AL L L L L
(1 ;TEST: 253 MuL 125252 * 3-(4) = 165252 100000 PS = 11
(1) e R L g LR
ay
(V) 012434 010701 TST253: SCOPE
(1) 0124636 012700 125252 MOV #125252,%0 :LOAD MULTIPLICAND WITH 125252
(1) 012442 070054 MUL 3-(4),16 SMULTIPLY 125252 + a-(4)

(1) 012444 MFPS a#PSWORD ;SAVE PS

() 012444 106737 .WORD 106700!..C

(1) 012450 122737 000011 000632 (MPB #11,3#PSWORD ;IS PS = 1M

(1) 012456 001403 8EQ .+10

r3) 012460 004767 004430 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) :PS IS WRONG

(3) 012464 000267 267

(1) 012466 022700 165252 cMp #165252,%0 ;1S HIGH ORDER = 165252

(1) 012472 001403 BEQ .+10

(3) 012474 004767 004414 JSR PC,SHLT ;SEEN AN ERROR, GO "0 TH HALT ROUTINE
(3) ;HIGH ORDER 1S WRONG

(3 012500 000270 270

(1) 012502 022701 100000 (MP #100000,%0!1 ;1S LOW ORDER = 100000

(1) 012506 001403 8EQ .+10

(1Y 012510 1%:

(3) 012510 004767 004400 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ;LOW ORDER IS WRONG OR WRONG SEQUENCE
(%) 012514 000271 271

(1) 012516 021527 000253 (MP (R5) ,#253

(1Y 012522 001372 BNE 18 ;IF IN WRONG SEQUENCE GO TO THE HLT ABOVE
(1) 012526 005215 INC (RS)

1480 IR AN AR AN AN AR AR AR TR AN RN

1481 ; DIV INSTRUCTION TESTS

1482 IR AR R AN AR R A NRR AR RN

1483

1484

1485

1486 R A AN A AR R R R AR R RN AN R R R AR AR R AN O NN RN AR R TR E AN R TR v O At
(@P] ;TEST:254 DIV 04/ ¥ 2 REM = 0 PS 0
1) R AR AR R A A RN A N R R AR AN AR R R AR AN AR RN RN AARRE VAN IR E T TN TN
(D] .

(1) 0125¢8 010701 TST254: SCOPE

(1) 012530 012700 000000 MOV #0,%0 :LOAD HIGH ORDER WITH 0

(1) $125346 012701 000004 MOV #6,%041 ;LOAD LOW ORDER WITH &

(1) 012540 071027 000002 DIV #2,%0 :DIVIDE BY #2

(1) 012544 MFPS a#PSWORD ;SAVE PS

E%; 012544 106737 .WORD 106700!..C

(1) 012550 122737 000000 000432 (MPB #0,34PSWORD ;ISPS =0

(1) 012556 001403 BEQ .+10

() 012560 004767 004330 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
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vKABB.P1? 14~SEP=-81 16:31 DIV INSTRUCTION TESTS “EQ 0059

(%) ;PS IS WRONG
(3 012564 000272 272
D
(1) 012566 022700 000002 (MP #2,%0 ;1S QUOTIENT = 2
(1) 012572 001403 BEQ .+10
(3) 012574 004767 004314 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(%) ;QUOTIENT |S WRONG
é?; 012600 000273 273
(1) 012602 022701 000000 cMP #0,%0+1 ;1S REMAINDER = 0
(1) 012606 001403 BEQ .+10
(3) 012610 004767 004300 JSR PC,SHLT :SEEN AN ERROR, GO TN TH HALi ROUTINE
(%) :WRONG REMAINDER
(3) 012614 000274 274
(1) 012616 0221527 000254 (MP (RS) , #4254
(V) 012622 001403 BEQ .+10 :IF IN WRONG SEQUENCE GO To. THE HLT
(%) 012624 00464767 004264 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HA_T ROUTINE
(5 :TEST IS IN WRONG SEQUENCE
(3) 012630 000275 275
:}) 012632 005215 INC (RS)
)

1@87 ;vvttttttttt.tttttttttttttttttQtltttttttttQt'tttttttttttt"ttttttttttn
1N TEST: 255 DIV -1 -9,/ #3% -3 REM - 0 PS = 10
(1) "ttttltlttt'tttttttttttttttttttttttttttt'ttt'ttttttttt'tttttttQttttt'
(%)

(1) 012634 010701 TST255: SCOPE

(1) 012636 012202 177777 MOV #-1,%2 :LOAD HIGH ORDER WITH -1

(1) 012642 012703 177767 MOV #-9,,%2+1 :LOAD LOW ORDER WITH -9.

(1) 012646 071227 000003 DIV 4#3,%2 ;DIVIDE BY #3

(1) 012652 MFPS a#PSWORD :SAVE PS

(ﬁ; 012652 106737 .WORD  106700!..C

(

(1) 012656 122737 000010 000432 CMPBR #10,3#PSWORD JIS PS = 10

(1) 012664 001403 BEQ .+10

(3 012666 006767 004222 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3 :PS IS WRONG

E?g 012672 000276 276

(1Y 012674 022702 177775 (MpP #-3,%2 ;IS QUOTIENT = -3

(1) 012700 001403 BEQ .+10

(3) 012702 004767 004206 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ;QUOTIENT IS WRONG

(?; 012706 000277 277

(

(1) 012710 022703 000000 CMP #0,%2+1 ;1S REMAINDER = 0

(1) 012714 001403 BEQ .+10

(3) 012716 004767 004172 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(%) :WRONG REMAINDER

(3) 12722 000300 300

(1) 012724 021527 000255 CMP (RS) ,#255

(1) 012730 001403 BEQ .*+10 :1F IN WRONG SEQUENCE GO TG THE HWLT
(3> 012732 004787 004156 JSR PC,SHLT :SEEN AN ERROR, GO TO TH MALT ROUTINE
(3) :TEST IS IN WRONG SEQUENCE

(3) 01273 000301 301

(}; 012740 005215 INC (RS)

(
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IVKABB.P11 14-SEP-81 16:3 DIV INSTRUCTION TESTS €0 0060

1488 R R L R AR AR
(n sTEST:256 Dlv 09. 7 #2 = 4 REM - 1 PS = 0

(M IR RN RN R A AR A AN R AR T AR R A AR AT RN E R TRTONRRNOOIREOIROTROIROICROEOOY
(1,

(1) 012742 010701 TST256: SCOPE

(1) 012744 010501 MOV R5.R1 ;SAVE RS

tty 012746 012704 000000 MOV #0,%6 ;LOAD HIGH ORDER WITH 0

(1) 012752 012705 000011 mMov 9. ,%641 JLOAD LOW ORDER WITH 9.

(1) 012756 071427 000002 DIV #2,% ;DIVIDE BY #2

(1) 012762 MFPS a#PSWORD ;SAVE PS

é?; 012762 106737 .WORD  106700!..C

(1) 012766 122737 000000 000432 (MPB #0,3#PSWORD JISPS =0

(1) Q127764 001403 BEQ .+10

(3) 012776 004767 004112 JSR PC,S$HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3 ;PS 1S WRONG

é?; 01300¢ 000302 302

1) 013006 022704 000004 (MP 84, %6 ;1S QUOTIENT = &

(1) 013010 001403 BEQ .+10

(3) 013012 004767 004076 JSR PC,SHLT JSEEN AN ERROR, GO TD TH HALT ROUTINE
(3) JQUGTIENT IS WRONG

g?; 013016 000303 303

(1) 013020 022705 000001 (MP LA L2 ;1S REMAINDER = 1

(1) 013024 001403 BEQ .+10

(3) 013026 004767 004062 JSR PC,SHLT JSEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ;WRONG REMAINDER

(3) 013032 000304 304

(1> 013034 010105 MOV R1,RS ;RESTORE R5

1) 013036 021527 000256 CMP (R5) . #256

(1) 013042 001403 BEQ .+10 ;1F IN WRONG SEQUENCE GO TO THE HWLT
(3) 013046 004767 004044 JSR PC,SHLT JSEEN AN ERROR, GO TO TH HALT ROUTINE
(% JTEST IS IN WRONG SEQUENCE

(3> 013050 000305 305

(;; 013052 005215 INC (R5)

(
1489 AR R AR R R R A RN AR R AN TR R R R AR R AR R RN R AR AR AR AR T T RA AN AR RS
(1) ;TEST: 257 DIV -1 =9. / ¥ - =4 REM = -1 PS = 10
1) RN AR AR RN AR R AR R AR R IR R R R R R AR AR R R R R AR R AR RN AR SRR RN R AN AR RO R AR AR AR OO
(n

(1) 013056 010701 TST257: SCOPE

(1) 013056 0127200 177777 MOV #-1,20 ;LOAD HIGH ORDER WITH =1

(1) 013062 012701 177767 MOV #-9. 20+1 ;JLOAD LOW ORDER WITH -9.

(1) 013066 071027 000002 DIV 2,10 :DIVIDE BY #2

1) 013072 MFPS 9#PSWORD ;SAVE PS

E{; 013072 106737 .W4ORD  106700!..C

(1) 013076 122737 000010 000432 (MPB #10,9#PSWORD ;IS PS =10

(1) 013104 001403 BEQ .+10

(3) 013106 004767 004002 JSR PC.SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3 JPS IS WRONG

f?; 013112 000306 306

(1) Q13114 022700 177774 (MP #-4,2%0 ;1S QUOTIENT - -4

(1) 013120 001403 BEQ .+10
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{vKABB.P11 14-SEP-81 16:31 DIV INSTRUCTION TESTS £0 0061
(3) 013122 004767 003766 JSR PCLSHLT ;SEEN AN ERROR, GU TO TH HALT ROUTINE
(3) TQUOTIENT 1S WRONG
:;; 013126 000307 307
(1) 013130 022701 177777 CMP #=1,%0+1 ;1S REMAINDER = =1
(1) 013134 001403 BEQ . +10
(3) 013136 004767 003752 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) *WRONG REMAINDER
(3) 013142 000310 310
(1) 013144 021527 000257 CMP (RS) ,#257
(1) 013150 001403 BEQ .+10 :1F IN WRONG SEQUENCE GO TO THE HLT
(3) 013152 004767 003736 JSR PC,SHLT "SEEN AN ERROR, GO TO TH HAL: ROUTINE
(3) STEST IS IN WRONG SEQUENCE
(3) 013156 000311 311
f}; 013160 005215 INC (RS)

1‘90 "t"t"t"it'itit't"!tt'ti"tttt'tt't.tttttttttt"".'tt't't"".t'.
1) CTEST: 260 DIV 02/ #-3-0 REM = 2 PS - 4
(1) "".'Q"ttii'itt'ti'iit"ititt'tt"t't't'tii't"tt"i't..ttt'tt.QQQQt
1)
(1) 013162 010701 TST260: SrOPE
(1). 0131664 012702 000000 MOV #0,%2 ;LOAD HIGH ORDER WITH 0
(1) 013170 012703 000002 MOY #2°42+41 *LOAD LOW ORDER WITH 2
(1) 013174 071227 177775 DIV #-5.%2 :DIVIDE BY #-3
(*) 013200 MFPS  a#PSWORD *SAVE PS
ﬁfi 013200 106737 .WORD 106700 ..C
(1) 013206 122737 000004 000432 (MPB 44 ,a#PSWORD ;IS PS = 4
(1) 013212 001403 BEQ .+10
(3) 013214 004767 003674 JSR PC.SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) *PS IS WRONG
f?i 013220 000312 312
(1) 013222 022702 000000 CMP #0,%2 ;1S QUOTIENT = 0
(1 013226 001403 BEQ .+10
(3) 013230 004767 003660 JSR PCLSHLT ;SEEN AN ERROR, GO TO TH MALT ROUTINE
(3) “QUOTIENT IS WRONG
f?; 013234 000313 313
(1) 013236 022703 000002 CMP #2,%2+1 ;1S REMAINDER = 2
(1) 013242 001403 BEQ .+10
(3) 013244 004767 003644 JSR PCLSHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) “WRONG REMAINDER
(3) 013250 000314 314
(1) 013252 021527 000260 CMP (RS) ,#260
(1) 013256 001403 BEQ .+10 ;IF IN WRONG SEQUENCE GO TO THE MLT
(3) 013260 004767 003630 JSR PC,SHLT 'SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) STEST IS IN WRONG .: QUENCE
(3) 013264 000315 315
g}; 013266 005215 INC (RS)
1‘9] "ttiitttiiiiitttttitttitiiiitiititttttttttttittttttttttttttttttt't'tt
(1) TTEST:261 DIV -1 -2/ #3:=0 REM = -2 PS = 4
(1) IR A AR AR AR AR AR AR R AR RN AR AR AR TR R AR E AN RN R R RN NN AR NS
(1) )
(1) 013270 010701 1ST261: SCOPE
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CVKABB.P11 14-SEP-81 16:31 DIV INSTRUCTION TESTS SEQ 0067
(1) 013272 010501 MOV RS ,R1 :SAVE RS
(1) 013274 012704 177777 MOV #=-1,%4 “LOAD YIGH ORDER WITH =1
(1) 013300 012705 177776 MOV N2 %441 “LOAD LOW ORDER WITH =2
(1) 013304 071427 000003 DIV 03,44 ‘DIVIDE BY #3
(1) 013310 MFPS  aNPSWORD ‘SAVE PS
<$> 013310 106737 .WORD  106700°'..C
QP
(1) 013314 122737 000004 000432 (MPB  #4,a#PSWORD SIS PS = 4
(1) 013322 001403 BEQ .+10
(3) 013324 004767 003564 JSR PC,3HLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ‘PS 1S WRONG
5?; 013330 000316 316
(1) 013332 022704 000000 CMP 80, %4 ;1S QUOTIENT = 0
(1) 013336 001403 BEQ .+10
(3) 013340 004767 003550 JSR PCLSHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) “QUOTIENT IS WRONG
f?} 013344 000317 317
(1) 013346 022705 177776 CMP #-2,%441 ;1S REMAINDER = =2
(1) 013352 001403 BEQ L+10
(3) 013354 004767 003534 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) *WRONG REMAINDER
(3) 013360 000320 320
(1) 013362 010105 MOV R1,RS :RESTORE RS
(1) 013364 021527 000261 CMP (RS), #261
(1) 013370 001403 BEQ 410 :IF IN WRONG SEQUENCE GO TO THE HLT
(3) 013372 004767 003516 JSR PC.SHLT *SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) STEST 1S IN WRONG SEQUENCE
(3) 013376 000321 321
<}; 013400 005215 INC (RS)
(
1492 IR AN AR AN A AN A NN AN R IR A R AR AN RN ANA A AR R R AN RN R RN RO AR AR RN R RN
1) CTEST: 262 DIV -1 =17 #1 = =1 REM = 0 PS = 10
(1\ :ttttttttttttt't...tttttttt..tttttQttttt'ttttttttt'tttttttttttttt'ttn
(1)
(1) 013402 010701 1ST262: SCOPE
(1) 013404 012700 177777 MOV #-1,%0 :LOAD HIGH ORDER WITH =1
(1) 013410 012701 177777 MOV #-1.%0+1 *LOAD LOW ORDER WITH =1
(1) 013414 071027 000001 DIV 0,%0 ‘DIVIDE BY #
(1) 013420 MFPS  a#PSWORD SSAVE PS
Eg; 013420 106737 LWORD  106700'..C
(1) 013424 122737 000010 000432 CMPB  #10,a#PSWORD ;IS PS = 10
(1) 013432 001403 BEQ .+10
(3) 013434 004767 003454 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ‘PS IS WRONG
f?; 013440 000322 322
(1) 013442 022700 177777 CMP #-1,%0 ;1S QUOTIENT = =1
(1) 013446 001403 BEQ .+10
(3) 013450 004767 003440 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) “QUOTIENT IS WRONG
;;; 0134564 000323 323
(1) 013456 022701 000000 CMP #0,%0+1 ;1S REMAINDER = 0
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XX 2222222222222 22028000 R0R SRR3R0 24

STEST:264 DIV -1 125252 / #2 = 152525 REM = 0 PS = 10

:tttttt'i'tttttttttttttttt"'lttttttt"ttttttt"tttttttttttttttttt'tt

{VvKABB.P11 14-SEP-81 16:31 DIV INSTRUCTION TESTS SEQ 0063

(1) 013462 001403 8EQ .+10

(3) Q13464 004767 003424 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) JWRONG REMAINDER

(3) 013470 000324 324

(1) 013472 021527 000262 cmMp (R5) ,#262

(1) 013476 001403 8EQ .+10 ;1F _IN WRONG SEQUENCE GO TO THE HLT
(3) 013500 004767 003410 JSR PC,SHLT sSEEN AN ERROR, GO TO TH HALT ROUTINE
(3) JTEST IS IN WRONG SEQUENCE

(3) 013504 000325 325

E}; 013506 005215 INC (RS)
1‘93 :i‘l"'..'tltt"'t'tttttt‘ttt‘tt"‘ttt'ttttt't"t"ttttltﬁtﬁl""tttﬁ
(1) ;TEST:263 DIV 00/ mMm =0 REM = 0 PS = 4

(1) :ttttttt"tltttttll'tttttttttttttttl"'ttll"t't'lllttttttttttttt.'.Q
(n

(1) 013510 010701 TST263: SCOPE

(1) 013512 012700 000000 MOV #0.20 ;LOAD HIGH ORDER WITH 0

(1) 013516 012701 000000 MOV #0,%0+1 ;LOAD LOW ORDER WITH 0

(1) 013522 071027 000001 DIV #1,%0 ;DIVIDE BY #1

(1) 013526 MFPS a#PSWORD ;SAVE PS

f;; 013526 106737 .WORD  106700...C

(1) 013532 122737 000004 000432 CMPB #4 ,a#PSWORD ;IS PS = 4

(1) 013540 001403 BEQ .+10

(3) 013542 004767 003346 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) JPS 1S WRONG

f?; 013546 000326 326

(1) 013550 022700 000000 CMP #0,20 ;IS QUOTIENT = 0

(1) 013554 001403 BEQ .+10

(3) 013556 004767 003332 JSR PC,S$HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ;QUOTIENT IS WRONG

E?; 013562 000327 327

(1) 01354 022701 000000 CMP #0,20+1 ;1S REMAINDER = 0

(1) 013570 001403 BEQ .+10

(3) 013572 004767 003316 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ;WRONG REMAINDER

(3) 013576 000330 330

(1) 013600 021527 000263 cMp (R5) 4263

(1) 013604 001403 BEQ .+10 ;IF _IN WRONG SEQUENCE GO TO THE HLT
(3) 013606 004767 003302 JSR PC,$HLT JSEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ;TEST IS IN WRONG SEQUENCE

(3) 013612 000331 3N

E ; 013614 005215 INC (R5)

494

(1

(1)

(1)

(1)

(1N

(1.

(N

(v

(2)

PO b ot b =D b b ok 2 D = =

013616 010701 TST264: SCOPE

013620 012702 177777 MOV #-1.22 ;LOAD HIGH ORDER WITH =1
013624 012703 125252 MOV #125252,%2+1 ;LOAD LOW ORDER WITH 125252
013630 071227 000002 Dlv #2,%2 ;DIVIDE BY #2

013634 MFPS a#PSWORD ;SAVE PS

013634 106737 LWORD  106700!..C
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P 14-SEP-81

013640
013646
013650
013654
013656
013662
013664
013670

013672

122737
001403
004767

000332

022702
001403
004767

000333

022703
001403
004767

000334
021527
001403
004767

000335
005215

004767
000336

022704
001403
004767

000337

022705
001403
004767

009340
010105
021527

14-SEF-81

16:31

000010 000432

003240

152525
003224

000000

003210

000264
003174

177777
127777
177777

000000
003130

000001
003114

000000
003100

000265

16:32 PAGE 4-59
DIV INSTRUCTION TESTS

CMPB
BEQ
JSR

332

CMP
BEQ
JSR

333

CMP
BEQ
JSR

334
CMP
BEQ
JSR

335
INC

#1068#PSU0RD

PC,SHLT

#15%525 %2
PC,SHLT

#0,%2+1
.+10
PC,SHLT

(R56 ,H264
PC.SHLT

(RS)

IF
;SE
: TE

;IS PS = 10

:SEEN AN ERROR, GO TO TH HALT ROUTINE
;PS IS WRONG

;IS QUOTIENT = 152525

:SEEN AN ERROR, GO TO TH HALT ROUTINE
JQUOTIENT IS WRONG

:1S REMAINDER = 0

;SEEN AN ERROR, GO TO TH HALT ROUTINE
;WRONG REMAINDER

IN WRONG SEQUENCE GO TO THE HLT
? AN ERROR, GO TO TH HALT ROUTINE

E
ST IS IN WRONG SEQUENCE

ttttttttttt.t*tttttttttttttttiittttttttttttttttttttttttttttttttttttt

STEST: 265

DIV

-1 =17 %1 -1 REM = 0

PS - 0

tttttﬁttttttttttttttttttttttttttittttttttttttttttt.tttttttttttttttt'

TST265: SCOPE
MOV
MOV
MOV
DIV
MFPS

.WORD

CMPB
BEQ
JSR

336

cMP
BEQ
JSR

337

CMP
BEQ
JSR

340
MOV
CMP

RS ,R1
#-1,%6
#-1,26+1
#-1,%6

a#P SWORD
106700!..C

00181PSU0RD
PC,SHLT

1,4
+10
PC,SHLT

#0,%4+1
.+10
PC,SHLT

R1,R5
<R§ 8265

;SAVE RS

;LOAD HIGH ORDER WITH -1
;LOAD LOW ORDER WITH -1
;DIVIDE BY #-1

1SAVE PS

JISPS =0

:SEEN AN ERROR, GO TO TH HALT ROUTINE
;PS 1S WRONG

;1S QUOTIENT =1

:SEEN AN ERROR, GO TO TH HALT ROUTINE
JQUOTIENT IS WRONG

;1S REMAINDER = 0

;SEEN AN ERROR, GO TO TH HALT ROUTINE
;WRONG REMAINDER

;RESTORE R5
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.vKABB.P11 14-SEP-81 16:31 DIV INSTRUCTION TESTS SEQ 0065
(1) 0164024 001403 BEQ .+10 ;1F IN WRONG SEQUENCE GO TO THE HLT
(3) 014026 004767 003062 JSR PC,SHLT JSEEN AN ERROR, GO TO TH HALT ROUTINE
(3) JTEST IS IN WRONG SEQUENCE
(3) 014032 000341 341
E}; 014034 005215 INC (RS)

1496 e LA AL LA A AR AR LA AR
(N ;TEST: 266 DIV 25253 1 / 4125252 = 100000 REM = 1 PS = 10
1) AR AR R AR R R RN AN R R AR A AN R R AR N AR AR R AR AR R AR AR AN AN RO RO
(N
(1) 0164036 010701 TST266: SCOPE
(1) 014040 012700 025253 MOV #25253,%0 ;LOAD HIGH ORDER WITH 25253
(1) 014044 012701 000001 MoV #1,%0+1 ;LOAD LOW ORDER WITH 1
(1) 014050 071027 125252 DIV #125252,%0 ;DIVIDE BY 4125252
(1) 014054 MFPS d#PSWORD JSAVE PS
gg; 014054 106737 LWORD  106700!..C
(1) 014060 122737 000010 000432 CMPB #10,3#PSWORD ;1S PS = 10
(1) 014066 001403 BEQ .+10
(3) 014070 004767 003020 JSR PC.,$HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ;PS IS WRONG
f?; 014074 000342 342
(1) 014076 022700 100000 CMP #100000,%0 ;1S QUGTIENT = 100000
(1) 014102 001403 BEQ .+10
(3) 016104 004767 003004 JSR PC,S$HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ;JQUOTIENT 1S WRONG
(?; 014110 000343 343
(

(1) 014112 022701 000001 CMP #1,%041 ;1S REMAINDER = 1

(1) 014116 001403 BEQ .+10

(3) 014120 004767 002770 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ;WRONG REMAINDER

(3) 014124 000344 344

(1) 014126 021527 000266 CMP (R5),#266

(1) 014132 001403 BEQ .+10 ;IF IN WRONG SEQUENCE GO TO THE HLT
(3) 014134 004767 002754 JSR PC,$HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ;TEST IS IN WRONG SEQUENCE

(3) 014140 000345 345

(}; 014142 005215 INC (R5)

(

1497 AR AR A AR AR R AR AR AR RN R R R AR RN AR AR R R A AR AR AR A AR R AN RN NN
(1) JTEST: 267 DIV 37777 77777 / 77777 - 77777 REM = 77776 PS = 0
(1) AR R A A R AR AR AR AN AR R R AR AR AR AR R R R RN AR R AN AR A AR NN RARRRANRN
(M
(1) 014144 010701 TST267: SCOPE
(1) 014146 012702 037777 MOV #37777.%2 ;LOAD HIGH ORDER WITH 37777
(1) 014152 012703 077777 MOV 77777 ,%2+1 :LOAD LOW ORDER WITH 77777
(1) 014156 071227 077777 DIV R77777,%2 ;DIVIDE BY #77777
(1) 0146162 MFPS d#PSWORD ;SAVE PS
g?; 014162 106737 .WORD  106700!..C
(1) 014166 122737 000000 000432 (MPB #0, 3#PSWORD S PS =0
(1) C161764 001403 BEQ .+10
(3) 014176 004767 002712 JSR PC,$HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(D sPS IS WRONG
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(VKABB.P11 14-SEP-81 16:3 DIV INSTRUCTION TESTS SEQ 0066
f;; 014202 000346 346
(1) 016204 022702 077777 CMP N77777.%2 ;1S QUOTIENT = 77777
(1) 014210 001403 BEQ .+10
(3) 014212 004767 002676 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
) ;QUOTIENT IS WRONG
<?; 014216 000347 347
(
(1) 014220 022703 077776 CMP R77776.,%2+1 ;1S REMAINDER = 77776
(1) 074226 001403 BEQ .+10
(3) 014226 004767 002662 JSR PCSHLT :SEEN AN CRROR, GO TO TH HALT ROUTINE '
.3) *WRONG REMAINDER
(3) 016232 000350 350
(1) 014234 021527 000267 CMP (RS) ,#267
(1) 014240 001403 BEQ .+10 ;IF IN WRONG SEQUENCE GO TO THE HLT
(3) 014242 004767 002646 JSR PC,SHLT *SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) STEST IS IN WRONG SEQUENCE
(3) 014246 000351 351
(}) 014250 005215 INC RS)
(1)

1‘98 ‘-ttttttttttttttttttttttttttttttttttttttttttttttttttttttttttt'tttttttt
(1) CTEST:270 DIV 0 100000 / #2 = 40000 REM - 0 PS 0
(1) IR R R R R R AR AR R AN R AN AR AR A AR RN AR AR AR R AT TR TR AN RN RN
(1)

(1) 014252 010701 1ST270: SCOPE

(1) 014754 010501 MOV RS ,R1 :SAVE RS

(1) 014256 012704 000000 MOV #0364 *LOAD HIGH ORDER WITH 0

(1) 014262 012705 100000 MOV 2100000, %4+1 *LOAD LOW ORDER WITH 100000

(1) 014266 071427 000002 DIV #2,%4 :DIVIDE BY #2

(1) 014272 MFPS a#PSWORD ;SAVE PS

<$; 016272 106737 JWORD  106700'..C

(

(1) 016276 122737 000000 000432 CMPB 40, a#PSWORD ;IS PS = 0

(1) 014304 001403 BEQ .+10

(3) 016306 004767 002602 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) *PS IS WRONG

<;; 014312 000352 352

(1) 016316 022704 060000 CMP #40000, %4 ;IS QUOTIENT = 40000

(1) 014320 001403 BEQ .+10

(3) 014322 004767 002566 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) “QUOTIENT 1S WRONG

<?; 0164326 000353 353

(

(1) 01633¢ 022705 000000 CMP #0,%4+1 ;1S REMAINDER = 0

(1) 014334 001403 BEQ .+10

(3) 014336 004767 002552 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) *WRONG REMAINDER

(3) 014342 000354 354

(1) 014344 010105 MOV R1,RS ;RESTORE RS

(1) 014346 021527 000270 CMP (R5) 4270

(1) 014352 001403 BEQ .+10 :IF IN WRONG SEQUENCE GO TO THE HWLT
(3) 014356 004767 002536 JSR PC,SHLT “SEEN AN ERROR, GO TO TH HALT ROUT!NE
(3) STEST 1S IN WRONG SEQUENCE

(3) 014360 000355 355

(1) 014367 005215 INC (RS)
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TVKABB.P'1  14=SEP-81 16:31 DIV INSTRUCTION TESTS SEQ 0067
(1)

1499 tt'ttltttit.ttt.'!tttt""'tt"t'..t't"t"'it"'Q"it""'i"'it"'
(1) STEST: 271 DIV 177777 77777 7 #l77776 = 40000 REM = 17777 PS = 0
(1) "Qtitt"Q'QQ'."'t't'tt'"t'tt'"'ttttttttt"t'ttttt't""tttt'"'t"
(1)

(1) 014364 010701 TST271: SCOPE

(1) 014366 012700 177777 MOY #172777,%0 ;LOAD HIGH ORDER WITH_177777

(1) 014372 012701 077727 MOV #77777,%0+1 LOAD LOW ORDER WITH 77777

(1) 014376 071027 177776 DIV #177776,%0 :DIVIDE BY #177776

(1) 016402 MFPS  a#PSWORD :SAVE PS

(2) 014402 106737 .WORD  106700!..C

(1) 014406 122737 000000 000432 CMPB  #0,a#PSWORD ;1S PS = 0

(1) 014414 001403 BEQ +10

(3) 014416 004767 002472 JSR BC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ) :PS IS WRONG

(3) 014422 000356 356

(1) 014424 022700 040000 P #40000,%0 ;1S QUOTIENT = 40000

(1) 014430 001403 BEQ +10

(3) 014432 004767 002456 JSR BC,SH.T :SEEN AN ERROR, 50 TO TH HALT ROUTINE
(3) {QUOTIENT IS WRONG

(3) 014436 000357 357

(1) 014440 022701 177777 cMP #177777,%0+1 ;1S REMAINDER = 177//7

(1) 014444 001403 BEQ +10

(3) 014446 004767 002442 JSR PCLSHT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) :WRONG REMAINDER

(3) 014452 000360 360

(1) 014454 021527 000271 CMP (RS) 4271

(1) 014460 001403 BEQ +10 ;IF_IN WRONG SEQUENCE GO TO THE HLT
(3) 016462 004767 002426 JSR PCLSHLT :SEEN AN ERROR, O TO TH HALT ROUTINE
(3) TEST IS IN WRONG SEQUENCE

(3) 014466 000361 361

(12 014470 0052°5 INC (RS)

1500 ttt't'tt"tt'tt.ti'tttt'ftt'tiit'.tti"'tt.ittttt'tt"lt't'tt"t"'t
1 STEST:272 DIV 0 52525 / 452525 = | REM = 0 PS = 0
(1) "Q't".tittt'tt""‘“'ttt"'i""'i'tQ"Qt"tt""ttttt..t't't't"tt't
(1)

(1) 014472 010701 T1ST272: SCOPE

(1) 014474 012702 000000 MOV #0,12 ;LOAD HIGH ORDER WITH 0

(1) 014500 012703 052525 MOV #52525,%2+1 *LOAD LOW ORDER WITH 52525

(1) 014504 071227 052525 DIV #52525 %2 :DIVIDE BY #52525

(1) 014510 MFPS  @#PSWORD :SAVE PS

() 014510 106737 .WORD  106700"..C

(1) 014514 122737 000000 000432 CMPB 40, 3#PSWORD ;IS PS = 0

(1) 0164522 001403 BEQ +10

(3) 014524 004767 002364 JSR BCLSHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) :PS IS WRONG

(3) 014530 000362 362

(1) 014532 022702 000001 cMP . %2 ;1S QUOTIENT = 1

(1) 014536 001403 BEQ +10

(3 014540 004767 002350 JSR BCLSHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
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(3) ;QUOTIENT IS WRONG
g?; 014544 0C0363 363
(1) 014546 022703 000700 (Mp #0,%2+1 ;1S REMAINDER = 0
(1) 014552 001403 BEQ .+10
(%) 014554 004767 002334 JSR PC.SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ;WRONG REMAINDER
(3) 014560 000364 364
(1) 014562 021527 000272 (MP (RS L8272
(1) 014566 001403 BEQ +10 ;1F IN WRONG SEQUENCE GO TO THE HLT
(3) 014570 004767 002320 JSR PC $SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3 ;TEST IS IN WRONG SEQUENCE
(3) 014574 000365 365
(}; 014576 005275 INC (R5)
(
1501 :ttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttt-tt
QD) sTEST:273 DIV 0 77777 7/ #0 = DUMMY REM = DUMMY PS 3
(1) RN AN R R R AR R R NN AN AR AN RN R AN AR N R R AR AR R AR R RN ALY
(1)
(1) 014600 010701 TST273: SCOPE
(1) 014602 010501 MOV RS,R1 SAVE RS
(1) 014604 012704 000000 MOV #0,24 LOAD HIGH ORDER WITH 0
(1) 014610 012705 077777 MOV N77777 %641 LOAD LOW ORDER WITH 77777
(1) 014614 071427 000000 DIV #0,%4 :DIVIDE BY #0
(") 014620 MFPS a#PSUORD ;SAVE PS
(2) 0164620 106737 .WORD  106700!..C
E}) 016624 042737 000016 000432 BIC #14,3#PSWORD
)
(1) 014632 122737 000003 000432 (MPB #3,a#4PSWORD JISPS =3
(1) 014640 001403 BEQ +10
(3) 014642 004767 002246 JSR PC $SHLT :SEEN AN ERROR, GO T0 TH HALT ROUTINE
(3) ;PS IS WRONG
(?; 014646 000366 366
(
(1) 014650 010105 MOV ;RESTORE RS
(1) 014652 021527 000273 CMP (Rﬁ) #273
(1) 014656 001403 BEQ :IF IN WRONG SEQUENCE GO TO THE HLT
(3) 014660 004767 002230 JSR PC SHLT :SEEN AN ERROR, GO TO TH HALT ROUIINE
(3) ;TEST IS IN WRONG SEQUENCE
(3) 014666 000367 367
g}; 014666 005215 INC (R5)
1502 .'tttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttttt
1 JTEST: 274 DIV 77777 177777 / #2 = DUMMY REM - DUMMY PS = ¢
(1) ;-ttttttt-ttttttttttttttntt-tttt-ttt-tttt-tnn-n--tnn--n-tn-------nt--
(1
(1) 014670 010701 TS1274: SCOPE
(1) 014672 012700 077777 MOV #77777,%0 :LOAD HIGH ORDER WITH 77777
(1) 014676 012701 177777 MOV #17777? X041 :LOAD LOW ORDER WITH 177777
(1) 014702 071027 000002 DIV 42,20 ;DIVIDE BY #2
(1) 014706 MFPS a#PSWORD :SAVE PS
(2) 014706 106737 .WORD 106700!..C
(}; 014712 042737 000014 000432 BIC #14,a#PSWORD
(
(1) 0147220 122737 000002 000432 (MPB 42 ,3#PSWORD ;IS PS =2
(1) 014726 001403 BEQ .+10
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(VKABB.P11 14-SEP-81 16:31 DIV INSTRUCTION TESTS SEQ 0069
(3) 014730 004767 002160 JSR PC,S$HLT sSEEN AN ERROR, GO TO TH HALT ROUTINE
(3 ;PS 1S WRONG
:?; 014734 000370 370
(1) 014736 021527 000274 (MP (RS) ,#274
(1) 014742 001403 BEQ .+10 ;1F IN WRONG SEQUENCE GO TO THE HLT
(3) 0164744 004767 0021644 JSR PC,S$HLY ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ;TEST 1S IN WRONG SEQUENCE
(3) 014750 000371 371
:}; 014752 005215 INC (RS)

1503 014756 012702 000002 MOV "2, %2

1506 014760 012703 000474 MOV #59,%3

1285 014764 012706 000476 MOV #510,%6

1509 R L A e A L A R A R L ARl
(M STEST:275 DIV 0 52525 / S9 = 25252 REM - 1 Ps 0
(1) T A L A AR R AR Rl
N
(1) 014770 010701 TET275: SCOPE
(1) 014772 012700 000000 MOV #0,20 ;LOAD HIGH ORDER WITH 0
(1) 014776 012701 052525 MOV #52525,%0+1 ;LOAD LOW ORDER WITH 52525
(1) 015002 071067 163466 DIV 59,20 :DIVIDE BY S9
(1) 015006 MFPS a#PSWORD ;SAVE PS
gg; 015006 106737 .WORD  106700!..C
(1) 015012 122737 000000 000632 (MPB #0,3#PSWORD IS PS =0
(1) 015020 0014603 BEQ .+10
(3) 015022 004767 002066 JSR PC.SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) JPS 15 WRONG
g%; 015026 000372 372
(1) 015030 022700 025252 cMP #25252.,%0 ;1S QUOTIENT = 25252
(1) 015034 001403 BEQ .+10
(3) 015036 004767 002052 JSR PC,SHLT JSEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ;QUOTIENT IS WRONG
é?; 015042 000373 373
(1) 015046 022701 000001 (MP #1,%0+1 ;1S REMAINDER = 1
(1) 015050 001403 BEQ .+10
(3) 015052 0064767 002036 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ;WRONG REMAINDER
(3) 015056 000374 374
(1) 015060 021527 000275 CMP (R5),#275
(1) 015066 0014603 BEQ .+10 ;1F IN WRONG SEQUENCE GO TO THE HLT
(3) 015066 004767 002022 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) sTEST IS IN WRONG SEQUENCE
(3) 015072 000375 375
g}; 015076 005215 INC (R5)

1508 AR AN A A AR AR R R AR R R A AR R A AR R AN AN RN AR AN AR AR R RN T T ANy
(1 JTEST: 276 DIV 0 52525 7/ aS10 = 25252 REM = 1 PS - 0
(1) IR AR AR AR RN AT A AR RN R R AR AT AR AR AR RN R TR RN AT E R RN R TR E s
n
(1) 015026 010701 TST27%5: SCOPE
(1) 015100 012700 000000 MoV #0,20 ;LOAD HIGH ORDER WITH 0
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(1) 015104 012701 052525 MoV #52525 2041 ;LOAD LOW ORDER WITH 52525
(1) 015110 071077 163362 DIV 510,20 :DIVIDE BY @510
(1) 015114 MFPS a#PSWORD ;SAVE PS
<€> 015114 106737 .WORD 106700!..C
(1)
(1) 015120 122737 000000 000432 (MPR #0,3a”PSWORD JISPS =0
(1) 015126 001403 BEQ .+10
(3) 015130 004767 001760 JSR CLSHLT ;SEEN AN ERROR, GO TO TH HALT ROQUTINE
(3) ;PS IS WRONG
(?) 015136 000376 376
(1)
(1) 015136 022700 025252 (MP #25252.%0 ;1S QUOTIENT = 25252
(1) 015142 001403 BEQ .+10
(3) 015144 004767 001744 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) JQUOTIENT 1S WRONG
(?; 015150 000377 377
(
(1) 015352 022701 000001 (MP #1,X0+1 ;1S REMAINDER = 1
(1) 015156 001403 BEQ .+10
(3) 015160 004767 001730 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) WRONG REMAINDER
(3) 015164 000600 400
(1) 015166 021527 000276 (MP (RS) .,#276
(1) 015172 001403 8tQ .+10 ;1F IN WRONG SEQUENCE GO TO THE HLT
(3) 015176 004767 001714 JSR PC,SHLT JSEEN AN ERROR, GO TO TH HALT ROUTINE
(3) JTEST 1S IN WRONG SEQUENCE
(3) 015200 000401 401
2}) 015202 005215 INC (RS)
)
1509 IR AR AR R R AR R R R AN PN AR AR R AN A AR AR AR E AR AR RN SRR AR RS
(N :TEST:277 DIv 0 52525 / a#sS9 = 25252 REM = 1 PS - 0
(1) R I e e A AR A R A AL A At ALttt ittt il dl
(1)
(1) 015206 010701 TST277: SCOPE
(1 015206 012700 000000 MOV #0,%0 ;LOAD HIGH ORDER WITH 0
(1) 015212 012701 052525 MOV #52525,20+1 ;LOAD LOW ORDER WITH 52525
(1) 015216 071037 000474 DIV ans9,20 ;DIVIDE By a#s9
(1) 015222 MFPS a#PSWORD ;SAVE PS
({) 015222 106737 .WORD 106700!..C
1)
(1) 015226 122737 000000 000432 CMPBR #0,34PSWORD ;ISPS =0
(1) 015234 001403 BEQ .+10
(3) 015236 004767 001652 JSR PC.SHLT :SFEN AN ERROR, GO TO TH HALT ROUTINE
(3) ;JPS 1S WRONG
g;; 015242 000402 402
(1) 015244 022700 025252 CMP #25252.,%0 ;IS QUOTIENT = 25252
(1) 015250 001403 BEQ .+10
(3) 015252 004767 001636 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3 JQUOTIENT IS WRONG
g?; 015256 000403 403
(1) 015260 022701 000001 (MP #1,%0+1 ;1S REMAINDER = 1
(1) 015264 001403 BEQ .+10
(3) 015266 0064767 001622 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ;WRONG REMAINDER
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FVKABB.P11 14-SEP-81 16:3 DIV INSTRUCTION TESTS SEQ 0071
3y 015272 000404 404 )
(1) 015274 021527 000277 CMP (RS) ,#277
(1) 015300 001403 BEQ .+10 ;1F IN WRONG SEQUENCE GO TO THE HLT
(3, 015302 004767 001606 JSR PC.SHLT “SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) STEST IS IN WRONG SEQUENCE
(3) 015306 000405 405
<}; 015310 005215 INC (RS)
[
1510 "t'ttt'tttttitttt'ttttttttt.ttt"tt'ttlttt't"'"""tttiittttttt""
(1) STEST: 300 DIV 0 52525 / %2 = 25252 REM = 1 PS = 0
(1) AR R AR R R RN A A AN RN R AR A RN AR R AR AR PR AR AN RN AR RN RN RN IR AN RS
(1)
(1) 015312 010701 151300: SCOPE
(1) 015314 012700 v00000 MOV #0,%0 :LOAD HIGH ORDER WITH O
(1> 015320 012701 052525 MOV #58525,%0+1 *LOAD LOW ORDER WITH 52525
(1) 015324 071002 DIV 12.%0 ‘DIVIDE BY %2
(1) 015326 MFPS o#PSWORD :SAVE PS
<$> 015326 106737 .WORD  106700!..C
(1)
(1) 015332 122737 000000 000432 CMPB  #0,a#PSWORD ;IS PS =0
(1) 015340 001403 BEQ .+10
(3) 015342 004767 001546 JSR PC.SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) *PS IS WRONG
<13; 015346 000406 406
(
(1) 015350 022700 025252 CMP #25252.,%0 ;IS QUOTIENT = 25252
(1) 015354 001403 BEQ .+10
(3) 015356 004767 001532 JSR PC,SHLT :SEEN AN ERROR, GO TO TH MHALT ROUTINE
(3) *QUOTIENT IS WRONG
§f§ 015362 000407 407
(1) 015364 022701 000001 CMP #1,%0+1 ;1S REMAINDER = 1
(1) 015370 001403 BEQ .+50
(3) 015372 004767 001516 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3 :WRONG REMAINDER
(3) 015376 000410 410
(1) 015400 021527 000300 CMP (RS) ,#300
(1) 015404 001403 BEQ .+10 ;IF IN WRONG SEQUENCE GO TO THE HLT
(3) 015406 004767 001502 JSR PC,$HLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) “TEST IS IN WRONG SEQUENCE
(3) 015412 000411 411
<}; 015414 005215 INC (RS)
(
151] "tttttttttttttt'ttttttt"'tttttttttttttttttttttttttttitt'lttttttt!tt'
n ;TEST:301 DIV 0 52525 / (3)+ = 25252 REM = 1 PS 0
(]) "tttttttttttt'ttttttttt't'tttltttttttt'ttttttttittttttttttttttttlttl!
1)
(1) 015416 010701 1ST301: SCOPE
(1) 015420 012700 000000 MOV #0,%0 :LOAD HIGH ORDER WITH 0
(1) 015424 012701 052525 MOV 452525 ,10+1 “LOAD LOW ORDER WITH 52525
(1) 015430 071023 DIV (3)+,%0 *DIVIDE BY (3)+
(1) 015432 MFPS o#PSWORD :SAVE PS
<§; 015432 106737 LWORD  106700'..C
(
(1) 015436 122737 000000 000432 CMPB  #0,a#PSWCRD ;IS PS - C
(1) 015444 001403 BEQ .+10
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vKABB.P1!? 14=-SEP-81 16: 3 DIv INSTRUCTION TESTS SEQ 0072
3) 015446 004767 001442 JSR PC,SHLT JSEEN AN ERROR, GO TO TH HALT ROUTINE
b)) ;PS IS WRONG
?; 015452 000412 412
1) 015654 022700 025:52 (MP #25252,%0 ;1S QUOTIENT = 2525¢
1) 015460 001403 BEQ .+10
3) 015462 004767 001426 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
3) JQUOTIENT IS WRONG
15)) 015466 000413 613
1) 015470 022701 000001 cMP #1,%0+1 ;1S REMAINDER = 1
1)y 015474 001403 BEQ .+10
3) 015476 004767 001412 JSR PC,S$HLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
1) :WRONG REMAINDER
3) 015502 000414 414
1) 015506 021527 000301 CMP (RS) #301
1) 015510 001403 BEQ +10 ;IF IN WRONG SEQUENCE GO TO THE HLT
3) 015512 004767 001376 . SR PC SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
3) JTEST IS IN WRONG SEQUENCE
3) 015516 000415 415
}; 015520 005215 INC (RS)

1612 -ntttttttttttt--tttt-tantt-tttttnn-ttttntnntttnttttnnt-tnt-tntnnn'-.
1 STEST:302 DIlv 0 52525 7/ -(3) = 25252 REM - 1 PS - 0

"tt.tt"tttt.'t'ﬁtttttt'tt'ttt.t.'t.ttt'tttttttttiitttt'ttttt'.t'tttt

P P N i T e e e T T N N N ¥ B e e e I e W T N —~ —~ —~

)
1
1) 015522 010701 TST302: SCOPE
1) 015526 012700 000C00 MoV 40,20 sLOAD HIGH ORDER WITH 0
1) 015530 012701 052525 MoV #52525,%0+1 ;LOAD LOW ORDER WITH 52525
1) 015534 071043 DIV -(3).%0 :DIVIDE BY -(3)
1) 015536 " MFPS @A4PSWORD JSAVE PS
?; 015536 106737 .WORD  106700!..C
1) 015542 122737 000000 000432 CMPB #0,a”PSWORD JISPS =0
1V 015550 001403 BEQ +10
3) 015552 004767 001336 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINt
3) JPS IS WRONG
?; 015556 000416 416
1) 015560 022700 025252 cMP 025252 %0 ;1S QUOTIENT = 25252
1) 015564 001403 BEQ 10
3) 015566 004767 001322 JSR PC $HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
3) ;QUOTIENT 1S WRONG
?; 015572 000417 617
1) 015574 022701 000001 (mpP #1,%0+1 ;1S REMAINDER = 1
1) 015600 001403 BEQ .+10
3) 015602 004767 001306 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
3) :WRONG REMAINDER
3) 015606 000420 420
1) 015610 021527 000302 CMP (RS) #302
1) 015614 001403 BEQ +10 ;1F IN WRONG SEQUENCE GO TO THE HWLT
3) 015616 004767 001272 JSR PC SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
b ;TEST 1S IN WRONG SEQUENCE
}; 015622 000421 421

015624 005215 INC (R5)
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- yxABB.P11 14-56P-81 16 DIV INSTRUCTION TESTS JE0 0073
(1)
"8 IR RN AN AN AR AN N RN AN TR TR AR AN AR AT AR AR N e Ot enterrantatOTranes
‘1) 1TEST:303 DIv 0 52525 7 2(4) = 25252 REM 1 PS = 0
* "tttt'.ttttttttttttttttttttt'ttttttttttttttttttttt!!‘ttttttlttttttttt
(') 015626 010701 1ST303: SCOPE
1) 015630 012700 000000 MOV #0,%0 ;LOAD HIGH ORDER WITH 0
(1) 015634 012701 052525 MOV #58525,%0+1 *LOAD LOW ORDER WITH 52525
(1) 015640 0710664 000002 DIV 206).%0 :DIVIDE BY 2(4)
(1Y 015644 MFPS a#PSWORD :SAVE PS
($> 015644 106737 .WORD  106700'..C
1)
(1) 015650 122737 000000 000432 (MPB #0,3#PSWORD ;IS PS =0
(1) 015656 001403 BEQ .+10
(3) 015660 004767 001230 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HWALT ROUTINE
(3) ‘PS IS WRONG
5;; 015666 000422 422
(1) 015666 022700 025252 (MP #25252.%0 ;1S QUOTIENT = 25252
(1) 015672 001403 BEQ .+10
(3) 015674 004767 001214 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) “QUOTIENT IS WRONG
ff) 015700 000423 423
]
(1) 015702 022701 000001 CMP #1,%041 ;1S REMAINDER = 1
(1) 015706 001403 BEQ .+10
(3) 015710 004767 001200 JSR PC,SHLT SSEEN AN ERROR, GO TO TH.HALT ROUTINE
(3) *WRONG REMAINDER
(3) 015714 000424 424
() 015716 021527 000303 CMP (RS) . #303
1) 015722 001403 BEQ .+10 ;IF IN WRONG SEQUENCE GO TO THE HLT
(3) 015724 004767 001164 JSR PC.SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) STEST IS IN WRONG SEQUENCE
(3) 015730 000425 425
5}; 015732 005215 INC (RS)

151‘. "l’ttt'tttttttttttlttttttiittttlttttttttttlttttt'tt'tttttttttttttttttt
(1) STEST:304 DIV 0 52525 / @(4) = 25252 REM - 1 PS - 0
(1) ,'ltttli'ttwtttttttttttttitttttlttl'ttttttl’ttttttttttttttttttttttttttt'
(1)

(1) 015734 010701 TST304: SCOPE

(1) 015736 012700 000000 MOV #0,%0 :LOAD HIGH ORDER WITH 0

(1) 015742 012701 052525 MOV #50525,%0+1 *LOAD LOW ORDER WITH 52525

(1) 815746 071074 000000 DIV 3(4),16 ‘DIVIDE BY a(4)

1) 16752 MFPS s#PSWORD ;SAVE PS

fff 015752 106737 .WORD  106700'..C

(1) 015756 122737 000000 000432 (MPB  #0,3#PSWORD SIS PS - 0

(1) 015764 001403 BEQ .+10

(3) 015766 004767 001122 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ‘PS IS WRONG

(3; 015772 000426 426

(

(1) 015774 022700 025252 CMP #25252.%0 ;1S QUOTIENT = 25252

(1) 016000 001403 BEQ .+10

(%) 016002 004767 001106 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
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" VKABB.P1! 14-SEP-81 16:31 DIV INSTRUCTION TESTS
3 :QUOTIENT IS WRONG
f?; 016006 000427 627
(1) 016010 022701 000001 (MP #1,%30+7 ;1S REMAINDER - 1
(1) 016014 001403 B8EQ .+10
(3) 016016 004767 001072 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(%) ;WRONG REMAINDER
(3) 016022 000430 430
(1) 016024 021527 000304 (MP (RS),#304
(1) 016030 001403 BEQ .+10 ;IF IN WRONG SEQUENCE GO TO THE HWLT
(3, 016032 004767 001056 . JSR PC,SHLT JSEEN AN ERROR, GG TO TH HALT ROUTINE
(3) JTEST IS IN WRONG SEQUENCE
(3) 016036 000431 43
(}; 016040 005215 INC (R5)
(

1515 _-ttttttttttttttttt.ttttttttt'ttt'ttt'ttlttttttt'tttltttttttlttlt.l.tt
nm :TEST:305 DIV 0 52525 / @(4)+ = 25252 REM = 1 PS - 0
(1) .'tttttttttttttttlttt'Qtttttttttttttt"tttttttt'tttQ'ttttttt'tt"tttt'
(n
(1) (16042 010701 T1ST305: SCOPE
(1) 016044 012700 000000 MOV #0,%0 :LOAD HIGH ORDER WITH 0
(1) 016050 012701 052525 MoV #52525,%0+1 :LOAD LOW ORDER WITH 52525
(1) 016054 071034 DIV 9(4)+,%0 ;DIVIDE BY a(4)+
(1) 016056 MFPS a#PSWORD ;SAVE PS
($; 016056 106737 .WORD  106700'..C
(

(1) 016062 122737 000000 000432 (MPB #0, a#PSWORD ;ISPS =0

(1) 016070 001403 BEQ .+10

(3) 016072 004767 001016 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3 ;PS IS WRONG

g?g 016076 000432 432

(1) 016100 022700 025252 CMP #25252,%0 ;1S QUOTIENT = 25252

(1) 016104 001403 BEQ .+10

(3) 016106 004767 001002 JSR PC.SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ;QUOTIENT IS WRONG

g;; 016112 000433 433

(1) 016114 022701 000001 CMP #2041 ;1S REMAINDER = 1

(1) 016120 001403 BEQ .+10

(3) 016122 004767 000766 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(%) ;WRONG REMAINDER

(3) 016126 000434 434

(1) 016130 021527 000305 (MP (RS) ,#305

(1) 016134 001403 BEQ .+10 :IF IN WRONG SEQUENCE GO TO THE HLT
(3) 016136 004767 000752 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
(3 STEST IS IN WRONG SEQUENCE

(3) 016142 000435 435

5}; 016144 005215 INC (RS)

1516 ;nnttttttttttttntttttttntttttontttntt-ttnttnnntt-nnnnnnttntn-'n----.-
n sTEST:306 Dlv 0 52525 / @=-(4) = 25252 REM - 1 PS - O
(1) ;lttttttttttttt'ttttttttttttttttttttttQttt'ttnt'tnnttnntntt"'nnnnt't
(1
(1) 016146 010701 1ST306: SCOPE
(1) 016150 012700 000000 MOV #0,%0 :LOAD HIGH ORDER WITH 0
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(1) 0161546 012701 052525 MOV #52525,%0+1 :LOAD LOW ORDER WITH 52525
(1) 016160 071056 DIV a-(4).40 *DIVIDE BY a=(4)
(1) 016162 MFPS a#PSWORD ;SAVE PS
<$; 016162 106737 .WORD  106700'..¢
(1) 016166 122737 000000 000432 CMPB  #0,a#PSWORD SIS PS = 0
(1) 016174 001403 BEQ .+10
(3) 016176 004767 000712 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) *PS IS WRONG
ff; 016202 000436 436
(1) 016206 022700 025252 CMP #25252.,%0 ;1S QUOTIENT = 25252
(1) 016210 001403 BEQ 410
(3) 016212 004767 000676 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ;QUOTIENT [S WRONG
f?f 016216 000437 437
(1) 016226 022701 000001 CMP #1,%0+1 ;1S REMAINDER = 1
(1) 016224 001403 BEQ .+10
(3) 016226 004767 000662 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) *WRONG REMAINDER
(3) 016232 000440 440
(1) 01623¢ 021527 000306 CMP (RS) ,#306
(1) 016240 001403 BEQ .+10 :IF IN WRONG SEQUENCE GO TO THE HLT
(3) 016242 004767 000646 JSR PCLSHLT “SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ;TEST IS IN WRONG SEQUENCE
(3) 016246 000441 441
g}; 016250 005215 INC (RS)

1520 ":ttttttt.tttttttt.ttt'i't‘lttl’.tttiiittttttttttttttttttiitttttttt
1) ;TEST:307 TEST THAT EIS ABORTS PROPERLY WHEN INTERUPTED
(2) ;;lttt!tttttttttttttttttttitttttttitittttttittttttttttttttttttttt
(@D
(1) 016252 132737 000040 000421 T1ST307: BITB #60,INSENVM ;IF TYPE QUTS HAS BEEN SUPPRESSED
(1Y 016260 00110C BNE EASH+?2 ;THEN SKIP THIS TEST
(1) 016262 013702 000502 MOV aN#TTYOUT,R2
(1) 016266 012722 016340 MOV #RTA307,(R2)+ :SET INTERUPT VECTOR TO RTA307
(1) 016272 012712 000340 MOV #340, (R2) “AND THE INTERUPT PSW AS 340
(1) 016276 MTPS  #0
(2) 016276 106427 JWORD  106400'..C
(1) 016302 012737 000030 000434 MOV #30,aNTEMPI :PREPARE TO EXECUTE THIS SUB TEST 30 TIMES
(1) 016310 005004 CLR R%
(1) 016312 112777 000015 162164 MOVB  #15,a$TPB :0UT PUT A “CR"
(1) 016320 112777 000100 162160 MmovB  #100.asTPs “ENABLE TTY INTERUPT
(1) 016326 052704 000001 RTASH: BIS #1._Ré *PLACE A 1 IN Ré&
(1) 016332 072427 000020 ASHA:  ASH #16. R4 “SHIFT R4 FOR 16 TIMES
(1) 016336 000773 B8R RTASH :STAY IN THE LOOP UNTIL INTERUPTED
(1) 016340 105077 162142 RTA307: CLRB  a$TPS “CLEAR TTY INTERUPT
(1) 016344 022716 016332 CMP AASHA, (SP) ;1S THE RETURN ADDRESS = ASHA
(1) 016350 001415 BEQ 48 :1F SO THEN G0 T0 48
(1) 016352 012777 000015 162124 18: MOV #15,38TPB *OTHERWISE OUT PUT A '‘CR
(1) 016360 105777 162122 2% ISTB  a$TPS *LOOP HERE UNTIL DONE COMES ON
(1) 016364 100375 BPL 28 ,
(1) 016366 012777 000015 162110 MOV #15,a$TPB :0UT PUT ANOTHER ''CR''
(1) 016374 012777 000100 162104 MOV #100,38TPS "ENABLE TTY INTERUPT
(1) 016402 000002 RTI
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(1) 016404 020427 000001 4%: cMp RG 41 ;CHECK R4 TO CONTAIN PROPER DATA
(1) 016410 001403 BEQ 63
(3) 016412 004767 000676 JSR PC,SHLT JSEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ;R4 WAS CHANGED DURING THE EXECUTION OF
(3) 016616 000442 462
(1) ;THE INSTRUCTION
(1) 016420 032766 000360 000002 6%: BIT #360,2(SP) ;CHECK THE PSW BEFORE INTERUPT
(1) 016426 001406 BEQ 8%
(3) 016630 004767 000460 JSR PC,$HLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
(3) ;PSW IS WRONG
(3) 016434 000443 443
(1) 0166436 042766 000020 000002 BI( #20,2(SP) sCLEAR THE T-BIT IF IT IS SE»
(1) 016444 005337 000636 8%: DEC AN TEMPI
(1) 016450 001340 BNE 1% ;IF THE SUB TEST HAS BEEN EXECUTED 30 TIMES
(}) sTHEN GO TO THE END OF THE TEST
(1
(1) 016452 010277 162026 MoV R2,aTTYOUT JRESTORE TTY INTERUPT VECTOR
(1) 016456 005012 CLR (R2)
(1) 016460 022626 EASH: CMP (SP)+,(SP)+ JRESTORE THE STACK POINTER
(1) 016462 021527 000307 CMP (RS) ,#307 ;CHECK THE TEST NUMBER
(1) 016466 001403 BEQ .+10
(3) 016470 004767 000620 JSR PC,SHLT JSEEN AN ERROR, GO TO TH HALT ROUTINE
(3) JTEST IS IN WRONG SEQUENCE
(3) 016474 000444 Lbé4
(1) 016476 005215 INC (R5)

1521 IR AN AR A AN R AR R AN AR RN RN AN AR A AN AN R AR AN AN RN R AR R AR
§)) STEST:310 TEST THAT EIS ABORTS PROPERLY WHEN INTERUPTED
(2) KRR AR AN AN RANA AR R R R R AR AR AR AR AR A AR AR AR AR AR AR NRR TN S
(1)
(1) 014500 132737 000040 000421 TST310: BITB #40 ,3¥SENVM ;1F TYPE QUTS HAS BEEN SUPPRESSED
(1) 016506 001116 BNE EMUL +2 ;THEN SKIP THIS TEST
(1) 016510 013702 000502 Mov a#TTYOUT,R2
(1) 016514 012722 016572 MOV #RTA310,(R2)+  ;SET INTERUPT VECTOR TO RTA310
(1) 016520 012712 000340 Mov #340, (R2) ;AND THE INTERUPT PSW AS 340
(1) 016524 MTPS #10
(2) 016524 106427 .WORD  106400!..C
(1) 016530 012737 000030 000434 MoV #30,34TEMPT ;PREPARE TO EXECUTE THIS SuB TEST 30 TIMES
(1) 016536 012704 077777 MoV #77777 R4 ;PLACE THE MULTIPLIER IN R4
(1) 016542 012700 177777 MOV #-1.RO ;AND THE MULTIPLICAND IN RO
(1) 016546 012701 100001 Mov  #100001,R1 AND THE LOWER PART OF THE RESULT IN R1
(1) 016552 112777 000015 161724 MOv8B #15,38TPB ;0UT PUT A 'CR"
(1) 016560 112777 000100 161720 MOovB #100,3$TPS JENABLE TTY INTERUPT
(1) 016566 070004 RTMUL: MUL R4 ,RO JMULTIPLY RO BY R4
(1) 016570 000776 BR RTMUL :STAY IN THE LOOP UNTIL INTERUPTED
(1) 016572 105077 161710 RTA310: CLRB a$TPS ;CLEAR TTY INTERUPT
(1) 016576 022716 016566 CMP #RTMUL, (SP) ;1S THE RETURN ADDRESS - RTMUL
(1) 016602 001415 BEQ 48 ;1F SO THEN GO TO 4%
(1) 016604 012777 000015 161672 18: MoV #15,a8TPB ;OTHERWISE OUT PUT A "'CR
(1) 016612 105777 161670 2%: TST8 as$TPS ;LOOP HERE UNTIL DONE COMES ON
(1) 016616 100375 BPL 23 .
(1) 016620 012777 000015 161656 MoV #15,38TPB ;OUT PUT ANOTHER '‘CR"’
(1) 016626 012777 000100 161652 Mov #100,a8TPS ;ENABLE TTY INTERUPT
(1) 016634 000002 RTI
(1) 016636 020427 077777 4%: cmp R4 ,A77777 ;CHECK R4 TO CONTAIN PROPER DATA
(1) 016642 001403 BEQ 6%
() 016644 004767 000244 JSR PC,SHLT JSEEN AN ERROR, GO TO TH HALT ROUTINE
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(3 ;R4 WAS (HANGED DURING THE EXECUTION OF
3) 016650 000445 445
1 ;THE INSTRUCTION
1) 016652 020027 177777 6$:  (MP  RO,4-1 “CHECK RO TO CONTAIN PROPER DATA
1) 016656 001403 BEQ 88
3) 016660 004767 000230 JSR PC,SHLT JSEEN AN ERROR, GO TO TH HALT ROUTINE
3 “RO CONTAINS WRONG VALUE
3) 016664 000446 446
1 016666 020127 100001 8%: (MP R1,4100001 ;CHECK R1 FOR THE PROPER DATA
1) 016672 001403 BEa  10¢
3) 016674 004767 000214 JSR “CLSHLT JSEEN AN ERROR, GO TO TH HALT ROUTINE
3 JR1 CONTAINS WRONG VALUE
016700 000447 447
016702 032766 000360 000002 108:  BIT  #360,2(SP) :CHECK THE PSW BEFORE INTERUPT
016710 001406 BEQ 128
016712 004767 000176 JSR PC,SHLT :SEEN AN ERROR, GO TO TH HALT ROUTINE
;PSW IS WRONG
016716 000450 450
016720 042766 000020 000002 BIC #20,2(SP) ;CLEAR THE T-BIT [IF [T IS SET
016726 005337 000434 128:  DEC  QWTEMPI
016732 001324 BNE 18 ;IF THE SUB TEST HAS BEEN EXECUTED 30 TIMES
;THEN GO TO THE END OF THE TEST
016734 010277 161542 MoV R2,aTTYOUT JRESTORE TTY INTERUPT VECTOR
016740 005012 (LR (RD)
016742 022626 EMUL: C(MP  (SP)+,(SP)+  :RESTORE THE STACK POINTER
016744 021527 000310 (MP (RS) 4310 :CHECK THE TEST NUMBER
016750 001403 BEQ  .+10
016752 004767 000136 JSR PC,SHLT ;SEEN AN ERROR, GO TO TH HALT ROUTINE
JTEST IS IN WRONG SEQUENCE
016756 000451 451
016760 005215 INC (RS

.SBTTL END OF PASS ROUTINE

':".Qﬁ'ttt""ﬁ'.ttti'ii'tt'ttttttt'tttttttltttttt'ttttttttttttt

;*INCREMENT THE PASS NUMBER ($PASS)

;*TYPE ''END PASS''

;«IF THERES A MONITOR GO TO IT

;«IF THERE ISN'T JUMP TO BEGIN

;«IF IT 1S DESIRED r0 HAVE A BELL INDICATE THE "END OF PASS'' LOCATION
;*$SENDMG CAN BE CHANGED TO 7.

—
. N T S o e N P TN A o P AT ST S e N N N PN PN PN e PN e N e P o P i N e o P o~ P o

G ed e e e A D e L D AN BN A NININ R R e S NN =
Vvvv\r\,vvvv\,vv\«\«\.\/V\-—vvvvf\)vvvvvvvvvvvvvvvvvvvvvvvvvvvvvvv\/

016762 $EOP:

016762 010701 SCOPE

016764 005267 161416 INC $PASS ;o INCREMENT THE PASS NUMBER
016770 042767 100060 161410 BI( #100000,8PASS  ;.DON'T ALLOW A NEG. NUMBER
016776 005327 DEC (PC)+ ..LOOP?

017000 000001 $EOPCT: .WORD 1

017002 003017 8GT $DOAGN ;S YES

017004 012737 MoV (POY+,a(PCy+ ;;RESTORE COUNTER

017006 000001 $ENDCT: .WORD 1

017010 017000 $EOPCT

017012 000004 017051 TYPE . SENDMG ;s TYPE "END PASS"

017016 000004 017046 TYPE . SENULL ;s TYPE A NULL CHARACTER
017022 013700 000042 $GET42: MOV a#42 RO ;;GET MONITOR ADDRESS
017026 001405 BEQ $DOAGN ;;BRANCH IF NO MONITOR
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(VKABB.P11 14-SEP-81 16:31 END OF PASS ROUTINE SEQ 0078
1) 017030 000005 RESET ::CLEAR THE WORLD
017032 004710 $SENDAD: JSR PC, (RO) 2:GO TO MONITOR
017034 000240 NOP *YSAVE ROOM
017036 000240 NOP S:FOR
017040 000240 NOP YIACTN
017042 $DOAGN:
017042 000137 JMP 3(PC)+ : :RETURN
017044 000600 $SRTNAD: .WORD BEGIN
017046 377 377 000 SENULL: .BYTE =1,-1,0 ;:NULL CHARACTER STRING
017051 015 042612 062116 SENDMG: .ASCIZ <15><12>/END PASS7
017056 050040 051501 000123
017006 000004 ENDCT: &
::ttttttttttttttttttttttttttttttttttttttttttttttttttttttttt'ttttt
.SBTTL POWLR FAIL ROUTINE
017064 012737 017074 000024 $PWRDN: MOV #SPWRUP , a#24
017072 000000 HALT
017074 012706 000600 $PWRUP: MOV #BEGIN, SP :RESTORE THE SP
017100 012737 017064 000024 MOV #SPWRDN , 3¥24
017106 000004 000516 TYPE ,POWER :GO AND TYPE ''POWER'’
017112 000753 BR $DOAGN

HALT ROUTINE

PROGRAM COMES HERE ON ENCOUNTERING ANY ERROR

WA AT ATVEA W NN DA A T AN DA N A MDA T AT AN N NN NN NN NN NV AWV o o
NNNNNYNOOCOOTOOOO N NNNVINWNWVINWNE B B B B NI NI N NN — b 2 s a2
NO WS WNAL = OOV NO N NN = O NPV AN = OO0 S NN = O D00 O NS WNIDIN~ v s e v v v v
Wy Ny Ny N, N, 6,
» B B2 N BB

it D e o b b d e D D md o D d d e e =D d —d D D ) —d d e D e b o d ) D D d b h d ) b b e —d b

017114 017637 000000 000602 S$HLT: MOV (SP) ,a#SFATAL ;PLACE THE ERROR NUMBER AT LOCATION SFATAL
017122 032737 020000 000422 BIT #20000,a#3SWREG ;HAS THE OPERATOR ASKED TO SUPRESS ERROR TYPE OUTS
017130 001046 BNE 6%
017132 000004 000510 TYPE SCRLF ;GO AND TYPE A (R, LF, FOLLOWED BY 3 SPACES
017136 010046 MoV RO,~(SP) ;SAVE RO
017140 112767 000002 161303 mMovs #2,8TPCNT JALLOW TYPE OQUTS OF PC AND ERROR NUMBER
017146 016600 000002 Mov 2(SP) ,RO ;BRING THE RETURN PC IN RO
017152 162700 000004 SUB #4 RO
017156 112737 000006 000450 2%: MOvB #6,aNTYPCNT ;ALLOW TYPE QUT OF 6 DIGITS
0172164 005046 CLR -(SP)
017166 000241 4%: Le
0172170 006100 ROL RO
017172 006116 ROL (SP) ;BRING THE C BIT FROM RO IN (SP)
017174 052716 000060 BIS #60, (SP) ;PREPARE TO TYPE IT OUT
017200 004767 000130 JSR PC,$TPCHR JAND GO TO OUT PUT A CHARACTER
017204 005016 CLR (SP)
017206 006100 ROL RO
017210 006116 ROL (SP)
017212 006100 ROL RO
017214 006116 ROL (SP)
017216 105367 161226 DE(CB TYPCNT JHAS ALL THE SIX CHARACTERS BEEN TYPED ?
77 017222 001361 BNE 4% ;1F NOT THEN REPEAT FROM 4$
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1578 017224 005726 IST  “(SP)+ ,RESTORE STACK POINTER
1579 017226 017600 000002 MOV 32(SP) .RO PREPARE TO OUT PUT THE ERROR NUMBER
1580 017232 000004 000512 TYPE  ,S$CRLF+2 *GO AND TYPE 3 SPACES
1581 017236 105367 161207 DECB  $TPCNT IF BOTH PC AND ERROR NUMBER HAS NOT BEEN
1582 017242 001345 BNE 28 *REPORTED THEN REPEAT FROM 2§
1583 017244 012600 MOV (SP)+,RO RESTORE RO
1584 017246 105767 161146 68: TSTB  SENV *IF WE ARE NOT UNDER APT. THEN GO TO
1585 017252 001403 BEQ 8s ;88
1586 017254 025237 000400 INC SASMSGTY *OTHERWISE INFORM APT. ABOUT SEEING THE ERROR
1587 017060 000777 BR . :AND LOOP
1588 017262 005737 000422 8s: TST S4SSWREG IS IT REQUIRED TO HALT ON ERRCR °
1589 017266 100001 BPL 108 *IF NOT THEN GO TO 108
1590 017270 000000 HALT
1591 017272 062716 000002 10$:  ADD #2,(SP) :ADJUST THE RETURN ADDRESS
1392 017276 000207 RTS PC AND RETURN
1597 * TYPE OUT ROUTINE
1598 D
1599 .
1600 i
1601 P THIS ROUTINE IS USED TO TYPE ASCIZ MESSAGES
1603
1604 017300 010046 STYPE: MOV RO.-(SP) ; SAVE RO
1605 017302 017600 000002 MOV 82(SP) ,RO *GET THE ADDRESS OF THE ASSCIZ STRING
1606 017306 112046 28: MOVB  (RO)+,-(SP) *PUSH THE CHARACTER TO BE TYPED ONTO STACK
1607 017310 001005 BNE 4$ :BRANCH IF IT IS NOT THE TEMMINATOR
1608 017312 005726 TST (SP)+
1609 017314 012600 MOV (SP)+,R0 ;OTHERWISE RESTORE THE STACK AND RO
1610 017316 062716 000002 38: ADD #2.(SP) *ADJUST THE RETURN P(
1611 017322 000002 RTI :AND RETURN
1613 017324 004767 000004 4$: JSR PC,$TPCHR ;60 TO TYPE A CHARACTER
1614 017330 005726 TST (SP)+ *RESTORE THE STACK POINTER
}g}; 017332 000765 BR 2% :AND RETURN TO 28
1617 017334 132737 000040 000421 $TPCHR: BITB  #40,3¥SENVM ;HAS THE CONSOLE OUTPUTS BEEN SUPPRESSED?
1618 017342 001006 BNE 48 *IF SO THEN RETURN FROM THE SUBROUTINE VIA 4$
1619 017344 105777 161136 28: TSTB  a$TPS 1S THE PRINTER AVAILABLE?
1620 017350 100375 8PL 28 *IF _NOT THEN LOOP HERE
1621 017352 116677 000002 161124 MOVB  2(SP),asTPB 10UT PUT THE CHARACTER
1622 017360 000207 4$: RTS pC
1623 000001 .END
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A - 017064 15254 1530

ABASE = 000000 3€q

ACDW1 = 000000 364

ACDW2 = 0C0000 364

ACPUOP= 000000 364

ADDWO = 000000 364

ADDW1 = 000000 364

ADDW10= 000000 364

ADDW11= 000000 364

ADDW12= 000000 364

ADDW13= 000C0C 364

ADDW14= 000000 364

ADDW15= 000000 364

ADDW2 = 000000 364

ADDW3 = 000000 364

ADDW4 = 000000 364

ADDWS = 000000 364

ADDW6 = 000000 364

ADDW7 = 000000 364

ADDWS = 000000 364

ADDW9 = 000000 364

ADEVCT= 000000 364

ADEVM = 000000 364

AENV = 000000 364

AENVM = 000000 364

AFATAL= 000000 364

AMADR1= 000000 364

AMADR2= 000000 764

AMADR3= 000000 364

AMADR4 = 000000 364

AMAMS 1= 000000 364

AMAMS 2= 000000 364

AMAMS3= 000000 364

AMAMS4 = 000000 364

AMSGAD= 000000 364

AMSGLG= 000000 364

AMSGTY= 000000 364

AMTYP1= 000000 364

AMTYP2= 000000 364

AMTYP3= 000000 364

AMTYP4= 000000 364

APASS = 000000 366

APRIOR= 000000 364

ASHA 016332 15204

ASWREG= 000000 364

ATESTN= 000000 364

AUNIT = 000000 364

AUSWR = 000000 364

AVECT1= 000000 364

AVECTZ2= 000000 364

BEGIN 000600 722 7264 729 1522 1541

COUNT 000430 3694 370 727+ 784w 788 820+ 824 855+ 859 890+ 894 926+ 931
963+ 967 1077« 1106+ 1115 1149« 1157 1192+« 1200

puMMy = 000000 3wkt 1315 1316 1317 1318 1319 1320 1321

EASH 016460 15204

EMUL 016742 15214
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ENDCT 017006 1528#

ENT176 005030 1302 13094

ENTST 002422 1040 10444

ERRNM = 000452 3654 7834 7874 8194 8234 8544 8564 8894 8934 9254 9294 9624 9664
10464 1052¢ 10534 10544 10554 10564 10574 10584 10594 10604 10614 11054 11094
11134 1117¢  1148¢ 11524 11564 11594 11914 11954 11994  1202¢ 15114 13154 13164
13174 13184 13194 13204 13214 13224  1328% 13294 13304 13314 13324 13334  1334#
13354 13364 13374 164654 1446K 14478 144BN  1449K 1450 14518 14528 14538 14544
14554 14564 14574  1458% 14594 14604 14614 16628 14674 1468 14694 14708 146714
14720 14738 146748 14758 1476 14864 14874 14884 14894 14904 14914 14924 14934
14944 14954 14964 14974 14984 14994 15004 15014 15024 15074 15084 15094 15104
15114 15124 15134 15144 15154 15164 15204 15214

f = 000063 34,64 10524 10534 10544 10554 10564 10574 10584 10594 10604 10614

N - 90031 3474 13154 13164 13174 13184 13194 13204 13214 13224 13284 13294 13304 13314
13320 13334 13344 13354 13364 13374 14458 14468 146478 14648 14498 14650 14514
14528 14530 14544 14554 1456M 14578 1458H 14594 14604 14614 146628 14674 14684
14694 14704 14714 14728 14738 147644 14754 14764 14864 14874 14884 14894 14904
14914 14924 14934 14964 14954 14964 14974 14984 14994 15004 15014 15024 15074

“084 15094 15104 15114 15124 15134 1516k 15154 15164 15204 15214

NEGAT 002022 800 835 870 905 942 978 9824

POWCR 000516 4014 1543

PSWORD 000432 3714 372 777+ 781 813+ 817 848+ 852 883+ 887 919+ 923 956+
960 1052« 1053~ 1054+ 1055+ 1056+« 1057« 1058+« 1059+ 1060+ 1061+ 1099« 1103
1142« 1146 1185+ 1189 1315« 1316+ 1317+ 1318+« 1319+« 1320+ 1321+ 1322+ 1328+ )
1329« 1330+« 1331+ 1332« 1333« 1334« 1335« 1336+ 1337+ 1445+v  1446% 14647+ 1448e
1449+  1450% 1451+« 1452+« 14653« 14654« 1455« 1456+ 1457+ 14658+ 14659+ 1660+ 1461+
1662* 1467+ 1468+ 1469+« 1470  1471x 14672« 1473« 1474+ 1475+ 1476+ 1486 1487+
1488~ 1489+ 1490+ 1491« 1492« 1493« 1494« 1495+ 1496+ 1497« 1498+ 1699« 1500+
1501« 1502+ 1507+ 1508+ 1509+ 1510+ 1511« 1512« 1513+ 1514+ 1515+« 1516+

REGOT 003444 10854 1215

REG] 001042 799 8024

REG2 001204 834 8374

REG23 003646 1126 11294

REG3 001346 869 8724

REGS 001506 904 9074

REG4S 004044 1168 11714

REGS 001652 941 944n

RESTRT 000222 7224

RITSH 004252 1127 1169 1213 12164

RTASH_ 016326 15204

RTA307 016340 15204

RTA310 016572 15214

RTMUL 016566 15214

SCOPE = 010701 3504 1445 1446 1447 1448 1449 1450 1651 14652 1453 1554 1455 1456
1457 1458 1459 1460 1461 1462 1467 1468 1469 1470 1471 1472 1473
1474 1475 1476 1486 1487 1488 1489 1490 1491 1692 1493 1494 1495
1496 1497 1498 1499 1500 1501 1502 1507 1508 1509 1510 151 1512
1513 1514 1515 1516 1522

SCOPE1= 010701 3514 765 792 837 862 872 897 934 944 971 1052 1053 1054
1055 1056 1057 1058 1059 1069 1061 1129 17 1315 1316 1317 1318
%%;3 1320 1321 1322 1328 1329 1330 130 1332 1333 1334 1335 1336

~ SCOPE3= 010703 3524 802 827 907 1085

START 000700 7654 981 985

Sw09 = 001000 3534

sw10 = 002000 3544
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(vkABB.P1! 14-SEP-81 16:31 CROSS REFERENCE TABLE =-- USER SYMBOLS EQ 0082
Sw1l = 004000 3554

swi2 = 010000 3564

SO 000452 3854

s1 000454 3864 387 1050 1054 1325 1328 1330

S10 000476 3954 1505 1508

S 000500 3964

S2 000456 3874 1051 1053 1326 1329

53 000460 3884

S4 000462 3894

S5 000464 3904 391 1464 1467 1469

56 000466 3914 1465 1468

S? 000470 3924

S8 000472 3934

S9 000474 394 395 1504 1507 1509

TEMPT 000434 3734 374 743 766 803 838 §73 908 946 982+ 988+ 1003« } .

0
}028' 10641« 1078« 1087 1130 1173 1217« 1225« 1239« 1247+ 1254 1259« P4
754 376 7464 769 773 796 806 809 831« 841 844 866+ 8

296+ 1303+  1520% 1521+

TEMP2 000436 3
879 901+ 912 915 938+ 949 952 975« 983« 989+« 995« 999« 1004+
1011+« 1016+ 1022+ 1029+ 1035+ 1079« 1088 1131 1174 1218+ 1266+ 1273+ 1284+
1289+ 1297+« 1304+

TEMP3 000440 3774 378 745+ 785 797+« 821 832« 856 867« 891 902+ 927 939+
964 976« 984+ 990« 1005+ 1012+« 1017+ 1023« 1030« 1036+ 1080+ 1092 1095
1121+« 1135 1138 1163« 1178 11817 1207+ 1219« 1231« 1235+ 1240+« 1260 1267+
1278+« 1285+« 1290« 1305+

TEMP4 000442 379 380 746 781 817 852 887 923 960 991+« 1006+ 1018« 1024+
1031+ 1037+ 1042+« 1081+ 1107  1124» 1150 1166+ 1193 1210«  1220* 1226+ 1241+
128+ 1274x 1279+« 1291+  1306¢

TEMPS 000444 AL 1082+ 1110 1123« 1753 1165+ 1196  1209*  1221% 1242+ 1249+ 1255+ 1268+

* *

TEMPS 000446 3824 1083+ 1103 1146 1189 1227+ 1243« 1250« 1261+ 1269+ 1280= 1299+ 1307+

TST160 004306 112 1170 1214 12234

TST161 004334 1226 12294

15T162 004352 1230 12334

157163 004370 123 12374

TST164 004432 1238 12454

1ST165 004470 1246 12524

15T166 004514 1253 12574

1ST167 004544 1258 12634

1ST170 004602 1264 12714

1ST171 004626 1272 12764

1ST172 006654 1277 12824

1ST173 004676 1283 12874

1ST176 004734 1288 12944

1ST175 004770 1295 13014

1ST176 005046 1315

1ST177 005142 13164

1ST200 005236 13174

157201 005336 13184

151202 005432 1319#

157203 005526 13204

151204 005626 13214

1571205 005722 13220

1ST206 006046 13284

151207 006150 13294

151210 006252 13300
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TST301 015416 1511#

151302 015522 15124

1ST30 015626 15134

151304 015734 15144

1ST305 016042 15154

1ST306 016146 15164

1ST307 016252 1520#

1S1310 016500 15214

1s137 002050 801 836 871 906 943 980 9864

1ST40 002104 987 993

T1ST41 002120 994 9974

TST42 002136 998 10014

1S143 002172 1002 1008#

1ST44 002224 1009 10144

1ST45 002256 1015 1020#

1ST46 002310 1021 10264

15147 002346 1027 10334

TSTSO 002276 1034 10394

TSTS1 002454 1052#

1S152 002534 10534

TST153 002614 10544

1ST54 002674 10554

TSTSS 002752 10564

1ST96 003030 1057#

1ST57 003106 1058#

1ST60 003166 1059#

1ST61 003246 10604

TST62 003324 1061#

TTYOUT 000502 3974  1520%  1521»

TYPCNT 000450 3834  1564x 1576+

TYPE = 000004 3574 1522 1543 1559 1580

$APTHD 000430 3664 368

$CPUOP 000426 3644

$CRLF 000510 +00# 1559 1580

$DEVCT 000410 3644 718

$DDAGN 01702 1522# 1544

$ENDAD 017032 342 15224

$SENDCT 017006 15224 1526

$SENDMG 017051 1522#

$ENULL 017046 1522#

S$ENV 000420 3644 737 1584

SENVM 000421 364K 1520 1521 1617

$EOP 016762 15224

$EOPCT 017000 1522#

$eETABL 000420 364

SETEND 000430 364 366

SFATAL 000402 3644 1556+

$GET42 017022 1522#

$HD = 000003 325

$HIBTS 000430 3664

$HL T 017114 783 787 819 823 854 858 889 893 925 929 962 966 1046
1052 1053 1054 1055 1056 1057 1058 1059 1060 1061 1105 1109 1173
1117 1148 1152 1156 1159 1191 1195 1199 1202 1311 1315 1316 1317
1318 1319 1320 1321 1322 1328 1329 1330 1331 1332 1333 1334 1335
1336 1337 1445 1646 1447 1448 1449 1450 1451 1452 1453 1454 1455
1456 1457 1458 1459 1460 1461 1462 1467 1468 1469 1470 1471 1472
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C.x.BB.FY’ Ta=3EP=-81 1€:31 CROSS REFERENCE TABLE -~ USER SYMBOLS SEQ 0085
16473 1474 1475 1476 1488 1 1490 1491 | 1492 1493
1495 1496 1497 1498 1501 1 1507 1508 1509 1510
i512 1513 1514 1515 1521 1
SMAIL  0C0400 3644 366 720
$MBADR 000432 3664
$M3GAD 000414 3644
$MSGLG 000416 3644
$MSGTY 000400 3644 1586+
$PASS 000406 3644 767 804 839 947 1133 1176
SPASTM 000436 3664
SPWRON 017064 717 15384 1542
$PWRUP 017074 1538 15414
SRINAD 017044 “5224
- $SETUP= 000020 4034 1522
$STUP = 177777 4034
$SVPC = 001000 3424
$SWR = 160000 3254 1522
$SWREG 000422 3644 1557 1588
$TESTN 000404 3644 726
- $TN_ = 000001 3254
$7PB 000504 398¢ 1520« 1521+« 1621«
$TPCHR 017334 1570 1613 16174
$STPCNT 000451 3844 1561+ 1581«
$TPS 000506 3994 739 1520« 1521«
$TSTM 000434 3664
$TYPE 017300 361 16044
SUNIT 000412 3644
SUNITM 000440 3664
SUSWR 000424 3644
$$GET4= 000000 15224
. - 017362 3324 339 3424 3604 3634 3664 3684 3704 3724 374n 3764 378# 3804
7164 7244 7334 7774 782 786 8134 818 822 8484 853 857 883#
888 892 9194 924 928 9564 961 965 1045 10524 10534 10544 10554
10564 10574  1058# 10594 10604 10614 10994 1104 1108 11 1116 11426 1147
1151 1154 1158 11854 1190 1194 1197 1201 1310 13154 13164 13174 13184
13194 13204 13214 13224 13284 13294 13304 13314 13324 13334 13344 13354 13364
13374 146458 146464 144678 14468H 14498 14508 14518 146528 14538 1454k 14558 14564
14574 14588 14594 14604 14614 14624  1467K 1468 14694 14704 1471k 14728 14734
14744 14754 164764 14864 14874 14884 14894 14904 14914 14928 14934 1496k 14954
14964 14974 14984 14994 15004 15014 15024 15074 15084 15094 15104 15114 1512«
15134 15164 15154 15164 15204 15214 1522 1525 15264 15304 1587
.$x - 000430 3664
..A 016524 7334 774 8134 8484 8834 9194 9564 10524 10534 10544 10554 10564 10574
10584 10594 10604 10614 10994 11424 11854 13154 13164 13774 13184 13194  1320#
13214 13224 13284 13294 13304 13314 13324 13334 13344 13354 13364 13374 14454
14464 14478 14468 146494 16508 14514 14524 14534 14544 14558 1456 14578 1458#
14594 14604 14614 146620 14678 14688 14698 14704 14714 14724 14738 14748 14754
14764 14864 14874 1464884 14894 14904 14914 14924 14938 14694k 14954 146964 14974
14984 14994 15004 15014 15024 15074 15084 15094 15104 15114 15124 15134  1514»
15154 15164 15204 15214
..B -~ 016530 7334 7774 8134 8484 8834 9194 9564 10524 10534 10544 10554 10564 10574
10584 10594 10604 10614 10994 11424 11854 13154 13164 13174 13184 13194  1320#
13210 13224 13284 13294 13304 13314 13324 13334 13344 13354 13364 13378 14458
14460 144674 146488 146498 14504 14514 14524 14534 1454 14558 14564 14578 14584
14594 14604 16614 164628 14674 14684 14698 14704 14718 14728 14738 14748 14758
14764 14864 14874 14884 14894 14904 14914 14924 149384 14948 1495 14964 1497
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14,984 14994 15004 15014 15024 15074 15084 15094 15104 15114 15124 15134 15144
15154 15164 15204 15214

0ngee” 7334 7774 8134 848# 8834 9194 9564 10524 10534 10544 10554 10564 10574
10584 10594 10604 10614 10994 11424 11854 13154 13164 13174 13184 13194 13204
13214 13224 13284 13294 13304 13314 13324 13334 13344 13354 13364 13374 14454
16668 14478 1464684 16494 14504 14514 14524 14S3H 14548 455H 14568 14574 14584
14594 14608 16614 16620 14678 14688 14698 14704 14714 14728 14738 14748 1475
16768 14864 14874 14884 14894 14904 14914 14924 14934 14948 14954 14964 14974
1498% 14994 15004 15014 15024 15074 15084 15094 15104 15114 15124 15134 15144
15154 15164 15204 15214

. ABS. 017362 000

ERRORS DETECTED: O

CVKABB, (VKABB/CRF : SYM/NL : TOC=SYSMAC. SML/ML ,CVKABB.P11
RUN-TIME: 10 11 .8 SECONDS

RUN-TIME RAT]O: 83/23=3.5

CORE USED: 15K (30 PAGES)



	0000_fiche=1,x=00,y=00
	0001_fiche=1,x=00,y=01
	0002_fiche=1,x=00,y=02
	0003_fiche=1,x=00,y=03
	0004_fiche=1,x=00,y=04
	0005_fiche=1,x=00,y=05
	0006_fiche=1,x=00,y=06
	0007_fiche=1,x=00,y=07
	0008_fiche=1,x=00,y=08
	0009_fiche=1,x=00,y=09
	0010_fiche=1,x=00,y=10
	0011_fiche=1,x=00,y=11
	0012_fiche=1,x=00,y=12
	0013_fiche=1,x=01,y=00
	0014_fiche=1,x=01,y=01
	0015_fiche=1,x=01,y=02
	0016_fiche=1,x=01,y=03
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	0018_fiche=1,x=01,y=05
	0019_fiche=1,x=01,y=06
	0020_fiche=1,x=01,y=07
	0021_fiche=1,x=01,y=08
	0022_fiche=1,x=01,y=09
	0023_fiche=1,x=01,y=10
	0024_fiche=1,x=01,y=11
	0025_fiche=1,x=01,y=12
	0026_fiche=1,x=02,y=00
	0027_fiche=1,x=02,y=01
	0028_fiche=1,x=02,y=02
	0029_fiche=1,x=02,y=03
	0030_fiche=1,x=02,y=04
	0031_fiche=1,x=02,y=05
	0032_fiche=1,x=02,y=06
	0033_fiche=1,x=02,y=07
	0034_fiche=1,x=02,y=08
	0035_fiche=1,x=02,y=09
	0036_fiche=1,x=02,y=10
	0037_fiche=1,x=02,y=11
	0038_fiche=1,x=02,y=12
	0039_fiche=1,x=03,y=00
	0040_fiche=1,x=03,y=01
	0041_fiche=1,x=03,y=02
	0042_fiche=1,x=03,y=03
	0043_fiche=1,x=03,y=04
	0044_fiche=1,x=03,y=05
	0045_fiche=1,x=03,y=06
	0046_fiche=1,x=03,y=07
	0047_fiche=1,x=03,y=08
	0048_fiche=1,x=03,y=09
	0049_fiche=1,x=03,y=10
	0050_fiche=1,x=03,y=11
	0051_fiche=1,x=03,y=12
	0052_fiche=1,x=04,y=00
	0053_fiche=1,x=04,y=01
	0054_fiche=1,x=04,y=02
	0055_fiche=1,x=04,y=03
	0056_fiche=1,x=04,y=04
	0057_fiche=1,x=04,y=05
	0058_fiche=1,x=04,y=06
	0059_fiche=1,x=04,y=07
	0060_fiche=1,x=04,y=08
	0061_fiche=1,x=04,y=09
	0062_fiche=1,x=04,y=10
	0063_fiche=1,x=04,y=11
	0064_fiche=1,x=04,y=12
	0065_fiche=1,x=05,y=00
	0066_fiche=1,x=05,y=01
	0067_fiche=1,x=05,y=02
	0068_fiche=1,x=05,y=03
	0069_fiche=1,x=05,y=04
	0070_fiche=1,x=05,y=05
	0071_fiche=1,x=05,y=06
	0072_fiche=1,x=05,y=07
	0073_fiche=1,x=05,y=08
	0074_fiche=1,x=05,y=09
	0075_fiche=1,x=05,y=10
	0076_fiche=1,x=05,y=11
	0077_fiche=1,x=05,y=12
	0078_fiche=1,x=06,y=00
	0079_fiche=1,x=06,y=01
	0080_fiche=1,x=06,y=02
	0081_fiche=1,x=06,y=03
	0082_fiche=1,x=06,y=04
	0083_fiche=1,x=06,y=05
	0084_fiche=1,x=06,y=06
	0085_fiche=1,x=06,y=07

